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Uumnpdwinughn bk gnigswghn
dnuljghwiibip

Uumplwlught $mblghuwm

R

r= Uuppdwlivgpl pnilijghw fnsynid k
f(x)=x"
puliwslnyg ppjuo pnaliljghwb, nppkn a -l qpnjhg pwpplp nplk phy E:

Utilip yniuntiGuupptlp wunhdwlwjhl $niGlyghwbtpn thwjyl wjl nhwypnd, tpp
a=n,4wyi a=1/n,npntn »-ppGuyub phy t: dnp wpnbG Swlnp tp wjlyhuh wu-
whdwlwjhG pniGyghwbtph hwnynipyniGGephG, hGyuwhuhp GG

w) f(x)=x qdwyh pmGyghwi (a =1),

n f(x)= x? pwnwlnuwjhG $mbGyghwb (a =2):

<p2tlp Gul, np wumhdwlwhl $niyghwyh gpudhyl wnbypmd YnnpmhGwwmbb-
nh uyqpluytinny whglnn ninhn b, huly 2nypnud (0,0) ququipny wwpwpng:

§1 RGwuljpub gmghyny] wumpiwbhwht $oblghm

hGsytiu YuntuGhklp unnpl, pGwlwl gnighyny wunhdwlwjhG $niGyghwb php pwwn
hwnynipynGGtpny GdwG £ qowjhG dmGyghwyhl, Gpp 7z -p YhGwun E, L punwyniuwjhG
PpnilyghwhG tpp 7-p qnyyq L

‘Lwfu nunilGwuppblp f(x) = x" wunmhdwlwihl $nilyghwih hwnympjmGGtpt
w)G nypmy, tpp 72 -p Yl

1) Duliljghuyh npnydwb yphpnypl wilpnyg pyughb wowbgpl E D(f) = (- co,00).
pwGhnp x" donipyniGp pGuywl 7 -h nhwpnid npnpyuwd kL judwyjuwb x pyh hwdwn:

2) bnulifghwbi Yhliyp E, puGh np YhlGun 7 -h nhypmd f(—x)z(—x)" =—x" =—f(x):

3) dnilifjghwbi nibp dkh gpn £(0)=0:

4) Drulilhghwli ppuljmbi . kpp x € (0,00) b puguumlmsi bpp x € (= 0,0): duGy-
ghwjh gqnubhyG wnwehl L ippnpn pwnnpnGhpnud b

* Uyuntn L htnmwquimd Gyuwh niGhlGp $niGyghwjh qpubhyh wjl Yhwmbpp, npnlp sh6 yquwmljuwinug
ynnpnhGwwnmwihG wnwlgpGtphG: dtpohGltipu, hGswtu qhnbtlp, ny Uh pwnnpynid pGlwo sta:



5) dnilifghwb wmanid F wdpnng pjuwjhli wnwligpph jpu

6) Dnilijghwjh wmpdbpliiph pwqdnipjnilii widpnn9 pywjhli wnwbigpl
E(f)= (— oo,oo) , pwlhnp pniGyghwG pnniGnid £ judwjwyub hpuw6 wpdtp (ye R
wndtipp pnmbGYyghwl pnpmbmit x = \/; Ytwnnud):

Ltnmlwpwn' puilifghwb whuvwhdwblwhwl b L snilip dkowqniyli n1 thnppwqnijli
wpdbplikp: y ﬂ‘

Dmlyghwyh qpuphy whgbmut (0;0), (1;1), (~1;-1) y=x
Ytwntipny L wyn Yhmbpnd hwnmd £y = x ninhnp: Gpp
n=1,wj0 hwdpGyln £ wyn mnnpG: Gpp 7 > 1, $nily-
ghwjh gnudbhyn 0 < x <1 mbnwdwunid y = x niqnh L
wpughultph wnwlgph vhol L (pwGh np wjny nhiypnid
0< f(x)=x"<x), huy x=1 Ytnhg we" wyn mnnhg -1 0 1
Jtpl (wju nhypmyd’ f(x)=x" > x ): UpgnuilGhwnh
wytipg vhowGwn b qnigplpwg nilyghwh wpdbtpGtint
whytipg WhowGm t: n=2k+1

Luwlh np pnlyghw YhGm b, Gpw gpuphlyp hwdw- .1
swih L ynnpnhGuwunGtph uyqplwltinh Gunmdwdp:

‘Lllupmd yuwnytpgwo b Yhlium gmghyny wunhdwlwhl $mGYyghwjh gpuphyh ufub-
dwwnhly mbtiupp:

Ujdu plGwnytlp

flx)=x"

wunphdwGuwjhG pnmGyghwyh hwnnipynGGEnpG wyG nhwpmy, tpp 7 -p qniyq k:

1) Dnubiljgfeugh npn il yhpniypl wiipnng pughl wnwbgpl E D(f)= (= oo500):

2) bnilifghwibi qnijq E: bpnp, qnijq n-h nhypnid juiwjwuwl x-h hwdwp
f=x)=(=x)" =x" = £(x) : Dmllghwyh gpuphlp hwdwswh £ opghGunntbph wnwlg-
ph Gyuuniwdp:

3) Dmbifghwbi mibp dkl qpn £(0)=0:

4) bnilijighwbi npuwlyml k, kpp x # 0 (pwGhnp 7 -np qnuyq k): dnlGlhghwih qpudhyl
wnwohl L Gpypnpn punnpnitpnid E:

5) bnilifghwib lijugnid t (— oo;O] L wanid [0;00) dhowlpwmjplpnid:

6) Dnilijghwjh thnppuwqnijli wpdbpp 0 L, npp pnilijghwb plipnilinid £ x =0
hhpnid: Dnilijghwb dhowqnijl wpdhp snilij:

7 bnilifghwjh wpdbpliiph puqinipynilip ns puguwuwlul pykph puwqdnipynilili
I E(f)= [(),oo), pwGh np wjyG pnniGnd £ dhwyl ny pugwuwlul wpdtipltip, djniu
Ynnihg, Judwjuywl y ny pugwuwlul pyh hwdwp Snilyghwjh wpdtpl x = ’\‘/;
Ytmd y E:

4



dmiGyghuh  qpudhyl  whghnid b 4
(O; 0), (1; 1), (— 1; 1) Ytintipny L wyn Yhnbtipnid hw-
wmni £y = x2 wwpwpnp: Gpp =2, wyl hw- y=x2
upGymd Ewyn wuwpuwpnhG: Gpp 7 > 2, pnlyghw-
Jh qpudhlyn —1< x <1 wmbnuiwund ywpwpnih 1
L wpughulGtph wowlgph dhol b, hull x =1 Ytwnhg
w9 L x =—1 Yunhg dwju wuwpwpnihg Yyupl:

UnnpnhGuwnGtph ulqplGuljtinhg wpgnudtlump 1 0 1
wlyting htinwlwmb qmqplpwg pnilGlyghwjh wn- n=2k
dtpltinl wybpe vhowlmud tG: 2-pny Gyuwpnid
wwumitpjwo L qniyq gnighyny wumhdwlwjhG
Ppnilyghwjh gpuiphyh ujubiwnmply mbupp:

n

y=x

=V

Y. 2

cd Swuljughi] Gp puup

1 N0°n $mGYghw k Yngymd wunpGwGughG $niGyghw:

2 N°nG k pGuywG gmghyny wumhdwlwihG $niGyghwih npnydw G mhpnypp:

3. B pptpluwyui gnighyny wunh§wlwyhG $niGyghw6 gqniyq L Epp YhGu:

4 Npn°Gp GG pGuywl gmghsny wunhGwGwghG $niGyghwyh GowlGwwywhuywGiwb show-
Yuuyptipp:

5. bGywyb®u b6 Yuwugwd wunhGwGwyhG $niGyghwh dnGnunnlnipjw G Showlwptpp gni-
ghsh qnuyq Jud Yl (hGhmg:

6.  N°nG L wunh@wluyhG $nGhyghwyh wpdtpGhph puquinipyniGnp, bpt gnighsp” w) qnuyq k,
p) YtGu t:

7. 0°p pwnnpnGipnid £ wuwmh@wGuwihG $niGyghwih qpudbhyn, tpt gnighsp
w) qnijq k. p) Yl t:

8. YJunnigh] wumhdwlujhG $niGyghwjh qpudhyp, btpk gnighyp™ w) qniyq t,
p) YtGu t:

A Unwownpuipibip
1. “%hgnip f (x)= X% Punnuunt pytipp.

w) f(7) L £8), p F03)u £(04),
Q) f(=24) u f(-23), n) f(=55)k f(-5,4)
B f(-52)u f(52), Q 73 fB):

2. 9hgmp f(x)=x": Punnuunby pybpp.
w) FI3)u £(12), p £(0,02) u £(0,01),
@) f(=4)u f(-10), m f9.4) L f(-9.5),



w

W f73)u f(T3), Q) f=59)u f6):
<twnlywy pytipp nuuwynptip wddw fupgny:

w) (3,4), (4), (3.4). p 0,7)", (0.7, 0.7,

CFERE

4.  Yunmgh $nGlghwgh gqpuphyp b G2t dnGnnnbnipju ne GuGuuuhywiiw show-
Juyptipp:
w) f(x)=x*, P fla)=x7, @) f(x)=(x-1)",
W f(x)=(x+1)", B f()=k-1)+2, @ flx)=(+1) -8:
5. Oquytiny wumhGwluwjhG $niGyghwyh hwnmynmpiniGitphg’ qult] wihwywuwnnt-
pjwln pwjwpupnn x -tph puqunipjniln:
w) x'' >0, p) x’ <0, 9 x>0,
p x® <0, b x'? >0, Q x'>-53,
B x% <30, x> >-32, p) x> <-125:
6. Lot hwjwuwpnuip oquiytiny wunhwGuyhG $mGyghwyh hwnympjmGatphg:
w) x2 =1, p x> =3, q) x®=17°,
0 x5 =—y, ) x% = x0, Q J R
7. Lot wihwywuwpnudin’ oquytiny wuwnmh@w GwjhG $niGlghwyh hwnynpniGGtphg:
w) x? <4, p)x2>0,25, Q) x3>é:
[, YpYiincpywi hunfwp
8.  Munqtiglt) wpmwhwjymnpjniln:
3 3
w) ?—bl ’ . a?+b? ’ P x—i .
a’ b3 a’+b? x3+2x3+4

1
§2 flx)=x" Pmlijghwb b Gpu hmmllnlp]nlﬁﬁlipn

UpnkG owlnp Glp YnnnpuluwjhG gnighyny wunh@wGhG L ghnblp, np x pyp mn

n
wumhdwlp, nputin m -pb 7 -ppGwlui pytip GG, vwhiwlynd £ ny ppgwuwlub x pyh

hwiwp nputu 7 wunh§wlh wpdwn x” pyhg'

m

xn :nxm: (1)



Uydu Gpkbp f(x)= x% $nillghugh hhGulwG hunnlynipymGakpp:

1) bnilijghwjh npn)dwl phpnigpp ns puwgwuwlwb jhuwwmnwlgpl
D(f)=[0;-):

2) bnilijghwgh wpdbplikph puqgdnipjnilipn ny puguwuwlwl Jhuvwwnwligpl £
E(f )= [0;00). pwp np Gpw windtipGtipp thnpp skl 0 -hg. huly unswywlpuG y >0 wp-
dtip pnGyghwl pnGymbGmit x = y" Yhwmnud:

3) bnilifghuwb nibip skl gpn f(0)=0 L ppuwlud b, kpp x e (0,00): Dnilyghuyh
qnubhy b wnwohl pwnnpnmu k:

4) Dmulijghwli wdny b pp npnpdwli yphpnijpnol, puGh np 0 < x; < x, wlhwjuw-
uwnnipjniihg hbmlnwd £, np §/x; < % :

5) bnilijghuwyh thnppwqnijli wmpdbpp O L, npp pnilifjghwb plinnilinid ' x =0
hhpnud: Dnilijghwb dkowqniyli wpdhp snilij

DbnilGyghwjh gpuphyl whglnd k (0;0), (1;1) Ytwnmtipny L wyn yhnbtipnid hwwnnud |
y=x nmnhnp: Gpp 7 =1, wjl hwipGylnwd £ wyn ninnhd:

Gpp 7> 1, pnlyghwjh qpubhyn 0 < x <1 mbnuiwumyd y = x ninnhg ytpl k, pw-
Gh np

O<x<l=4%x>x:

bulj x =1 Ytnhg we pmblyghwjh gpuph- yA
Unyqulyh y = x L y =1 mnhnGtph dhol, pw-
Gh np ﬂ//* y ——

x>1=1<¥x<x:

Upgnuitiimph wldbtpe vhowlwnil qnig- y=1
nGpwg $niGyghwjh wpdbpltipnt wGytpg vhow-

=V

(nud GG: Lhwpnd yunypdwo b fx)= K/ o :
$niGyghwjh gpuphyh upubiwnply mbupp: s

cd Swuljuugli] Gp puup

1. 0°p pytiph hwdwp L hGswt®u £ uwhdwlynd pyh YninnpujuyhG gmghynyg wumhdwn:
N°nGt f(x)= X" pniGyghwh npnytwG whpnypp:

0°p punnpma £ £ (x) = x"" mGyghwih gpuiphiyp:

UnGnunn®G Ewpynp f(x)=x"" $mGyghwa:

N°nGt f(x)= X" pmiiyghwigh wpdtpltph puqinipymp:

6. Uwnmghy f(x)=x" pmllyghwjh qpuphyp:

A



% Unwouippuiipibip
1

9. Qhgnip f (x) =x7: Punnuuby pytpn:

w) f(15) L f(14), P 3 f54), @) fO)L £(83):
10. 9%hgmp f (x) = 1\5/; : Punnunty pytpn:
w) fFO)L £(7), m f(7.09) L f(7.0), @) f(-22)L f(-20),

n f(=32)u f(=31), b f(=23)u f(23), @ fE8) U f(6,2):
Qb $nillyghwyh npnpdwl mhpnypp (11-12):
1 1
1Lw fl)=x"  pfE)=Vx. o f@)=x )=

1
12. m)f(x)=(x£3)5, P (=337

_ 8x _ 5x-10 .
q)f(x)_s\lzxz—3x+1’ W /) V2 —5x+4

13. Qunmgty $niGyghwjh qpurbhyn:

1

w) £(x)=+x. B f(0)=x2, @) £(x)=(x=1)s,
1
W f(x)=—x*, #0) f(x)=Yx+3,  ra) flx)=Vx-8:
14. Lmot hwywuwpnidp:
1 1 1
w) x* =47, p) x6 =34, g x3 =5,
1 1 2
) x =-3, ) x =82, Q x°=103:

[ Yplyinepywi hunfwp

> 15. Uypwph ghGp pynt wiqud hwonpwpwn pupdpugnhG 10 %-ny: UpgyniGpnid puGh®
nnynuny pwpdpugwy wypwbph ghGp uyqplwluwbih hwitdiwmnnpjudp:

»16. Uynuwlph qhGp tipynt wiqud hwenpmupwp hotigphG 10 %-ny: UpnymiGpnid pwGh® win-
Ynuny howy wuypubph ghGp uyqpluluih hwibiwnnip judp:

§3. Bmgsuhl Ppmliljghwm

e Snigswypli pnilijghw nsynid t
f(x)=a
prilijghwis. npipkn a -6 1-hg ypwpphp gpulub phy L:




‘Lotlp gnigywghG $nGlyghwyh hhiGwyw b hwnympjmGatpp L junmgtlp gpubhyn:

1) Dnilijghwjp npn)dwb phpniypl hpwhwb pybph pwqdnipjnilili
D(f)= (- o0,e0):

2) bnilijghwli npuwljwb | widpnng pjujhli wnwbligph ypuw: SnGyghwjh qpuibhlya
wnwohl L tpypnpn punnpnGtpnid k:

3) bnilifjghwbi dnlinypnl I wdpnne pjuyhli wnwligph Jpw: Llin npnid, wyli wdng
E bpk a>1, L lijugny kpk 0<a<1:

4) bnilijghwjh wpdbplikph pwqdnipynilip npuwlwbl Jhuwwnwbligpl F
E(f)=(0,):

5) bniliyghwii snilip gpnlikp, dhowqnijl L thnppwqnijli wpdhplikp:

6) Dnilijghwyp qpuphlp hwpnid b opphlivplibph wnwbgpp (0, 1) Yhpnid,
pulih np a® =1:

a >1 nhiypmd pniGyghwih gpudbhyl wnweohl pwnnpnnid y =1 ninnhg ytpl k, L
ntiyh we pniliyghwyh wpdtipGtinG whiytpg dhowlnd G6: Gpypnpn punnpnnid wyl y=1

ninnp b wpughuGbiph wnwGgph dhol k L nhiwyh dwhr wlytpg Unnbtlnd £ wpughultinh
wnwgphl (GY. 4, w).

ylk yl\
a>1 0<a<l
y=a’ y=a*
1
a a
y=1 1 y=1 1
1
E a
10 1 X -1 0 1 X
w L. 4 r

0 < a < 1 niygpmy $niGyghwjh gpuphlyl wnwehl pwnnpnnud y =1 ninnh L wpughu-
(itph wnw(gph dhol E Lintiyyh we wGytpg unnblmu L wpughulGtph wnwlgphG: Gpypnpn
pwnnpnnud wyl y =1 mnnhg ytpl t, L niwh dwfu” dmblyghwyh wpdbpltpG wiytpy
ubowlnmd taG (GY. 4, p):

cd Swuljugli] Gp nwup
1. 0°n $nGyghw E Yngynud gnigswyhG $niGlyghw:

2. N0°p6t gnigswyhG $mGYghwyh npnpdw G mhpnypn:

3. 0°ppwnnpnGpmd E gnigswyhG $niGyghwyh qpuphyn:



4.
5.
6.

G°pp & gnmigswhG $niGyghw wénn L E*pp’ GJugnn:
N°nG t, gmgswyhG $niGyghwjh wpdtpGhph puqimpniGn:
Gunmgly y =3" L y=(1/3)" $mbGyghwbtph gpuphyGtipp:

% Unwiouippuiipibip

17.

18.

>19.

20.

>21.

»>22.

23.

>24.

10

Gunnighy dnilyghwjh qpubhyp b qunlby wpdtipGtph puqunipniGp:
x 1Y .
w) y=2, P)y=(§), @ y=-5",
1Y x
) y=(5)" -4, h)y=—(§) +5, qQ y=-32+1:
Qb @ -h wyG wpdbplbpp, npnGg nhiypmy f gnigswyhG $nlGyghwb wipnne pywjhl
wnwlgph Yypw’ 1) wdmd t, 2) Guqnud k:
w) f(x)=a", P S0 =(a-1),
9 f(x)=(2a+3)", D) f(x)=la|":
Q-puphynptl wupgty, pt pwGh® nomd niGh hwyjwuwpnudp:
w) 7 =5, P (01) —3=0, 9 4+(3) =0,
Pulynd npyty £ 1000000 npud wjwln wuwptud 10 % wnynuwnpnypny, pupn

wmnynup hwygunpyny (wjuhlpl jnipupwsnip mwpdw Ytipgnid mwptulyqpnid inuo
gnuiwpl wytjuGnud £ 10 %-ny):

w) Nppw®G gnuiwp YihGh wyn hwpyh ypw 1 wwph wig:

) Nppw®G GYwdmun YnuGbGw wjwlnuunniG 2 mwph wig:

q) Guntip wjwlnh gmiwph $nbGyghnbGuy yuugwompniGp mwphGtph pwGuyhg:
1) Lwh” mwph wig gnidwpp Ygpuquibgh 1450000 npwip:

Qb dnlGhghwyh wpdtipltph puquinpymbp L Whowaqniy G nt thnppwaniy G wpdbplt-
np.

w =67, D y=(01)" @) y=3"" - 1:
Q-puwbhynpbl gniyg nwy, np hwjuwuwpiwl momdat x =0
w) 5" =1-x, p) (03) =2x+1, Q) (ﬁ)_x—1=0,3x:

Upunwhw jnmpjnilp dlunhnfuty ¢ - @™ wbuph.

w) 353 .92t p) 6772 .23 q) 5°%3 ‘(0’1)2—)(’
m0s) 3w fT (T o (izs) s
{wpybtp wpunwhwjmnipju G wpdtpp npguo wwjdwGh nhiypnid:

w) 4 +47 tph 2 +27 =7,
p) 5% + 572, pt 5% +(0,2)" =3,



Q) 9X+L,hph 3)‘+l:5:
9* 3*

[ yplyincpywi hudwp
»25. Uywgnigh GniyGmpymGp:

4 4 1., . .
LU) Sin " L+ CcoS (XZI—ESIH 2(1, p) COS40€—SII'14G,=C0520€'

»26. 9t wpnwhwjnnipjul wpdbpp:
. .1 . (3m 2
w) sin| 7T — arcsin— |, p) sin| — —arccos— |,
3 2 5

3 T 1
) cos(21t —arccos— ], n) cos| = + arcsin— |:
4 2 6

§4. Bmgouhl hunjwuwpnuiGhp

Shnwnytlp wmpquqniyl gnigswyhli hwyjwuwpnidp
a* =b, (1)
npntn a >0, a #1: Lwlhnp f(x) =a" gmgswjhG $mGyghwjh wpdtpltiph puqini-
pnilp npujuG pytiph puqunipymGa6 £, nipbd G

o bpli <0, wwyw a* =b hwjwuwpnidp (niond snilip,
kph b>0, wwyw a* =b huwwuwwpnidli nilh dhwly jniond:

Lmodw( shwynipynilp pfunud £ gnigswhG $nilGlghwjh uinlnwnn jhGhnig, pwlh np vn-
GnunG $nilGyghwb sh upnn mwpptp Yentpmd pnGyniGt] dhubny G » wpdtipn:
Uyn inuonudp qultynt hwdwnp » phyp Ghipyuywglmu tlp ¢ hhipny wuwmhdwGh
wbupny’ b =a“ L hwlgmd
a*=a‘
hwjuwuwndwln, huy ytpohGhu momiGE x=c:
Ophliwly 1: Lnwotlp 2F = 416 hwywuwpmuip:
4
24—
Lwihnp 4316 =2 5 =028, w6 hwdwpdtip  2* = 2** hwjuwuwpdwdp, nph -

onmiG L x=28:
NuunwujuwlG 2,8 :
U6 nbiwypny, tpp (1) hwjwuwpiwb dk9 x-h thnjuwpbb qpjuo b thnthnfuwuG

11



wuwpniwynn wpnmwhwjnnipniQ, nontdp gulnd GG Gow6 dlny:
OphGuwl 2: Lnotlp
0,277 =125/5

hwjwuwnpnuip: Gptng wja
57(2)(278)() - 535

nbupny JunwlGwlp
2x* —8x+3,5=0

pwnwiniuwjhl hwjwuwpniip, nph wpdwwnGbnG 66" x, =0,5, x, =3,5:
Muwnuwujuw@ 0,5; 3,5:
Uwmnpl YpGGunytiGp gnigswjhl hwjwuwpnuiGph dh pwGh® wewyt hwdwju hwi-
nhwynn mbuwlGtin:
w) wjwuwpnidlibp, npnlip wuphdwbh hpdGwlwb huoplnipnibibhph oqypu-
gnpodwdp phpynid Ll wwpquaniyli gnigswjhli hwjwuwpdwl:
Oph(iwly 3: LnotGp

3

o 11
2.2 410.2"" =
4

B
hwjwuwpnuip: Uy hwiwnpdtip L

(300 4q0)
4 8
hwjwuwnpiwlp, nphg unwbnid Glp

2! =i@2x-' =2t x-1=—4 o x=-3:

16
5 x+1 4 X 3
= = =20-
[2) (5] =0

hwjwuwnpnuin: Quuithnfubny unwbnud Glp

é(éi) :&.3" = 2":1.3";

MNuunuujuwb’ -3
OphGwl 4: LnotGp

27 27
JhpohG hwyjuwuwniw tpynt Ynnitpp pwdwbing 3* -h’ JunwGulp

2) _(2)
3 3
wunpquqnt)l gnigswjhG hwjwuwpnudp, nph oGt x =3

MNuunuwujuwG 3 :
p) <wjwuwpnidlbp, npnlip wuphdwlh hpdGwlwb hwphnipynilikph oqypu-
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gnpodwdp phpinid Ll
a*+p-a+q=0 (2)

phuph hwijwuwpdwd:

JdtpohGu ¢* =7 mbnunpiwdp hwigmu t 2 + pt + ¢ =0 punwlniuwjhl hwjw-
uwpdwlp:

Oph(iwly 5: LnotGp

9" —24.37% =1

hwywuwpnudp: U6 hwiwnpdtip t

3% 4. L

32

37 =1
hwjwuwpiwlp, nphg unw Gy GGp*
3.3 -8.3"-3=0:
Lywlwlbnyg 3* =7, junwlwlp
3t* —8r—3=0
pwnwintuwjhl hwjwuwpnidp, nph wpdwwnmGbnG GG
t,=-1/3, t,=3:
dhpuwnunluiny Guiuyiwin junwlwlp
1
3F=—13"=3
3
wupquqagnt)i gnigswjhlG hwyjwuwpmubtpp, npnGghg wnwehln nuonid ynilh, pwlh np
3% >0, huly tpypnpnh wpdwwG b x=1:
Muunuwujuwb 1:
q) <wjwuwpnidlibp, npnlip wuwphdwlh hpdlGwlwl hwphnipynilibph oqypw-
gnpodwdp phpynid Ll
c+pctd +q-d¥=0 (3)
phuph hwdwukn hwdwuwpdwlb:
Lwlhnp d** >0 ponp x -tiph nhingpnud, (3) hwywuwpiw bpyne Swubpp pudw-
Gnd ¢* -h L GuGuytng (5) =, junwbwlp Gpwl hwiwpdtp

1>+ pt+qg=0
pwnwyniuwhl hwjwuwnpnuip:
Oph(iwly 6: LniotGp

9x+1 +56x _4x+1 =0
hwyjwuwnpnuip: UjG hwdwpdtp &

13



9-9"+5.3".2"-4.4" =0
hwjwuwpdiwln, nph Gpynt Ynnitipp pudwGting 4* -h" junwGulp’

2x X
3 3
12 121 =z4=0.
9(2) +5 (2) 0.

Vowlwytny (3/2)" =1, hwlgnui klp 97> + 5 — 4 = 0 punwyniuwjh hunjwuwp-
dwlp. nph wpdwwnGpG GG ¢, = -1, 7, =4/9 : dhpwnuniwny GQulwlydwip junw-

3 (-

wunpquqnt)i gnigswjhlG hwjwuwpnuiGtpp, npnlghg wnwehln nuonid ynilGh, huly tply-

Guwlp

pnpnh wpdwwnG B ox=-2:
MNuunuwufuwl —2:

cd Swuljughi] Gip puup
1. 0°p6EwupquqniyG gmgswihG hwjwuwpmdp:

2. Lwlh®momd mGh (1) hwywuwpndp, bpbw) p>0.p) b <0 :
3. byt u bl momd (2) gnigswyhG hwjwuwpmup:
4. blyyb v bl monud (3) gnigswjhl hwjwuwpnidn:

% Unwiouippuiipibip
Lniot hwjwuwnpnuip (27-28):

27. w) 2" =32, P 5° =02, @ (0.2) =5,

1Y _ 2 _16
I})(Z) =16, h)(3) =30 Q

28. w) 3" =81, p (0.2)7 =125, @ (V3) 7 =27,

1) (\/@ )2 =32, b (0,25)"" =64, @ (0,125) =242
29. Muwpgb hwjuwuwpdwl wpiwwh Guin:

w) 2 =7, p) 3° =006, 9 (02) =63, ) (09) =9:
Lot hwJwuwnpnidp (30-38):
30. w) 632 = 627, p) 54 =(0,2)°,

Q) 472 =2.8"", ) 257 = 125(\/0,_2)H:

14



31.

32.

33.

34.

35.

36.

37.

38.

w) 572 —9.5"1 =116,

1 2x+1 1 2x—1

= +5(= =138,
23] +5()
b) 5% +5% —571 =725,

w) 7°-2°1 =98,

q) 2x+3 _25)6—1 _
4x . 5x
ul) 9x—1 — 2x—l ,

5,

I}) 52X+6 — 33x+9 s
ul) 2x—1 _3x — 3x—1 _ 2x+2 ,
q) 2x+3 _7x—2 — 7x—1 +2x’
w) 102x+l3 — 2x+26 '53x

q) 8)671 .92)673 — 6x+3 ,

w) 3 —~80-3*-81=0,

MOROR
w)2* —6-(vV2) 16 =0,
q) 18% +27-2%% =143,
w) 9" +6"=2-4",

Q) 99" +5.6% =4,

B 3.2 +2.3% =13. (V6 |

p) 10-(05) =27 =64,

x—1 x+1
w(L) e (1) =
2
Q) 32— 412737 Z 567
X x-1
2 9y _3
p)(s s] "%’
X x—1
0097,
P 9.5 -3 =,
h) (0,2)3x_6 — (0’5)4x—8 .

p) 4% +9x+1 :2.4x+1 _%

W =7 =412 4 7):
p 23 =3ya0

I}) 3x+26 125x — 152x+13:

'9X7

P 49* —6-7-7=0>

) (%)ZM :8-(%)M +9:
p) 39V 43 2,
n)5-5°-24=25-(0,2)"":
p) 4.9 +12° =347,

1) 3"+“+45-6g =9.2""2,

Q75 +2.(35) -5.7° =0:

»39. Qulh) a -h wyG wpdbplbpp, npnGg nhwypmy hwwuwpnidG mGh neond:

x+1
w) (0.3) =548, p)(l) L gl2)=2

5 2a+3 l-a

[ yplyinepywi hudwp
40. TLmot wihwjwuwpmuiGtph hwiwlwpgn:

) 2x% =3x+1>0 5022 +9x-2<0 3x2—x-10>0
5x—4<0 Tx+3<0 ’ 2x+14>0



§3. Smgomihl whhwjuwuwpnuiGhp

Nupquqniyl gnigswhli wbhwijwuwpnidlibp k6
a*>b b a*<b (1)
wihwjwuwpnuiGhpp, npubn a -6 1-hg mwppbip npujwa ppy t:
‘Lwhu pGGupytbp p <0 nhwpn: Fhnblp, np ¢ JEonipniGp Juiwjwwl x pyh
hwiwp npuyu £: <tnlwpwp

= hph b< 0. wym a* >b whhuwwumpdub jnionul F (= o0,00),
hph <0, wyw a* <b whhwijwuwpnidp jnionid snilij:

LnwonudGtipp Gnyy GG G6 Gulng fuhun wihwjwuwpnudGhnh nghwypnid:

Gpp b -G npuwlw t, hwpywynp Ewjl Gepluwjwglb) ¢ hhdpny wumpdwlng p =€,
nphg htimn (1) wGhwjwuwpmdGepp unwiwl a* > a b a® < a® mbupbpp:

Glpwnptlp a >1:Lwlhnp f(x) =a" gmgswjhG $mGyghwl wmy k wipnng pyuw-
JhG wnwGgph Yypw, huly ¢ Yhnnd Gpu wpdtipp ¢ E, nipbdG x > ¢ nhwypnid YniGh-
Gwlp a* >a, huy x<c nhypmd a* <a (GY. 5, w): Lbmlwpwp

VA VA
a* a’
aC aC
a* a”
y=a y=a*
' »
0 xa>cl X X xc¢c x O 0<a<l X
w UL. 5 r

s hpka>1, wuyw
‘ w) a* >a° whhwjwuwpdwl (nionidb F x >c
p a* <a® whhuwjuwuwpdwl jniondl F x <c :

{wlgnmbnnptl, hwyyh wnGhny, np 0 < a < 1 phiypmd f(x) =a" gmgswjhG $niGyghwb
GJuqgnud £ wdpnng pyujhl wnwgph Yypw (GY. 5, p), junw Gulp’

- kpk 0<a <1, www
‘ w) a* >a‘ whhwjwuwpdwl jniond F x<c,

p) a* <a‘ whhwjwuwpdwb nionid F x >c :

16



‘LnyyG duny GG noynud Gl ywnpqugnyG ny fjuhun wihwyuwuwpndGhpp.

Spywo gnigswyhlG wlihwywuwpnuip ywpquagnty wihwjuwuwpiwb hwiqbgltint
hwdwp Yhpwnynd GG w6 depnnGhpp, npnlg owlnpuguwlp gnigswjhG hwjwuwpnii-
Gtp (notithu:

Ujuwntin fuplnp k Gy, np wGhwjwuwpdwG bpym Ynndtpp ¢ * -h pudwlbmg unwg-
Jwd wlhwjwuwpnuip hwdwpdbp t ulqpGuiuhG, pwGhnp ¢ >0 wipnng pywjhl
wnwlgph Yypw: Fhnwnpytlp ophGuybtin:

OphGuwy 1: LnotGp

wihwywuwnpnuip: UG hwiwpdtp £

(3)X‘3.(3+4.(3)2J>7

wlhwjwuwpdwln, nphg unwlnid GGp

x=3 x-3 -1
E ~2>7(:> é > E Sx-3<-1sx<?2.
4 4 4 4
Nunuuful (- ,2):
Onphiwly 2: LnwotGp
41 -9.2"2 4+32>0
wlhwjwuwpnuin: U6 hwdwnpdtip L
4-2%-36-2"+32>0
wlhwyuwuwnpdwlp, npp 2 = ¢ GuGuynuing hwGgmd k
=9 +8>0

pwnwniuwghl wihwjuuwpdwlp: GnGtnyg 12 —9¢ +8 = 0 hwjwuwpiwl wpdwn-
Gbpp' ¢, =1, ¢, =8, Jumwlwlp’

|:f§1 <:|:2)C <1 (:[XS()@XE (—W,O]U[3,°°)

t>8 2% >8 x>3

Nunwufuwl (- o0;0]U [3;00):
Ophiwly 3: LnwotiGp
25" +8-15" =32 <0

wihwywuwnpnuip: UG hwiwpdtp £
5% +8:15°-9:3* <0

17



wihwjwuwpdwbp, nph tpynt Ynnibpp pwdwGtnyg 32 -h ymGhGwip

2x X
5 5
= 8= | -9<0:
Vywwlymny (5/3)° = 7. unwbwip'

1 +8t-9<0
pwnwntuwjhG wihwjwuwnpnuip, npp hwdwnpdtip k

t=2-9
<1
hwidwwnpghl: dhpunuwniwmny Gpwlwliwln junwiwlp’
5

(g)x - )0 n {xe (meotee) (= o030]

x < .
5 < 5 x<0 :
3 3

cd Swuljughi] Gip puup

Nunnuwufuw (- o, 0]:

0 pn®Gp GG yupquqnyG gnigswyhG whwjuwuwpmdGbpp:

N°pGEt g > b wihuwjuuwpiw b momdp, tph H <0 :

N°pGt g < b wihujuuwpiwl momdp, tph H <0 :

N°pGt a* >a® wihwjwuwpiwl momdp, tpt'w) a >1, pP) 0<a<1:

nok L -

N°pGt ¢ £ a° wihwjwuwpdwl mondp, tpiw) g >1, p) 0<a<1:

A Unwownpuiipibip
Lot wGhwwuwnpnidp (41-50):

41. w) 2* <16, P) 5°>0,.2, 9 (0,2)" <125,
1Y 2) 9 1Y
-1 > s =] <=, — | < >
r})(4) > 64 )(3) y q)(3] 27
b (0,25) >16. » (V2) > 0125 p [/5) <004
x+2
2. w) (7)™ <49, M (02" <25, ) g <27,
3-5x
49 1 |2:0+3] [2x-5] .
a7 24 b :
r})(ﬁ) >33 ) 27 < 0,25, @ (0,2)* >125
>43. w) 3™ 572 <27, m(V2)7 fa)7 232,

x=7 6—x x—1 2x—1
s\ (5 .16 ANNE 5
= = < = = = -
Q)(9J (6) =45 I})( 5 (9) 731

18



>44.

>45.

46.

47.

>48.

49.

50.

>51.

2x%+3x=2
) T 1

Q) (1’5)‘5)#3\76 < 8

3x2+x-6
w) 2 > 0,25, P) ( 27"

p (0.6)77 > %, @ 81-(18)" 7 > 25

w) 3.2 5.2 >19,
9 8-(0.8)" =5-(0.8)" <75,

w) 4.6° >9-4%,
Q) 2°* —1,25-10 >0,
16

6x+2 ’

w) 97" <

Q) 1077 > 572 -SX%,

w) 2742 4355 <37 4052,
q) 356 _ 7 < 2(3x+4 +7x+3)’
w)9.3* _82.3*4+9>0,

Q) 37 -82.37" +3>0,

w) 22 4+5.6"1 > 97,

Q) 347 +2.9"" <35.67",

n) 2 -7-(0,5) <8:

p) (2,5) —4-5° <0,
1

X

>8-57":

1Y)
D) 2%*1 < 324

n 1527 <2750

p) 5510 _ 3410 5 gx+12 _ gl
03 -5 > 2(3x—3 +5x—4):
P) 4.4 —65-2" +16<0,

1) 57 +5-(0.2) " <26:

P 3-57"+04-15° 29,

n) 7.3 43.7 >58.212:

w) 5.7 +8.5 % <28 (V10 . p) 497 +49.257 2296357

>52.

»>53.

>54.

Ypljincpywii hundwp

‘Lwdwp b jwunp shwdwdwGwy nnipu biul ghnwthGyuw Gujudwnngghg: <nuwlph
niqnnipjudp dhY dwd nnuinig htinn Gwjwyp htiwn ppoytig L nnug nbyh jwuwmn:
‘Lwjuwdwwunijghg nnipu qunig nppwG dwdwGwl wig Guywyn Yhwlnhuh juuwnhG:
‘Luwdwp L jwunp shwdwdiwGuy nnipu tuwl Gujuwdwnniyghg: <nuwlphl hwjunwy
tpym dwd (nnunig htinn Guywyp htinm ppeytg L nnug nhugh jwunp: Luyuwdwwnmnyghg
mmipu quinig nppw”G dwdwlwy wig Guyuyp Yhwinhwh juwunhG:

‘Lwjun b jwunp thwdwiwlwy nnipu Gyl Gujudwnniyyghg: Gpp jwuwnmp Gujuw-
dwunnijghg htinnt kp 34, Guyuyp htin ppoytg L innuig ntiygh juunp: Lujwiwwunnijghg
h®Gs htinwynpmipjudp Guyuyp Yhwlnhwh juuwnhG:
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2
Lnquphpdwljwi nalghw

§1. Ll‘l(_l_ull‘ll‘ll&li]‘l uwhdwlnuip

‘Lwhunpy gfunid mbuwlp, np 2* = hwjwuwpnudp juiwjwlywl ngpuyud
b -h niypmd niGh dhwl wpdwwm: Opn) b -tiph hwdwp fupnn GGp gnptiy, pbnpG £ wyy
wpiwup: OppGwy tph p =8, wyw hwjwuwpiwl wpdwwmb £ x =3: buy np6 k&,
ophGuy 2" =7 hwjwuwpdwl wpdwup, wjuhlpl’ h°6G; wunh§wl whwp E pupdpug-
Gt1 2 phdp’ 7 vnwGuwint hwdwp: Uju hwpghlG yuumwufuwltint hwdwp Gpdnioynid £
«nquphpi» hwuljugnipjnilp:

'L b pi} ;nqupppi a hjuipnd, npplin o > 0. a =1, §ngjnol Euyl plip,
npny wlpp b wuiphdwl pupspuglik; a hhdpp b phfp wipuwbwgn hwdwp:

b pyhnquphpip a hhdipny GQulwlynd GG log, b (Yupnugymu b jrquiphpd a hhd-
pny b): Uy funupny log,, b phun
a*=b

hujuwuwniwl wpdwwn b, wjuhGpG’

<:‘: alog,,b =b: (1) >

Uwulwynpuyby, ytpp Gdwo 2° =7 hwjwuwpiwl momdG t x=log, 7:

<hptlp, np bl ¢ >0 U a1, wyw a* =b hwjwuwpnmdl wpiwyp sniGh, tpp
b <0, bnbh shwy wpdwp, tpp > 0 : <tplwpwp’

s log, b wpypwhwypripynilip npnpjud b wygli b dhuwgli wyl nlwypnid, kpp
‘ b>0,a>0,a=1: J

(1) pwlGwadlp Ynyymd . hpdlimluwb jnqupphpdwljmb Gnijlinipynifi: Uj6G gnyg L
nwihu, np

<:-: log, b=x < b=a": 2) >

Uju hwiwnpdtipmpjnilhg hinlnwd G6 htinbyw) hwjwuwpnipymGGatpp
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w) log, 1=0, p) log,a=1, q) log,a™ =m,
npubin m -p udwjwlwG ph E:
Gpl (nqupppih hinipp 10 E, wmwyu log,, b wpmnwhwjmnipjnilp Ypdwwn gpnid G6°
Igb . huy 10 hhdpny nquphpuGtinG wijwlnd GG pwubnppuljub nquphpdlibp:
Ophliwl 1: w) log, 81 =4, pwGhnp 81=3*,
p) log, 0,25=-2, pwGhnp 0,25=2"7,
q) 1g0,1 =—1.pwGhnp 0,1=10"":
Ophliwl 2: QnGllp log,, 128 -p:
Lowlwytlp log,, 128 = x : Qwiwdwyjl (2) hwiwpdtipnipjub
128=16":
npuntinhg' 27 =2* L x=1,75:
MNuwnwufuwb log, 128 =1,75:
OnphGwl 3: QuGtlp x-p, tpt hwynGh b, np’
w) log,x=2, p)log,(x—1)=4, q) log,, x=-2:
Oquiytiny (2) hwdwpdtipmpniGhg' JumwGwip
w) x=32=9,
p) x—1=2* npnbnhg’ x=17,
q) x=(02)" =25:
Ophiwl 4: LwpytGp 972°¢*° wpunwhwjmnipjul wpdtpp:
Oquytiny wunhdwlh hwwnynipjniGGtiphg b (1) GnyGnpyniGhg unw Gnud Glp*
g2logs5 _ 3-4logs5 _ (310g35 )—4 _54 1

cd Swuljuugli] Gp puup

1.  bGswyhup® a L b pytph hwiwp £ uwhiwGimd » pyh nquphpdp a hhdpny:
Uwhdw(tp log, b phyp:

N°nG E hhdGuywG inguphpiwyw GnyGnipymGn:

N°pGt 3* =12 hwjwuwpiwd nomdp:

Npn°Gp GG nmwuGnpuuw (nquphpdGhpp:

Npn®Gip GG wpnwhw pnmpynGatph wpdtplGtpp’ w) log, 1, p) log, a:

A ST o

BG2dwph®n b wpyynp hwjwuwpnipyniGp’ w) log, 64=3, p) log,50=2,
q) log,,5=-1:
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% Unwouippuiipibip
<uyty wpumwhwjmmpjul wpdtpp (55-58):

55. w) log, 81, p) log, 16, q) log,, 1000, n) 1g0,001:
56. w) logzi/z, p) lg@, @) log; 2535, n) log, 4947 :
J10 7
57. Lu) 52log5 12 , p) 8410g3 3 , q) 70,510g7 16 , Il) 9log38 .
1
58. w)log, 8, p) log, 27, q) log,s L, ) log,
125 6 8
59. Lmodt) hwjwuwpmup:
w) 8" =5, » (05) =3, 9107 =6, n) 2 =9:
60. QuGh x phyp, tpt
w) logg x =1, p) logs x =—1, Q) log,, x=-2,
1) log,(2x—1) =2, b) log, (x” +7) =5, Q) logys x> =4:
61. Qb wpnmwhwjnnpjul pnygjwnpbih wpdbpGhph puqinipyniGn:
2 x=2.
w) logg (x - 9), P lg(l -x’ ), q) log s EY

[, YpYiincpywi hunfwp
»62. Uwypwiph ghGp pwpépugnhG 20 %-ny, wjlnihtwmb Gnp qghGp hetigpphG 20 %-ny:
Upryni Gpmd puwGh® ninyuum] thnfuytg wunulph ghGp uygpGuyuih hwdbiwmnipjunip:

»63. Uwypwph qhGG hotgphlG 20 %-ny, wjlnihtnl Gnp ghGp pwpdpugphG 20 %-ny:
UpryniGpmd puwGh® nnyuwuny thntudtg wupuwlph ghGp uyqpGuywih hwitiwmnipjunip:

§2 Ln(}mplnlaﬁll hpdGuljub hlllmllnll’alnlﬁﬁlilln

Lnquphpt wupniGuwlnn wpmwhwjunmpjm GGatpp dlwghnfutihu juplnp nbp GG juw-
nnid htinbygjwy GniyGnipym GGhpp:

o= bwduwgywljmb a >0, a # 1 hjulph U jubwgwlub b > 0, ¢ >0 plph hwdwp.
L. log, bc =log, b +log, ¢,
II. log, g =log,b-log, c,
IIL log, b™ =mlog, b, npupky m -p judwjwljwb phy b

logcb’ kplc#1:

log, a /

Uwwgnigdw i hwiwp oquynid tlip hhdGuwyw b jnquphpiwyuwl GniyGnipyniGhg, hw-

IV. log, b =

Jwduwjl npp’
22



a®’ =b, a"% =c: (1)
Puqiuyuunybnyg wyu hwjwuwpnipnGatpp junw lGuwlp

log, b+log, ¢
a0zt — pe

nputinhg, Gwfunpn ywpwgpuwbh (2) hwdiwndbpnipjwl hwiwdw)l, httmlnd E Thwjw-
uwnnipjmln:
(1) hwjwuwpnipyniGGtphg wnwehln pwdwGtiny tpypnpnhG fumw Gulp

log, b-log,c __ 2
C

b

a

nnp hwiwnpdtp b I hwjuwuwnpnipjwn:
Uwwgmgtilp I hwjwuwpnipynilp: Oquytyny hhiGwlwl nquphpiwywi Gniy-
(inipyniGhg L wumhdwGh hwnynipyniGltphg unwlwlp

amlog“b — (alog“by" =p™",

npp hwdwnpdtip £ I hwjwuwpnipjwn:
Uwuwgnmgtlp IV GnyyGnipyniip, npG wljwlnwd GG sh hhipny inquphpihg vkl wy
hhdpny (nquiphpth whgdwb publingl: Glunmbip, np hwdwadw) G [T hwjuwuwpmpjud,

log, b

log, b-log, a=log.a =log b,
npuntinhg htimlmd £ IV pwGuwalp:

log; 40 —log, 10
2log, 4

Oquytyny II-1V GnijGnipniGGphg’ unwGulp

OphGuwly 1: Qwpytlp wpunwhwjmmpjwl wpdtpp:

1

log;40—log;10 log,4 1
E 08; T _ %8s =10g164=10g16162=%:

2log;4  log,16

Nuwnwujuw b %:
Spwo wpypwhwypnipynilip jnquphpdly o hpdpnyg GyuGuwynd t hw)ytp wyn
wnpunwhwjnnipjwl nquphpin’ ¢ hhipny:

9x°3/y?
OphGwml 2: — wpunwhwjnnipniGp nquphpublp 3 hhdpny:

Z
Oquytiny I-IIT GniyGnipym GGaphg’ JunwGuGp.

9x33y?
log, —2y =log, 9 +log, x° +log, 5w/y2 —log, 7% =
Z

=2+3log, x+%log3 y—2log; z:
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81
OphGwl 3: Lwyytlp 108, 7 wpunwhwjmnpjul wpdtpn:

Oquytiny whgiwl pwGwdalhg, wylnthtinl’ [I-11 GnyGnipym GGtphg unmw Gmd Glp.

81 1 1
log 81 _ 10g373 _log,81-log; V3 _log,3" —log;3? _ 4_5 _7
73 logy27 log, 27 log, 3° 36

1
Nuwnwujuw b 18 :

Lnquphpiwyuwl wpnwhw jnnpjmGGtp dbwhnfubihu hwdwhue oquuwljup GG thind Gub
htinlywy GniyGnipyniGGtpn.

<:': w) logapb=llogab, p log,b=log ,b". q) log, b= 1, (2)>
p

log , a

npntin g -G, »-6 npuud, huly p -G, ¢-6" Juiwjwluwl pytp GG, pn npm, g #1,
p#0,huy gt Gl b#1:

Unwohl GnyyGnipynilp htipunnipjudp wywgnigynid Ewlgiwl puGuwath U I hwwn-
Ynipjwl oqGmp junip’

p hwnynipjniGp htmbnd £ w-hg U I1I-hg, huYy @ hwnynipjnilp’ wigiwl puGwalpg:
Oph(iwl 4: QnGtlp log, b -G, ipt hwjwnGh &, np logﬁ a’b’ =5
Oquiytiny ;nquphpth hpdGuwlw hwnympmiGGephg U (2, w)-hg unwGmu GGp.

4
log, b

logﬁazbz' :2(10gba2+10gbb3):4logba+6: +6:

Lbunlwpup’ i 4

+6=35, ) =—4:
oz, b npntinhg’ log, b =—4

Nuunuwufuwb —4:

cd Swuljuigli] Bp nwup

1. bGywbu hwpyt] wpumwnpywih (nquiphpdn:

blswt®u hwpyty pwlnpnh ;nquiphpunp:

bGswt®u hw)yt] wumhdwlh nquphpip:

bGswt®u 66 dh hhdpny (nquiphpihg wlgGmd dtY wy) hhipny inquphpuh:
Qptip (2) GnyyGmpymGGtpp:

wok v
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% Unwouippuiipiitip

{wpytip wpmwhuwjmnipjwl wpdtpn (64-67):

64. w)lg25+1g4, p) log, 4+log, 9, q) 3log, 3+1log, 8,
6 6
n) logs 75 —logs 3, t) log, 54-log, 2, q) 2log, 6—1log, 9:
3 3
65. w) log, 15 +1og, 18 —log, 10, p) logg 12 —log 15 +log, 20,

@) %10g7 36 -log, 14-3log, V21, 1) 2log, 6 %mgl 400 - 4log, /45 :
5 5 5

66. w) log, 7+ 26 )+ 1ogs(71-2v6). ) log, ; (3+6)-log, 2+ 6):

67. w) logs 36 —logs 12’ ") lg8+lg18,
logs 9 Ig4+1g3
log, 24—%10;;272 10g714—%10g756
Q) n) :

10g318—%10g3 72 log 30—%105;6 150

68. Lnquphputy 10 hpdipny (a >0, b >0, ¢ >0):

1
w) 100V a’b’c , P) 0,001a*vb3c*, Q) 10%a%p2c73,

5 3
a 0,01b 7[,3
N ——5—~, B~ q O1Vb”
0,1c2\/z Vb2 3 ca?
»69. Uwuwgnigh) GniyGmpyniGp.
w) log,, b-log, c=log, c, p) log,b-log,a=1:

{wpytip wpnwhwjmnipjul wnpdtipn (70-72):

70. w) log, 7-log, 0,25, p) logs11-log,, 0,04,
q) log,4-log,, 9, 1) log,; 125-log 2 3,
) log79~logﬁ\/7, q) log,s 81-log 7125
71. w) 10172183 , ) 3logs6-2 Q) 95ltlogs2 1) Zlog8 2743 .
1 4
>72. w) 3685 4101122 _3log936’ ) 81@ +2710g936 +3@’
1
q) (5 4 300225 )57 ) (252026 4 400056 Jers
»73. Quntip log, b -G, tipt’
w) log, @b =7 p) log ~ a*\b =9 @) log, a*h® =10
a b \/E b gb b
5 wb » R0

a .
I})logab—4=6, h)logﬁT q)]ogba_szs,



»74. 0°p x-tph hwiwp Ehwjuwuwpnipynilp §dwphwn (a >0, a #1).
w) log, x* =2log, x. p) log, x> = 2log, (- x),
q) log, x> =2log, | x|, 1) log, x* =3log, x:
75. 9hgnip (bn )—n ¢ hwjnwpupny tplpuswihwlub ypngptivhw t (b, >0 ),
a,=lgb,, n=12,...:
w) Qubp a, —a,, a,—ay, a,, —a,, muppipmpjmGatpn:
p) Qwbp a,,, —a, mupptipnpjnilp, npntin 7 =1,2,...:
q) Uyuwgmgtip, np (a,) hwonpnujulnipjnilp pyupwiwlul ypngptuhw E: Gntip
wynwpngptiuhwh wwpptpnipynGp:
[ Yplyinepywi hunfwp
»76.Q-utp G2Jwd wpmwhwjmmpjwl wpdtpp, npntn x, -p b x, -p npguwo hwjwuwpdwG

wnpiwwnGtpG ta.

w) 2x% —7x+2=0, 4x+4x;, p)3x* —6x—2=0, x}+x;—x-x7,
3x,  3x

Q) x> —4x-3=0, —L+2:
Xy oIl

§3. Lnqupphpiuljui $nbhghu

Lnquphpdwliuwbi pnilifjghw Ynsynid k
f(x)=log, x

a
X

pwliwslin ppjuo pnilijghwbi, npypkn a -6 1-hg pwpplp npuljub phy E:

“L2tilp inquphpiwuw b $niGlyghwyh hhuGuyw b hwnynipjniGGatpn:

1) dnulihghwgh npnpdwli pphpniypp ppwlpub Jhuwwnwbligpl b D( f ): (0,00):

2) bnilijghwgh mpdbplibph puwqidnipjnilii widpnne pjuwjhli wnwmbgpl F
E(f )= (o0y0):

bpnp, judwjwyuwb y wpdtp $niGyghw pymbmd & x = ¢’ Yhumd, pwlh np
log, a” = y: dmlyghwjh gpubhyl wnwohl L snppnpn punnpmGhpnud E:

3) dnulifghwbi dnlinipnli E hp npnydwili phpnypnid: Llin npnid, wyli wang b, bpk
a>1 U lijugny bph 0<a<1:
Uuyugmgtilp, np ¢ > 1 giypmd judwjuwlwl x; b x, ngpuiul pytiph hwiwn x, < x,
wihwjwuwnpnipjniihg htmnlnd t, np

log, x, <log, x, : (1)
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Glpunpblp hwijwnwln x, < x,, pwjg
log, x, 2log, x, : (2)
{wpyh wnbtny, np y = ¢* pmGyghwl ¢ > 1 niyypmy wénn £, junwGwlp
alog“ X > alog“ Xy
wihwywuwpnipjnilp, npuntinhg, hhiGuyuwl nquphpiwyuwb Gnyylnipjwl hwiwawG,
htimlmu k, np
X 2 X,

Uw hwuund © x; < x, wyuydwGhl, htmbwpwn' (2)-p ufuwy £, wyuhlpG dhpwn &
(D-p:

‘Ldwb duny, oquytny vkyhg thnpp hhdpny gnigswjhG $nbGyghwyh Gwgnn 1hGk-
1nig, juuyuwgmgtilip, np 0 < a < 1 nhiypnud (nquphpiwful pnilGyghw Guann L:

4) dnilifghwl 0 wpdbpl plnpnilinid b x =1 [hpnid:

Ujumntinhg L pniGyghwyh dnGnunnlinipyniihg htinblmd .

5)w) a >1 phypnid pnilijghwb pugwuwlmb t (0,1) L ppuljub (1,0) dhow-

hwypbpnid,
p) 0<a <1 phypnid prublihghwb npulpub b (0,1) L puwguwuwluwl (1,00) dp-
swljwjphpnid:
Lnquphpiwwi $nilGyghwyh inunwynp gpubhyp yquumtpwo t 6-pn Gupnid:
v A VA
y=log, x y=log, x
1 1
1
a » »
0 1 a X 0| al 1 X
-1 1
a>1 0<a<l
w LY. 6 )i

Ophiwml 1: QunGtGp f(x)=log; (x2 —-5x+ 4) $niGyghwyh npnpviw G mhpniyypp:
Lwbh np nquphpdwyuwl pniGlhghwyh npnpvw b mhpnyppnpuyw pytiph puqineg-
JniGG t, niunp f(x) niGyghwyh npnpdwG whpnypn YhGh
x> =5x+4>0
wlhwjwuwpiwlp pwjwpwpnn x-tph pwuquinipiniln: Lnwobtmnyg wju wihwjwuwnpnudp,
unwlnud GGp” D(f) = (oo, 1)U (4,0) :
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OphGwl 2: PunpuuntGp 4log,,3 L 3log,, 4 pytipp:
Lnqunppup I hhdGuyw b hwnynipjniGhg htimlnwd E, np

4log,,3=1log,, 3" =log,,81. 3log,,4=1log,,4’ =log,, 64:
Lwlhnp 0,7 <1.mptdl y =log,; x nquphpiwluwl pnilyghwh Gfwugnn k: wp-
yh wnlhny, np 81> 64 , unwlinid tlp
log,, 81 <log,, 64,
wjuhlpl’
4log,,3<3log,, 4

Ophliwl 3: QunGhlp f(x)=1log, (\/; +3) $mGyghwjh wpdbplbph puqinipniGp
L thnppwaqntjG wpdtipp:

DbnlGyghwjh npnpvwl mhpnypp [ ) dhowuwypl k, nphG yuwwumlwling Judwjwlwl
x-h hwdwnp’ Jx+323: Lwbh np nquphpdh hhdpp dko k dkyhg, mpbdd’

F(x) =log,(\x +3) >log,3=1:

Ltunlwpwp’ pniGlghwih thnppugniG wipdtpp 1 &, npp $mlGyghw pGymlmy t x =0
Ytinnui: UpdtipGhph pwqunipyniGp YhGh [1, oo) vhowlwjpn, pwlh np (nquphpiwmwly
wpunwhwjnnipynilp Yupnn t (hGty 3 -hg uEd udwjwlyw phy:
cd Swuljughi] Gip puup
1. 0°n $niGyghwG t Ynggmd inquphpiwyub dniGlyghw:
N°nG tnquphpdwuwG $nGyghwih npnydw G mhpnypn:
N°nG & nquphpdwwG $niGyghwjh wpdtpGhph puqunipymbn:
0°p punnpnGbpnud Enquiphpiwljut pmGyghwih gpudhip:
&°np E inqupppdwuG $mGhyghwb wénn L E°pp’ Gugnn:
Npn°Gp GG inquphpiwywb $niGyghwyh GrulGwwywhwyuwiiwb showljuwyptpn:
bGunnigly y=log,x L y= logo’5 X pnGyghwbtinh qpubhybtipp:
A Unwouppuiipibip
77. Qutip $niGyghwjh npnpiwl wmhpmpp.

N kWD

w) y=log;(5x=6), p) y=log,s(4-2x), ) y=log;(x>-7),
2x+5

n y=lg(x’-2x+1), b y=log,

-3
=log, X "2
2 Dy =logy 7

78. Pwnnuutp pytpn.
w) log, 7 L log, 5, p) 1g0,7 L 1g0,71, )10g16hlogl 4,

) logy, 3 L0, ) log, 3 L0, @ logf2h1
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79.

Mupgtip n1Gyghwjh wann fuy Guqgnn (hGbn.
w) f(x)=logs, x, B) f(x)=logg, x> @) f(x)=lgx:

80. Mupgtp, pti a -h n°p wpdtpGhiph nhwpmd £ pniGyghwb wénn L npnlg nhuypmy” GJw-
qnn:
w) f(x)=log, x, p f(x)=log,, x, q) f(x)=log, , x:
81. Npnotip wpunwhwymmpjub Gyuip:
wilogs(3+1).  m1el17-4). 0 log),099. ) log,, LOI:
»82. Quntip pmGyghwjh GruwlwuyuwhuyuwGiwb showljuwpbpn:
w) y=log,(x—-2), p y=log,,(2x-3), Q) y:lg(x2—3):
83. YQuwnmgbp $mGyghwjh quudbhyn:
w) y=log,(x-4),  p) y=log,s(x+3), q) y=log, x+2:
»84. Qutip $mGYghwjh wndtipGtph puquinipymbnp L thnppugniyG wpdbpn:
w y=log,(x+4),  my=logy,(I-x>), @) y=lg(x1+0,):
»85. Qutip $mGYghwjh wndtpGhph puquinipymbp L howaqniyG wpdbpn:
w) y =log,, (\/; +5), p) y=log, (6—x2 ), Q) y=lg(lo-1x1):
»86. Q.untip wpmwhwjnnipjul pnyjwwnpth wpdtpGhph puqinmpmGp:
w) log_,(5-x), p) log, .(3x+9), q) log (x> =2x),
) log, (16—x7), b) log, 27x_+x8 , Q) log _, S)Cx;-l-zl :
[ Yplyineywi hunfwp
»87. Uwwgmgtp, np'
w)sinﬁz—“z_‘/i p)cosﬂzﬂ Q) th:x/E—l-
8 2 12 4 8 '

§zl. anwp]lplimllwﬁ hwjwuwpnuiGhp

Qhwnwpytlp wwpqugnijl jnquphpdwljub hwijwuwpnidp

log, x=0b, (1

nputn g -G 1-hg mwpptp npuwwa phy t: bGswbu ghntGp, wjlG hwdwpdbp

ah=x

hwjwuwnpdwlp, wyuplpG (1) hwjwuwpiwb (nondl B x = a’:

Gpt (1) hwjwuwpdwG dk9 x-h thnfuwptl qpywo £ thnthnfuwwl wwpniGuwyng

npuk wpnwhwjnnipniG, hwjwuwpnudp nuoynmd E GdwG duny:

OphGuwl 1: TnotGp hwjwuwpnidp.
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log,(x* =7x+21)=2: ()
Uju hwjwuwpnuip hwdiwpdtp &
x7—Tx+21=3
pwnuwyniuwjhl hwjwuwpdwp, nph wpiwwnGbp6 GG x, =3, x, =4:
Nuunwufuwb 3;4:
Lnqupphpdwlul hwjuwuwpnuiGbp niotijhu hwdwfu £ oquugnpoynid hnbguyg
wnnmun.

- kpk a -6 1-hg puupplp ppuljul ppf E L u>0, v > 0. wuyw
log, u=log, v 3)
hwijwuwpnipynilip hwidwpdbp I yu =v hwijwuwpnipjulbip:

bpnp, hhiGwlwl nquphpiwluwb GnyyGnipjul hwdwaw)l, (3)-hg htimlmd k, np
u=a"%" =g"%" =y: Uymu Ynnihg wyGhwjwn £, np ngpuljwi pytph nhiypms u = v
hwywuwpmpjmGhg htnlmyd & (3)-n:

OphGwl 2: TmobkGp hujwuwpnidp.
logs (x* +3x) =logs (x+3): 4)

Jujuwuwpiwl OUR-G wjl x-tph puquinipyniGa6 t, npnGp pwdwpuwpmd GG
x+3>0
(5)

2 +3x>0

hwdwluwpghl: Uynpuhuh x-tph hwdwn (4) hwjwuwpnudp hwdwpdtp &

X’ +3x=x+3 (6)
hwwuwpdwbp, npp wpdwnlbpnl 66 x=-3 L x=1: Unmqbmny hwinqymd tlp, np
x =-3 wpdwuwp sh pwjupwpmu (5) hwdwwnghl, huy x =1 wpdwwmp pujuwpupnid
E: ‘Lhwwunblp, np hwiwdw)G (6) hwjwuwnpnipjwl, pujwlu E unnighp hwdwwpgh
wihwjwuwpnuiGtinhg Wkhnp (wytiih wwpgp):

Nuwnwujuwb 1:
Gpb inqupppiwul hwjwuwnpdwl we b dwfu dwubtpnp dhllny G hhipny nquiphpu-
Gtpph gnudwnGtp (mwppbpnipymGGtp) GG, wyw w6 pipgnd £ (2) juyd (4) mbuph hw-
JuuwpiwG tpypnpn yupuwgpupnd pipdud -IFhwnynipyniGGaph oqlnip junip:
Mtuwnp k (o, np (nquphpth - hwnynipjmGGatipp GnyGuluwb dlwhnfunipjmGGatp
sb6, pwGh np Gpuwlg we L dwfu dwubtph pniyjjwwmpbih wpdtipGtph pwqunipyniGGtpp
wmwnpptip G6: Lywlwynd £ upduo nquphpiwyul hwjwuwnnidG wyn hwnynipjniG-
Gtph oqlnipjuwip wwnqbglbtihu unwlnud Glip hwywuwpnid, npp mpjwd hwjwuwp-
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dwl htmlwGpl t, pwjg Yupnn L hwdwpdtp sihGh) GpwG: UjuhlpG vnwgyuo
wpiwwbbph vt Yuwpnn GG 1hGh; wyGwhuhp, npnlp sG6 pwjwpwpmd ulqpwlwb
hwjwuwpdwln:

Ltnlwpuwp’ G2ud hwnynpjniGGaph Yhpundwdp yupgtggwo hwjwuwnpdw wp-
dwwnGtpp qunGbnig htinn wlihpuwdbyyp E upnigly, np hwjuwuwnpdw G wpdwnGipp yun-
JuGtl mpjuwo hwjwuwpdwb OULR-hG:

OphGwly 3: Lot hwjwuwpmdip.
log, (x+1)+log,(x+3)=3:
Lwjuwuwpdwb EUL-Gwyl x-tph puqdnpymGa b, npnGg hwdwp x+1>0 L x+3>0:
Unwhuh x-tiph hwdiwp hwjwuwpnuip hwdwnpdtip E
log,(x+1)(x+3)=3
hwjwuwpdwln, npuntinhg
(x+D(x+3)=8:
Lnoting wju pwnwiniuwjhl hwjuwuwpnudp unwlnd tlp™ x, = -5, x, =1: Unmqb-
ny hwinqynud tlp, np wnwohl wpdwwun sh ywwuluwlnd uljgpluub hwjwuwnpdwb
EUL-hG, huy bpyponpnn ywunyw lnud E:
Nunwujuwl 1:
OphGiwl 4: Lniotg hwjuwuwpnidp.
log; x* +8log, x—12=0:

Jwywuwpiwl EUL-G wjG npuwywl x-tph puquimpniGa t, npnlGg hwdiwn

log, x*=2 log, x : Mump npJwd hwujuwuwpnuip hwiwpdtp &
4log3 x+8log; x—12=0
hwqwuwpdiwbp, npp 4 -nY Ypdwwntinig htimn ¢ =logy x GywlGwyniiny ptpynud &
htinlyw) pwnwiniuwjhl hwjwuwpdwlp®
t*+2t-3=0:

JdtipghGhu wpdwwnGbnG GG 4 =-3, £, =1 : Lmotny log, x =-3 L log, x =1 hwjwuw-

_ 1
pouiGhpp wnwlmd bGp x; =3 S — , X, =3

27 1

qlulululu]uulﬁ\ 37 .

lg x+5 15431
X & =107,

{wyjwuwpdw ULR-p (0,) showluwjph &, npntin hwjwuwpiw6 we L dwlu dwubpp
nnuui GG: <Enmlwpwn' nqupppubiny hwjwuwpdw6 we b dwfu dwutipp 10 hhdpny,
Juunwlwbp npjuwohl hwiwpdtp htimbyw hwjwuwpnudp’
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(Igx+5)lgx=15+3lgx:

Lowlwybny 7 =Igx L nuotiny unmwgywod punwniuwjhG hwjwuwpnidp’ unwGnid
Lilp' lgx =—5 Yud Igx =3, npntinhg” x =10 Jud x=1000:

cd Swuljuighi] Bp nwup

1.
2.

Nuwunwufuw 107°; 1000

N°nG £ wuwnpqugniyG inguphpiwuw 6 hwyjuwuwndw G nomudn:
bGswyt®u GG mond (nquphpiwul hwujuwuwpmibbpp, npnlGg we L dwhu dwubpp
dhllnyyG hhipny jnquphpubtinh gnudwnGtn Ga:

&"np upnn b6 unwgyt YnniGuh wpdwwnbbp nqupppdwluwl hwguwuwpmip mot-
1hu:

A Unwownpuiipibip

Lniot) hwjwuwnnudn (88-100):

88.

89.

90.

91.

92.

»>93.

>94.

95.

32

w) log,(3x—-29)=2, p) lgCx-7)=-1,

q) log,,(8x—-23)=0, 1) log,,(5x+10)=-2:

w) log, (x> —2x+19)=3, p) log,(7x* +8x+2)=0,

a) log, (x* +7x+3)=—4, W) log, (3x” +4x-4)+2=0:
w) 10g33(x—1) =log,5+log;2, o)) lg(24x—5) =21g3+1,

q) log (x+4)=3logs2+1ogs3, n) logl(Sx—7)+1:210gl 6:
w) log,(5x+3)=log,(7x+5), ) log:(6x—1) =10g7(4x-i5-9),

a) log ;5 (x+ D =1gBx* +9x+1). 1) lg(x* +2x-7)* =2lg(x—1):
w) log,(x+1) +log,(x+3)=1, p) logy(x +1) +logy(x—1)=0,
q) 2log, (x—5)+log 5 (x+2)=6, 1) 3lg(x—V3)+Ig(x++3)’ =0:
w) loglx+210gl(x+8)=10g1(2x—1)—2,

1)) log;(x -3)+ lgg8 X+ logo,53(2x -5=1,

Q) 210g25(2x+5)—10g0,2(x—1)zlogﬁ(4x—5):

1 6 1 2
—+ :1’ + :1’
" 1g10x Tlax+5 M5 lgr—1)  1g10(x—1)
1 1 5 1
+ =1, — =1:
) log,16x 1-log, x » 1g100x log,, x+6
w) log3 x—2log; x—3=0, p) lg”(x—1)-21lg(x—1)+1=0,
q) 3log; x—4log, 36x+1=0, 1) 4log; x—2log, x+1=0:



>96. w) 1g(10x?)-1g(100x) =9,
3
9) log; (3x%) -log, 7~ = 20.
»97. w)log,(4x+5)-log 4=1,

@) log, 81x2 -log, Vx =3,

98' w) 34x+2 =5 , p) 102x+3 =2 , q) 45x—1 =6’

»99. w) x°=70 =81, p) =100,  q) x%T =125x7,

>100. w) 1g(3**' —2) +1g(3*"' +2) =1g5.
P (1-x)log; 2+log,(4" +2)=2:
101. Lot hwjwuwpmiGbph hwdwlwpgp:

x+y=34
™) log, x+log, y=6; P

o {1og4<x+y>=2 I}){

log; x+logy y=2+log;7;

[, YpYincpywi hunfwp

xy=2
2log, x—log, y=8;

p) Ig”(10x*) +1g(0,1x) =9,
1) log, (2x)-log, % =4:
p) log,(3x+4)-log 3=1,

3
1) log\/;;—z-logmx:%

r}) 210x—5 =7:

logy,(x+y)+2=0
logo,z(x— y)+1=0:

I}) (9x)10g3 x=2 — x3 .

»102. Uwyuwgnighy, np tpyGh pyh b Gnyy6 puGuwGibpny, puyg hwjunwly Jupgny qpjuo

pyh qmuiwpp pwdwlynd k11 -h:

»103. Uywgmghy, np pGwlw pyh pwnwyniuh 5 -h pwdwbbihu sh jupnn unwgyty’
w) 2 dGwgnpn, p) 3 dGwgnpn;:

§5. Lnqupppduljut wGhujwumpnuiGhp

Shunwnytlp wwpqugnijl jnqupppdwlul whhwjwuwpnidlibpp

log,x>b L log,x<b.

npnbin a -6 1-hg mwpptp ngpuwl phy t:
Uyqpnd nhnwpytilp httmlywy ophGuyn:

Ophliwl 1: Lnottp log, x> 3 wihujw-
uwpnuip:

SGhwntilp, np f(x) =log, x nquphpiw-
Yut pneiyghwl npnyquo t (0;e0) Thowlju)-
pnid: UjG wénn £ L pGnnilGnd £ 3 wpdbpp
x=2"=8 Ytumyd log,8=3 (Gy. 7):

o)

yA
log,x
3
y:logzx
(0] /1 8 x X
Ul. 7
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<tnlwpwp'
log, x>3 < log, x>log,8 = x>8:
MNuunwufuwb’ (8;):
Ujdd pGGwpytiGp pnhwnp nhwpp: <hptilip, np f(x) =log, x mquphpiwlwi
$niGyghwl npnpgwo t (0;00) Yhowlwjpnid, pln npmud, wjG wénn k, tpk a >1 L GJw-
gqnn k., pti 0<a <1:9%w GuGuymd k, np’

e hphk a>1, wyw
log, u>log, v u>v>0,
hpl 0<a<1, wmwyw
log,u>log,v & 0<u<v:

Ujuyhuny dhllnyG hhdpny nquphpiltph wihwjwuwpnipyniGhg Gpulg wpgnt-
utGunGtph wGhwjwuwpmpjuG6 wiglbhu’

w) I-hg dko hpdph nhypnid wlhwjwuwpnipjub Gruwbp sh thnjunid,

p) I-hg thnpp hpdph nhypnid wlhwijwuwpnipjwb Gywbp )poynid k:

Gy hwjwnuwyp. npujul winuiGipny wihwjwuwpiwb Gpynt Ywubipp upbh k
nqunpphpity dthllnyG hhdpny, pln npnud, wihwjwuwpnipyju Gpwn sh thnfuynuy, tiph
hhdpn dbo L dtyhg L 2poynid E, tipt hhdipp thonpp & dtlhg:

dhpununlwny (1) wihwjuwuupmuiltphl® Gyuwntip, np npwlp Junpbih
Gtplyuwjwglty htmbgwy Yepw

b

log, x>log,a” U log, x<log, a’:

U;dd, hwpyh wnGtny, np ¢” >0, igpuijugGnud Lhp, np Gudwjwlwb » pyh hudwp,

- kpl a>1, wmyw
log, x>b=x>a’,
log, x<bes0<x<a’
hpl 0<a<1. wmwuw’
log, x>b=0<x<a’
log, x<bex>a’ /

{wligniGnpbG GG noynud Gl ywpqugneyG nguphpiwwl ng fjuhun wihwjwuwpnul-
Gbpn:

Ophliwly 2: log, s x 22 wihwywuwpiwl monuiG k' 0 < x<0,25.huy log,s x <2
wihwjwuwnpdwlp x > 0,25:

U6 nwyptipnud, tpp (1) wGhwjwuwpniGipmy x -h hnfuwptG gqpduo Ethnthnfuw-
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Jul ywpniGwynn nput wpmwhwjmmpnil, neonwip gnimd GG Giw6 duny:
OphGwl 3: LnotiGp wihwywuwpmip.

log, 2x+3)=-2:
5

Luwlh np ;nquphpip hhdpp thnpp k dtlhg, wihwjwuwpnidp hwdwpdtp
2x+3>0

Y2
<L
2x+3_(5)

hwdwlwpghG, npp moémdG B —1,5< x <11:
Nuunuupwb (-1,511]:
Uptilp, np (nquiphpdGtph oqGnipjudp Yupbih £ mobk) ¢® >b Jud a* <b wnbuph
Jquiwjwlwl yquwpquant) gnigswjhl wihwjwuwpnid, npp neoty Gap dhwyG w6 nbiy-
pbipmuy, tipp b -G yupnnugty tGip Gipluywglt) npwytu g -h wunhdwG:
OphGwl 4: Lniotlp 2 <5 wlhwjuwuwpndp:
Lwbhnp 2>1, jupnn Gip wihwjwuwpdw Gpym Jwutipp nquiphpity 2 hpdpny,
wwhwuw Gt wihwjwuwpnipjub Gpubp' log, 2* <log, 5.npntinhg x <log, 5:
Mumnwufuw b (—eo;log, 5):
OphGwl 5: LnotiGp wihwywuwpnip.
lg(x+27)—1g(16 —2x) > 1g x:

‘Luwfu, okny 2750
X

16-2x>0
x>0

hwdwlwngn. quitlp wihwjwuwpiwi EUL-p x€ (0;8): UjGnihtnt wihwwuw-
pnudp gptiGp htnbgwy Yhpwy
lg(x+27)>1g(16 —2x) +1g x,
npuntinhg junwGwlp
lg(x+27)>1g(16 —2x)x:
Lwlh np nquiphpih hpdpp v6o £ 1-hg, nipbiG
x+27>(16—-2x)x:

Wu puwnwyniuwghG wihwjwuwpdw moniG | xe (—o0;3) U (4,5; ) , npp hwnbyny
(@ UL-h htinn, unwlnid Glp ywumwufuwbn:

Muuwufuwb (0;3) U (4,5;8):
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OphGwl 6: LmotGp wGhwwuwpmdp.
logg s x+3log,s x—1020:

UGhwjwuwpnuip log, s x =7 GuGwynuiny pipgmy b 12 +3r-10=0 pwnwyniuwhG
wihwywuwpdwn, nph (nonin

t<-5

r=>2

hwdwhimipl k: Lepununtwiny Guiuwydwip unwind tip

logysx<-5
logysx=2

hwdwfunwipp: {wpyh wnlhny, np ;nquiphpih hhdpnp thnpp £ dklhg, wwpqnd Gp, np
unwgyuwo wwpquagnt)l ;nquphpiwlul hwjwuwpnuiltphg wnwohlh nionuil
x > 32, hul tpypnpnhlp 0 < x £0,25 : Uhwynpbiny wju nuontiGhpp unwlnid Glp upw-
nwufuwln:

Numwupuwt (0;0,25]| J[32;):

cd Swuljuigli] Bp nwup

1. Opn°Gp GG wwpqugntyG nquphpiwyuwl wihwyuwuwpndGhpn:
2. N°pGt log, x 2 b wihwjwuwpdw monuip, ipk’ w) a >1, p) 0<a<l1:

3. NGt log, x <b wihuwuwpdw6 nomdp, ipt’ w) ¢ >1, p) 0<a<l:
4. N°pGt a” > b wihunwuwpiw6 nonuip, bph w) a>1, p) 0<a<l:

£ Unwounppuiipiitip
Lnotp wGhwuwuwnpnudp (104-111):

104. w) log,(x—5)>3, p) log, (2x-5)>2, q) log (x—5)< -2,
1) log, (x+1)<-5, t) 10gj(6—x)<1, a) log, (x—8)>1,
L) log92(3x—6) >0, p log; (4x+8)<0, P) 1g(152x—18) <0:
105. w) log,(x* +7x-5)<1, 8 ) logy, (x> +2x+2)< -1,
(})logizig>—3a 1) 10g2%<01
106.w) 1g(11-3x)<2-1g5, p lg(7x+5)<1+1g3,
Q) 10g2(4x—x2)<5+210g0,5 3, n) log, (XZ —3x—4)£ 2+log 3:
107. w) log, (x+3)<log,(9x—13), p) logy(2x+7) >log; (7x—18),
5 5
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D log 75 (2x+1)>1g(8x+9). 1) 2log,;(2x—7) <log,;(3x—6)

108.w) log, x +1log,(x—3)>2, )] logﬁ(x—4)+210g6(x+1)32,
) lgx+1g(13—2x) <1+1g2, ) log, ;5 Vx+7 +log,; (x+ ) <-1:
»109. w) 4log; x +log, x> 5, p) logj x+3log %Sl,
2
Q)I_S—llgx<lgxz+l’ ) log0’5x+4241_%(;50’):x.
F110.w) (2x)° > 64, P) X OY <27, Q) x10 <1002
»111. w) log,;,_s7<0, p) log,, ,0,8>0:

[ Yplyineywi hunfwp
112. Upnwhwjntp unynpujwl ynnnpuyny:
w) 0,3), p0,Ad2), @ 4(2), nl30), ) 2,5(10) :

»>113. Qb whytpe Gyuqnn pypuswhwlwt ypngptuhwjh hwynwpupp, tpk Gpu wi-
nuuiGtph gnuiwpp 4 t, huy winudGbph fjunpuGupnlbph gnidwpp 192 :
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3

Spuwilwpwiinupyu  mwppbipp:
Pyuihtt hwonppuljuwinipyndi,

uwhdw

§1 U.unl!pﬁlip, npulg wmpudwpubuljub (}nuiulpn,
wpuupywp L J]uulnuin

Shunwpytlp htnbjwy GuhowunguunipynGGtpp:

(A) GplwGp <wjwunwbh {wlpuytimnpjul dwjpupwnup t:
(B) Udtlwwpwqu)upd YulnwbhG Yphwd k:

() 342=5: (D) 4+6<7:

. T

()  3.2>5: (F) sin—=0:

Uju GufumunuumpymGGtphg jnipuupwlsjnipp dhoum Jud ufuwy nuunnnnipyniG t: biwl
Gwhwnuumpyn GGtpt wiquwimyd b6 wenyp (winnd): Qunypn Yupnn kGt 6dwphum
Juu ytno: Gk wunyph @dwpypugpli wpdbpp, G)ulGuynd t wyunpqb] wunyph
Gpdwphu Jud Ytno (hGhp: WyuhlGpl wunypp Jupnn E mGhGwy pyne 6dwpuwhG
wndtip «Gydwuphuny Jud «ytind»: Aipdwd wunypltinh GdwpunughG wpdbplbpp qubhp
htpmt' A, C, E wunypltipp §2dwphw GG, huy B, D, F wumjpGtpp’ Ytino:

«1-p thnpp phy E» GwhiwnwumpymGG wunyp sk, pwGh np hGupuynp st wupgty
wjl Gpdwphwn t, pt Ytind: bhwpyt, 10-h hwdtdwwmmpjwdp 1-p thnpp phy k, puyg
0,1-h hwdtdwmmpjudp k) uko E:

Qhunwnytilp htnlyw nuunnnnipymGGtpn:

G(x)  x phyp pwdwGymu t 5-h:

H(x) x phypnpuwywd k:

I(x)  x*+2x>9:

Gpt x=10, wwyw bpbp wunyplhpG b §pdwphwn GG, huy tpt x=1, wmyu H(x)
wuniypp Guwphw k, huy G(x) L I(x) wunypltpp’ Ytno: Upwlp shnipnfumljmb
wwpniliwhny wuniyplikp 66 (wunijpwjhl dubp), npnlGp x thnthnfuwlwGh npn)
wndtipGtph niypnid Jupnn GG (phGh] G2uwphwn, hul npn wpdbpGtph nhiypmy” Yeno:
OphGwly’ G(15), H(/3), 1(3,)) wunipltpp 6dwphw &G, huy G(9), H(0), 1(1,3)
wunijpltipp’ Ytino:
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log, x =3 hwjwuwpnuip (hGywbu L judwjwljwl w)p hwjwuwpnd) thnthnfuwjul
wuwnniGwynn wunyp t: Gpp x =8, wyl Gpdwphun wunyp b, hul x -h SGugwo wipdtpGtph
ntiypnid nunlnd £ Ytnd wunyp:

Ujdu phnwpltlp htmlywy wunypltpp:

) Q-nynipjnil niGh x pGuwlwa phy, npp pwdwGynid t 5-h:

(K) Guiwjwywl x pGwywd phy pwdwlymd t 5-h:

Unw9ohl hwjwgphg vpwip Gnyylwbtu thnthnfuwlwl ywpniGwynn wunypltip Ga:
UwuwyjG nddwn skt Guwnty, np hpuywlnwd npulp yujugwo stG x-hg:

J wunypn winnud £, np pnnp pGuwuG pytiph ubke Ju gnGt dtyp, npp pudwlynid
t 5-h, L tipt wynwhuhl Ju, wwyw J wunypnp 62dwphun b, huy Gpb sjuw, wwu Yend t:

K wumjpp wlnmy t, np pnnp pGulul pytpp pwdwymd GG 5-h, L tph Ju gnik
Uty pGulwa phy npp sh puwdwynid 5-h, wyyw K wunypp Ytnd E: bhwpyt wyupg b, np
J wumypp 6dwphw k, huy K wunypp' Yhno:

Shunwpytlp htnlyw) wunypGhpp:
Gu Jhwlnhwtd nGytpnou:
Gu yqlwd niniG:
. Gu jhwlnhytd pGytpnou Jud Yqlhwd miniG:
Gu Jhwlnhwtd pGytpnou L Yqlwd mintl:
Gu ;td hwlinhyh pGytpngu:

9. Gu shd qlw mmG:

Q- wunyypp 62uwnphwn k, Gpt Gdwphwn £ U L £ wunypltiphg qnGb dtyp L ytino &, tipk
tpyniul £ Ytno GG: Uyu nphypmd wumd GG, np @ wunypp U L & wuniyypltiph

TP PP E

ppwdwpwlnlub gnidwplit, L qpmu GG

Q=Uve Qupmugymit Ujud R):

‘Lluwnblp, np wnopjuw junuwlgmpniGibpmy «judy jwunuuwl oquwgnpdtihu,
opnhGuwly «btu Yhwlnhyty pGytpnou Jud Yqlwd wnniG» wukihu wybtih hwdwju
hwuyuwlnmd tlp tpyniuhg dkynp. fuwd Jhwinhybd pGytpngu, juwd Yglwd wnnilG L ny
tpynwup shwuhG: Uwpbidwmhluynd «U ud 8» wunyypp 6dwphwn £ Gwb w6 nhiypnd,
tpp U L & wunmpGtpp Gpynwul £ Ggdwphwu GG:

Q- wunyypp 62dwphwn E, Gpl 62dwphwum 66 U U-G, W A-6 L §ano E, bpt npwlighg qnlt
dtiyp ytno t: ¢+ wunypp U L & wunyplbinh ppudwpwbuljub wppuwnppju Gt

2= UAPR (quppugyni &' U L R):

G wunypl U wunyph dupnidbit: Uj6 6)dwphwn k, tph Yuno £ U-G L Ytnd E, tpk
U-G 6pdwphwm E: U wunyph dfumndp gpgnud £ wjuybiv 7 U jud wupquybtiv® «ng U:

{uwlignilinptb, 2 wunypp A-h dlunnuiG £ Q= —£: Mupq k, np Q wunyph dfunniiG
b B-GE 2==9, wjuhlipl B=—(—R):
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QdJup sh wmbulh), np «ny G» wunypp 620wphw b (wjuhlpl -G Yuno £) dhw)G
w6 nhiypnuy, tipp Gdwnpphwn GG «ny U» b «ng B» wumgpltpn (wyuhlpG U-G L £-G Ytnd
t6): Lywlwyn £ «U jud £» mpudwpulwlui gnuiwph dfunnudip «ng U L ng B»
npuwiwpwiwlywl wpunwnpyuy 6 k:

{wligniGnptG Yupnn GGp hwingyby, np «U L 2» mpudwpwuwyul wunyph drunnoip
«ny U qud ny £ nmpuwdwpwlwlwl gniiwn t:

o A U B wuniyplikph ppudwupwblulub qnidwuppy AV B (A Jwd B)

wunipp s)dwpfup b, pk @)dwphip E A L B wuniyplikphg qniik dkhp, L

Lo L, kpk kphyniubi k] Yhno kG:

A U B wunyplikph ppuwdwpwbluwlul wppunpjugpy AAB(A U B)

wuniypp Sydwpfup L, kpk &)dwppyp bl L' A -6, 1' B -6, L [kno L, hpk npubighg

qnlbik dkhp §hno Lk

A U —A (ns A) wuniyplibphg dkljp @)dwphp b, dyniup §hyo (Gppnpnh
\Pulgumdwﬁ onklp):

Uujwohg httmlmd 66 htmlyw] mpuwdwpwlwluwl JulnGGtpp, npnlp wi-
Jwlnwd GG & Unpquilh opklplhpn:

«A ljwd B » wunijph dhupnidp «(nsA) b (ng B )» wuniyypli E:
«A U B » wunijph dhupnidp «(nsA ) i (ng B )» wuniypli E:

Uju optliplGtphG nmp owbnp tip 8-pn nuuwnw lh nuuplpwghg: {hotip’ «pulwalitinh
hwdwhudph dfumnudip hwdwnpdtip Enpulg dfumnudGph hwdwuwpghl» b «puwlwautinh
hwiwlywnpgh dfumnuip hwiwpdtp £ npulg dunnudGtinh hwdiwudphG»:

Uwunnpl pipdwo £ mpudwpw Guwluwb gnponnnipnulGtinh 6pdwpumwjhl wpdtpltph
winnuuyp («B» Gpulwymu b «&)dwphuy, huy «b» Gpulwynd £ «Yano»).

A B AV B AAB —-A —-B —(AvV B)|—=(AAB)
o o o o 4 4 4 4
o &4 o Y &4 o &4 o
Y (o o Y o Y Y o
Y 4 Y Y a o o o

OphGuwl 2: %hwnwpytlp wunypGtiph Lnpulg dunnmdGhph ophGuyGhp:
w. bpwluhwjh dwypwpwnuwpp UwnphnG t juwd LnGnnGp:

—w.  dpwluhwjh Swypwpwnupn n’s UunphnG b, L ng & LnGnnGp:
r. Qlnpgp mwGa6 kL pGwo sk:

—p.  Qlnpgp mwlp gk ud pGuo k:
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q- “‘wnngh pnnp nquuwubkGyuyGhpp yipwlnpngyuo ta:
— ¢ “Fypngni jw nuwuwubljuly, npp yapwlinpngyuo st:
7.  Gw nwuwpw(, nph jnipupwlyynip wpwlytpm jwy L unynpnud:
—n  Bnipupwlyynip puuwpuwlind ju wpwltpm, npp juwy sh unynpnud:
k. Guwdwjuwywl x niGh A(x) hwunynipniGp:
— &k QnjnipjnG niGh x, npp yniGh A(x) hwnynipniGp:
q. QnynipjniG niGh x, npG odujwo £ A(x) hwwnlynipjudp:
—¢. LGuwiwjuywl x odnwo & A(x) hwwnmympjudp:
‘Uotilip, np q wuniyph dfumnidp sh upbh dlwybputy wjuybu.
L «wynngh pninp npuuwublyuyGbpp ytpwnpngyuo shix»:
bpnp, tiptk nupngnud (hGh W ytpwlinpnguwd, U sytipwlnpngyuo nuuwnpw, wuw

ytno YihGhG L @, U Fwunypllinp, dhGmtin wunypp b hp dfunnudip shwdwdw Gy Ytnd
1hGhy s66 Yunpnn:

{wqniGnpbl ufuwy t np wunyph dlundwl wjuwhuh dlwybpunidp.
p «Guw nuuwpw(, nph jmpuwpwlsynip wpwlbtpm jwy sh unynpnii», pwlh np

U p, W p wunypltinp Ytino GG, tpt nuuwpwlnd ju U jwy unynpnn wpwlbtpu, W
wpwltnm, npp qwy sh unynpny:

cd Swuljughi] tip puup
1.
2.

had

S A

% Unwiouippuiipibip

Ptptip wunyypltiph ophGuyGhin L Gptip npulg 62dwpunwihl wpdtpGhpp:

Ptptp hnthnfuwlw G yuwpniGwynn wunypltiph ophGuyGtip:

Ptiptip wunyypltiph onhGwyGtp L juqubtp npwlg mpudwpwlwlub gniiwpn, wpnw-
nnywip, dunnuip:

5°np £ Guuphun wunypGtph mpudwpwGulul gnidwpn L Epp' Yano:

G°np E &dwphn wunypGhph mpudwpwGulul wpownpyup L Epp' Yhnd:
Quytpytp 46 Unpquibh optilipGtipp:

Ququtp «quiwjului» b «qnynipjnil niGh» wpnmwhwjmmpymbGitpny wunyyplbpn L
gntip npulg dfunnuiGpn:

Q-ntip wuniph Gpuwnpuwghl wnpdtipp (114-116):

114. w) 347-pnqniyq ppy t: o)) V2 phup nwghnGuy k:
@) 29-p pwdwGynmd k 2-h: ) 23>412:

115. w) y =sin x $nlyghwl vwhiwlwihwy k:

p) y=tgx pnilGlghwl uwhiwlwithwy t:
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q) Yy =cosx pmlblghwd qnijq k:
n) y=x+1 $niGyghwa yulw t:

116. w) Bnipuwpwlsymp qmquhtinwghd ptnuGyyma t:

117.

118.

119.

120.

121.

p) buiwjwluwi ptnublyyn G punwyniuh k:

@) @nynipjnil niGh ninnuGlyyniG, npp pwnwyniuh k:

1) Gnynipynil niGh ptnuGlyyniG, npp pwnwyniuh sk:

t) Guiwjwlwi pnubyynt gniquhtnuqhot:

Mupgtip, pti htwnmbyw) GwhiwnwunmpnGitnhg npnlp GG wunyp L qubtp npulg
Gydwpuwjhl wpdtpn:

w) Snil Junnighnt hwdwp by opp Yupd dudytn k:

p) Uty opp und dwdiybwn t:

q) y=x" pmblghwl wénn t:

ny= x° $niGyghwl wpwq E wdnud:

Qluwytinytip mpjwo wunyypltiph mpuiwpwiwlwl gnidwnl nt wpmwnpyup b Gtp
nnuwig 6uwpumwjhlG wpdtpltinp:

w)5>2, 5=2, p)3>3, 3=3, q) 7<9,7=9, p) 8<8, 8§=8:
Qhgnip A -G nplk wunyp £: Qantip htinlywy wunpltph 6dwpunwghG wpdtpGhpp.
w) Av(—A), p) AA(=A):

Onihnfuwlwl wuwpniGwynn wunyypp gptip wnwlg v, A b — GpuGGtnph:

w) (x> v(x=1), p) (x<5) v (x=95), q (x<=-Tv(x>7),

n) (x>-4)A(x<4), bt)=(x>19), q) —(x<21):

Guqutip inpyuo wunypltinh mpuiwpw Gulyu gnmiwnt n wpunwnpjup b dlwltputp
nnug drunmuiGtpn:

w) UnGw qGwg puwnpnb: Upwip qlwg puwnpnG:

p) UnGwG qtipwquighy t: Upudp gipuqubghy k:

@) Upynnud u uyhnwly glnhy: Upynod sjw ul qlnhy:

1p) Lhihpp nupngwluw t: Lhihpp wiudwn sh fuwnn:

» 122. Oquytny hwiwuyyuwnwufuwl uwhiwinuihg dLwlbpybp, pb h6s EGwluynond

w) ABC tinw(lyjniip hwjwuwpuynny sk,
p) ABC tnw(ljniip hwjwuwpuwupm sk,
q) ABCD pwnuw(ljnilpn qniquhtnwgho sk,
) ABCD pwnw(ljnilp ubnua sk:

» 123. Quuytipytip wuniyph dfunnuip:
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p) 3nipwpwlyynip puynid dkptGw k julqGuo:
q) Npn ownpyGtp s66 ownynmu qupGun:
1) @nynipjnil niGh dwnhy, npp sh Swnynid wGwbp:
»124. Qunbip wumjph 62dwpunwghG wpdbipp b dlwybpybp dfunnudp:
w) Bnipwpwlsynip pGwlw phy, npp pudwGymy £ 2-h b 5-h, wqwwnpy & 10-hG:
p) SBmpuwpwbyjnip pGuwlwb phy, npp pwdwlynid k 8-h b 14-h, yywwhy & 112-phG:
» 125.0°n6 & «UhGnpunnpnGh pnpnp Gunwntintipp gpuinud G6» wunyph dfunnudp:
w) UhGnpuwwnpnGh pninp Guunwwnbintpp qgpunyuo ska:
p) UhGnpwwunpnlnd Juw wquwn Gunwwntin:
q) UhGnpuwwnpnGh npnp Guunwwnbntp qpunyuo ta:
1) UhGnpwwnpnGh juiwjuwlul Gunwwmbn wquwn k:
»126. 0°nG . «Npn hwonppuliwimpjniGitp pupwlwul wypngptiuhw Gl» wuniyph
dfunmup:
w) Pnnp hwonpnujwlnipyniGGtpp pyupw uwlub ypngptivhw GG:
p) Npnp hwonpnuww lnipjniGGtp pupwluywb ypngptiuhw sta:
q) buwiwjwyuw b hwenpnuw lGnmpntG tpypuwswthwlul ypngptivhw k:
) buiwjwuwl hwonpnujw lnipntG pYwpw Guluwb ypngptuhw sk:

[, YpYincpywi hunfwp
»127. Uyugmgtp, np juiwjwlwl o -h hwdwp

| |
w)ESsm40L+cos4ocS1, p)ZSsm60c+cos6ocS1,
1-sin* a.—cos* o Tk
q) 1< — <2, o#—, kel,
1-sin” o —cos” o 2
2 l-cos*a—sin®a Tk
n) = < — 3 <l, az—, kel .
3 1-sin®a—cos’ o 2

§2. Rbmbmpymb b huwdwpdbpnypymG

(Ot wnopjw funuwlgnpjniGGtpmy, pt" dwptiviwnhyuwynid hwdwju Glp hwlnhuymd
«ipti A, wyw B » wmtuph wunypltph, np6 wijwlty tGp hkplnipynib: bGsuytiu
ghwtilip, wjuntn A wunpp Yngymd £ wpueydmd, huy B -G hhploubip: Gpt wujdwGh
Gpdwnhwu thGbmn nhiypnid Gpdwnphwn L Gl hbnbwlpp, www htmbnipnilp d§2dwphwn E:
LtnlnpymiGp Ytind t, tpt yuwydwlp d)dwphw t, hul htmlnpniGp’ Yuno:
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Ujuntin A-GL B -G Ywnnn GG hGp hGswtu yunpg wunypGhin (ophGuly «tipt wGapl
qu, www bu fuwnum shd qGwy), wjlwtu b hnthnfuwuwl ywpniGuwynn nuwunn-
nnipymGatp (ophGwy «bpti x >4, wyw Jx>2 »):

= Onipnfumlyuli wwpniliwlng «kpk A(x), www B(x) » hlyplinipynilip
aydwppup Lk bph judwjwlpub x -h hwidwp A(x) wwjdwbh )dwphp jhbkn
nhypnid &)dwppop b Gwl B(x) hhyplwbpp:

SGyplnipynilip Yhno L, Grwlwhnid E gqnynipynili nifip wjliypuh x, np
A(x) -p @wphiyp | il B(x)-p Jlino:

«Gph A(x) , wyw B(x) » htimlinipjnilGp Ypdwun qpnid GG wjuybiv’
A(x) = B(x)

(tpptdG oquugnpoynid | Gule B(x) < A(x) Gwlwynwip):

OphGuwl 1. Spywo bt y = f(x), xe R, $niGyghwG:

w) «x€ R= f(x)<1» httmlmpjniGp Ytnd t, GpubGuymd £ «gnynipjniG niGh
wjwhup x hpwyw phy, np f(x) >1»

p) «bwdiwjulwl x; L x, pyiph hwdiwp x, <x, wwjiwlhg htwmlmd k, np
f(x) < f(xy)» wlnnuip Ytno £, Gulwymd £ «gnynipymG mGkG x; L x, pytp, np

X <X, b f(x)2 f(xy)»
Qhunwpytlp htnlyw) httmbnipymGGtpn:

Lbwnlinipynilp Yunnigjwdpp
U. 6pt x=3, wyu x*=9: U. Gpt A(x), wyu B(x):
P.6pt x> =9, wyu x=3: 2. 6pti B(x), wmyw A(x):
Q. bph x#3, wwyw x> #9: Q.. Gpti ns A(x), wyuw ng B(x) :

<tipwn t GYuwnty, np £ wlnnuil unwgyby t U-hg” yuwjdwGh b htmbwlph wtinbpp
thnfubtiny: ‘Ldwl nhiypnd wund GG, np B-6G U-h hwfuwnuwps wlngnidé t 1, huy U-G
wijwlnd GG righy whpnid: Mwupg b, np U wlngnudl £ 8-h hwuwnupdb k, ntunp
wund GG Gul, np U-G U B-G pnfuhwljunups wlinnidlhp GG:

Q. winnuip Yngymu t U-h hwlpunpp wlignid: U-G, hp htipphG, 9--h hwjwnhnpG t,
U-G b Q-G thnjuhwmlunpp wlinnidlikp GG:

Qhnwpyywo ophGuynud U htmlnipyniGp 6pdwphwu b, huy £-6G L Q-G Yno (x =-3
nbynd B-h b G-h yuydwGGtpp Gdwphwm GG, huy htmlwGpGhpp Yeno):

OphGwly 2: Guiwjuywl ¢ b 5 hpwlywb pytph hwdwnp.
W bph a=b, wyqu o’ =b (mnhn wlnny),
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R tph ¢’ =5, wyw ¢ =b (hwunupd whnnid):
Q. tpt a#b, wyu o’ # b’ (hwunhp whnnu):

Uju ophGwynid pninp wylnnuiGbpn dpdwnphw GG:

Gpti A(x) = B(x) htnlnipjnilp §)dwphw b, wund GG, npp B(x) -G whhpwdbyp
wuwydwl t. A(x) -h hwdwnp, hul bpt 6pdwphn t. B(x) = A(x) htnnlinipjniGp, wunid G,
np B(x) -n pwdwpwp wpuwydwb . A(x) -h hwdwp:

Gpt 6pdwphwn G6 U ninhn” A(x) = B(x) , W hwjunupd” B(x) = A(x) wylnnuiGhpp,
wwyw B(x) -G whhpwdbip b puwdupuwp wwydwb t. A(x) -h hwdwp: Uju ghypnid
wunwd GG, np A(x) -p b B(x) -p hwdwpdbp GG, wjuhGpG mGtGp hwdwpdbpnipjnil’

A(x) © B(x) :
Ujuyhuny A(x)-p L B(x) -pn hwdwpdtp GG, tpt x-h jnipupwlsjnip wpdtiph
ntiypmu tpyniul £ Gdwphwun GG Juwd Gpyniu by Yano Ga:
OphGwly 3 (hpdGuynptp hGpGmpm;6):
w) ¥’ >9 & xl>3, p) Jr<le 0<x<l:

q) Npwtugp ax* +bx+c pwnwlniuwjhl tnwlnwuih pninp wpdtipGhpp (hGwG
npuywd, wihpwdtpw t,np @ >0:

n) Npwtiugh ax* +bx+c pwnwniuwjhG tpwlnuwdl nGhiw wpdwwn, pujupun t,
np ac<0:

t) Nputugh 1g(x—1) > cos x wlhwjwuwpnipniGp dhpw (hGh, wlihpwdtyu t, np
x>1:

q) Npwbugh Ig(x—1) >cosx wlhwywuwpnipjmbn 6hpw {hGh, pwdwpuwp b, np
x>11-

OphGwly 4: «QmquhtinughoG mynubyyma Ey» L «qniquhtnwqoh whlnGuqotpn
hwjwuwn G0» ywyiwbatpp hwiwpdtp G6: Uyu thwunp dwpbdwnhlyjuljul mtpunt-
nnud Jupnn E dlwybipyyty Gl hbnlyw) Gwjuwnwunip niGGtpny.

w) Npybtugqh qniquhtnwqhop (hGh ninnubyynil, wihpwdtynm £ L puwjuwpun,
npwbtiugh Gpuw wlyyniGwqotipp hGGG hwjwuwn:

p) QniquhtinwughdG ninnuiGlyyniG k wyl b dhw)G wyl nhiypnd, tpp Gpuw wilyniGu-
qotinp hwywuwn GG:

cd Swuljuugli] Gp puup

1. 0°pwunypl t Yngynid hbmbmpyniG:
2. b°Gs Swubtiphg L juqiqwo htmbmpyniGp:
3. Epp EdhimphmpuwuG yupm Guiynn htmbnipjniGp §pdwphw L pp* Yhnd:
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4
5
6.
7

Ptptip hbmlnipjw b ophGuwly: duuytinytip npu hwljwnwpéan, hwlwnhpn:
b°Gs | Gpuwluwynd wlhpudbyn wwydw:

b°Gs £ GpuGuymy puupun yuydw:

bh°Gs | Gpulwynmd hwiwpdbpnipym G, wGhpudtym L pujupunp yuydw:

£

128.

Unwiouippuiipibip

Qantip htmlmpjwG 62 dwpumuwhG wpdtpn:

w) Gpt phyp pwdwGynid £ 2-h L 4-h, wuyw wyl pwdwiynid k 8-h:

p) Gpti phyp pwdwGynid & 8-h, wwyw wyl pwdwlymd k. 2-h L 4-h:

q) Gpti pwnwGyyniGn qniquhtinugho k, wuyyw npu wGlyjntGuqotipp hwjwuwnp ta:
1) Gpti punw Gl yw b wayyniGuwqotnp hwjwuwn G6, wuyw wjl gniquhtinugho k:

Qntip, pb hGy £ GQuGuwimd mpduwd htmbnpjwG Ytnd (hGup W hhdGuynptip, np wjl Yuno k

(129-130):
129.w) xe R= x> >0, P xe R=lx1>0,
Q) xe R=x? =x. m) xe R=lgx? =2lgx:

»130.w) Gpti A pywjhl puqunipjnilp uwhiwGwthwy E, wwyw wjG nilGh dhowaqniG wwpp:

p) 6pt A pyuwyhl puqunipynilGp uvwhdw Gwthwy b, www wjG niGh thnppwgntyG mwnn:

Qptip mpjwo htinlnmpyjul hwiwnwndp, hwwnhpp L GbGp npulg 6pvwnpunughG wpdtplbpn

(131-
131.

132.

133.
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132):
w)Gpl a =b ,wuu 42 = p2, P Bpt 45 =pS, wyu a=~,
I 1
Q) bpti a>b,wyw a’ >b’, q)bpha>4,u1u1u1—<zz
a
w) x(x—=1)=0=x=0, P x’-9=0=x=3;
1 T T
Q) sinx=—=x=—, ntgx=l=x=—:
2 6 4

<tunlywy wlnnudGphg npn®Gp GG §)Wwphwu, L n*p qnyqbnG GG hinfjuhwunupd fud
thnfuhwljunhn:

w) Gpt qnudwptijhGiphg jmpupwlsympp pudwlynud £ 13-h, wyw gnidwpp pudw Gymd
L 13-h:

p) Gpt gqnudwintihGtphg qnGb Wtyn sh pudwiymd 13-h, wyw gnidwpp sh pudwGynud
13-h:

q) Gpt gmuiwnbihGtphg gnGb dtyp pudwGymy 13-h, wyw gnudwpp pudwGymy t 13-h:
n) Gpt qmuiwpn pwdwGynid E 13-h, wugu gmiwptijhGephg jnipupuGsnipp pudw Gymy
L 13-h:

t) Gpb gnuiwpp sh pwdwlymd 13-h, wyw gniswptihGephg ny dGYnp sh pudwlynud
13-h:



q) Gpti gqnudwinp sh pudwlymy 13-h, wyw gnidwptijhGhphg gnbt dGYp sh pudwGynid
13-h:

UunnuGhph thnfuwnpkl npip =, <, < GpwlGtphg dtyp (134-135):

:0 =
]34.1u)x(x—3)=0*[x , ) x2—4:0*[x 2 ,
x=3 x=-2
q) cosx=1#%x=0, n) x=2mk, ke Z * cos’x=1:
»135.w) lgx<1#* x<10, p) lgx>1%x>10,
Q) Jx<3#*x<9, ) Jx>3%x>9,

136.

T T
t) xe (0,2) * « x-plpwnnpnmity, q)«x-p IVpwnnpnmd by * x€ (—2,0):

w) «k -G qniyq phy b» * «k -h YtpohG pywlywinp 2 t»:

p) «a phyp pwdwlynmd t 6-h L4-h» * «a phyp pwdwGynid £ 24-hy»:
q) «a phyp pwdwlynd £ 4-h W S-h» * «a phyp pwdwbynud kL 20-hy»:
n) «a phyp pwdwlynd £ 4-h L 5-h» * «a phyp pwdwlynid £ 10-hy»:

137.Ubptp o wuwydwlh hwdwp puydwpup yuydw:

138.

139.

w) a’ > b, p)sinx>0, q)logz>0, r})\/;>x—1:
Uotip o yuiw lh hwdwp wihpuwdtyum wuwjdw.

w) ax* +bx+c pwnwlniuwjhl inwlnuwih wpdwnmGbpp nppuijul Ga:

) ax® +bx+c pwnwlnuwjhG tnwlnuwdh pninp wpdtpGtpp puguwuww Ga:
Cwpnifwltp (wuwnuunipniGl wjlGubu, np unwgyh 620wphn wlnmu:

w) Npuytiugh tnwGlyyuwb nplk ququphg mwpywo the Gwghol nt Yhunpyp hwdplyGsa,
wlhpwdtipyu £ L pujwnpwn, npytugh ...:

p) Npwtiugh punwGlyjwln hGwpwynp (hGh wpmwqot) JpewGwghd, whpudtyn £ L
pwywpwn, npuybugh ...:

q) LRwnwbljulp hGwpwynp k Gipqot 2powlwgho wyl L vhw)6 w)l nhupnd, bpp ...
n) Npytugh ax* +bx+c pwnwlniuwjhl tpwGnudl nGhlGw Gpynt wpdwwn, wihpw-
dtipn L L pujwnuwn, npytiugh ...:

140.

141.

Ypljinpywii hundwp

LwyuwuwpwupniG tpwGYywb hpdpp 5 ud E, gpul weplpbp wiyjwl Ghunpnp 6 ud:
Qan (it upnilph GpyupnipyniGp:

Qb 743 ud wnwiynny 2powpl Ghipgowd ABC tnwllyjui BC Ynnih tplju-
pupjnilp, ipi AB=9 ui, AC =16uu:
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$3. (3 JuihG hwonppuljwblinipynG

Swultpnpn nuuwpwlnd dtip niuntiGuuhptghbp pywjhG $nilyghwbtipp: {ppbg-
GtGp, np pywyhl tlp wlyw bty wyl pniGyghwbtinp, npnlg npnpuwl whpnypp L wpdtip-
Gtnh pwqunipnilp pywjhl pwuqunipniGGtin GG: Uydu ynhunwnpytlp wiGwhuh pJujhG
$Inlyghwbtip, npnGg npn2uw b mhpnypp pwwb pytph puqinipym GGt N -p: Uynup-
uh pniGlyghwl wGdwlnid GG wblkpy pjwjhli hwonppuwhwlinipynili: Lwih np
nhunwnpybne Glap vhuwG wGytpg pywhl hwonpmuulnipynGatp, wjunthtinb «wlGytng»
pwnp pwg YpnnGtlp, wyuhlplG’ f: N — R nlyghwb jubwGtlp pyujhG hwonpnw-
Juinipjnil ud, wupquutu, hwgnppululinipynib, huyy a, = f (n) wpdtipp” hwonp-
nuyuwlnpjul n-pn Ywi plphwblingp wlnpud: Ujuyhuny

hwonpnuwlwlinipynilili wdkl dph n pliwluwb pyh hwdwwwpwupuwblibglinid E nplck
a, phy:

{wonpnuulnipjwl wiwh thnthnfuwywbn' 7 -p, pGyniGywo £ wGjwuiby plinkpu
(hwdwp): bGyytu np $nilGyghwjh wpdbtpn npnynid £ wijwju thnthnfuwwbh wpdt-
pny, wjGwtiu £ hwonpnuwlnipjul wdkl dh wlnud npnpymid £ php plGntpuny :

LJwonpnujulinipjul hwiwp Jogumuwgnpotilp $nlyghwbtiph gpundwl htmbguyg
aup’ a,, ne N :{wyh wnltiny, np hwenpnuwnipjw hGntipup” # -p, thpn thnthnju-
ynud £ pGuwlw pytiph puqimpjudp, «a,, ne N»wpnmwhwjnmpjul hnfuwpkl jog-
nwqnpotilip « ¢, hwonpnuijuinipnil» punwljuuyuygnipymn:

Lwlh np hwonpnuywGnipynilp $niGhghwjh Ywubwynp nhwpl k, Gpu hwdwp wwh-
wuwlynwd GG $nilGyghwyh mpdwb dLbtpp, dwulGwynpuwtiv, hwenpuyw lnipniln Yuw-
ntith £ viw) wpmwhwjjunnipjudp jud puGwalny:

Ophlwly 1: g, = 1 hwonpnuwlimpjn GG wikG dh pGwlub pyh hwdwwywnwu-
n

1

fuwGtigGnud £ wyn pyh hwjwnupép: Uwulwynpuwtiu’ g, =1, a5 = % > agpo = 2000

L wyG:

OppGwly 2: g, =(-1)" hwenpnuljwGmpjul qnijq hwiwpny (hGntpuny) wlnud-
Gtpp hwjwuwp GG 1-h, GaGun hwdwpny winudGepp —1-h:

bhuy a, =5 hwonpnujunpjwl pnnp wlnpuiGhpG hpwp hwjwuwn GG (hwJwuwnp
GG 5-h): Unwhuh hwonpnuyulmpniGGatnG wGwlms GG hwupwpnili hwynpnw-
hwlinipynilititip:

{wonpnuljubnipjul a, ; b a,,, winudGhpp ngdmud 6 ¢, wlnpudh, hwdw-
ywunwuhiwlwpwp Gwfunpy b hwonpy whnpwdlbkp: {wonpnuwwlnipjul npdwd

n+l
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4dltiphg £ winpunwpéd tnuGwyp, tpp hwonppuwlnipjul witl dh wlnudp Ghp-
Juwjwgynid £ Gwiunpn winwuih jud wlnuwdbtnh dhengny: dnip wynuhuh hwenpnu-
JulnpniGGaph owlnp tip: Fpwlghg GG pJupwlwlub L Gpypuyuthwlui ypngnt-
uhwGtpp, npnlp vwhdw lGynid &6, hwiwwywunwufuwGwpwp,

a,=a, +d, nz2

b,=b, ,-q, n=2

wlinpunund pwGwalbtpny: Uyn hwonpnuyw lnpniGGtph hwdwn ghunbp Guwb plnhw-
Gnip winuiGbph puwGuwdlbpp
a,=a,+(n-1)d U b, =bqg"":

UjuhlpG’ pyuwpwluyul b tpypuswthuyul ypngptuhwlbpp Junbih & wwg hGs-
wtiu wlnpunwnd, wjlGwtu £ pnhwlngm winuih puGwalbpny:

DnLGyyhwltph gnudwpiw, puqiwwuwpliwl, pwdwidiwl, hwugpupniinie)wd,
vwhiwlwthwniejwl b UnGnypninipjwl uwhiwnwiGipp ywhwwiynd GG Guwb hw-
onpnwlwlneniGlbph hwdwn:

Uwulwynpwwbu, a, hwonpnulwinie)niGl wdny t, tiph juiwjwlwl m U &
pGwlhwl pytph hwdwp m <k wwjdwGhy htpbmd t, np a,, <a, : Laklp dhw)G, np
hwonpnwlwbnipjwl waénn 1hGk)0 wwywynybnt hwiwp pwdwlw6 £ ynyy qwy, np
Gpw jnipwpwlsynip winwd thnpp E hp hwenpn wnwdhy (hGsn™), wjuhGpl

wh a, hwonppuljwbinipynilii wdny I, kpk
a,<a,,, n=123,. .. J

OphGuwy, 5-h pwdwlynn pytph’
5,10, 15, 20,...
hwonpnuywlmpniGG wénn k. Gpuw jnipuwpuwlyynip wlnwy thnpp £ hp hwenpnhg (L
htimbwpwp hwonpnGtphg):

"= a, hwonppulwbinipynilip Gjwmqny L, kph.
a,>a,.,, n=1273,...: J

OphGuwy’

rtr 11
57107157207

hwonpnwlwbnipynilp GJuwqgnn k. Gpw jnipupwlyynip winwd dko £ hp hwonpnhy:
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o= a4, hwonpnulwbinipynilip uwhdwblwhwy E, kpk gnynipynil nilip wyliyhup
M >0 phi, np
la,|<M, n=1,2,3,...:

Ophlwly 3: Uwwgmgtbp, np a, = %1 hwonpnuwlmpjniG6 wénng £ L uwhdiw-
n

(uthwly: bpnp, wyGhwyn £, np judwjuluwl e N hudwp 0<a, <1, wjuhlpl’
<1:Ujnwu Ynnihg’

an

4 —q . =N _nt l_ -1 <0
U Tl o n+2 (m+l)(p+2)
mptdl’ a, <a,,,,wjuhlpl hwonpnuljulnpjmb6 wénn k:

cd Swuljughi] Gip puup
bh°Gs E pywyhG hwonpnujuGnipjniGp:

N°nG GG wiguind hwenpuywlnipju 7 -pr jud pGnhwlnip winud:
Lwonpuwlnipjuwl npdwb h°G6s tnubwyibp ghnbp:

Ptptip hwonpnuijwlnipyniGGtph ophGuyGtip:

“nok L=

G"np GG wumd, np g, hwenpnujulnipynilp’ w) wdnn k, p) Gfugnn £, q) uvwhiwGu-
thwy b, 1) hwunwwmm t:

% Unwiouippuiipibip
142. Qutip a, hwonppuljubnipjuG wnwghG hhlq wlnuiGhpp:

2 n_l n

w)a, =n" -7, a, =——, a, =n+(-1),
) a, Pa, =" V) a, =n+(-1)
. Ttn . Tn

n) a, =cosTn, h)anzsm?, qQ an=n-sm?;

143. %hgnip a, = 2n* =3, ne N: Qubp wpunwhwjmmpjul wpdtpp:
w) a, —ag, p) 3as +4a,, Qa,,+a,,,
n a,, —4a,, t)a, —a,, Qa,, —a,:

144. Qnbp winpunupd pwlwdlng npgwd hwenppujulimpjwG snppnpng winudp:
w) a; =1, a,, =na,

pa =20,a,=9,a,,=a,,,—a

) a, = L,a,, :%(an +2)’

a

n

n?’

a, +a,
Wa =12,a,=2,a,,, ZTH:
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145. PuGwalny gptip hwonpnujwlmpjniG, nph wnwehb tiptip winudGhnG Ga:

w)?2,4,6,..., pL35,.., el 4,0..,
n 2, 4,8,..., w1, -1, 1,..., @8, 8 8,...:
146. Qupugmgtip, np @, hwonpnujwGnipyniGp uwhdwGwthwy t:
w)a, = n2+11 , p) a, =(-1)" +sinn, Q) a, = cos(n2 —1):
147. Uulwgmgnhpj-np a, hwonpnujwGnipynGp inGnnnG t:
w)a, =5n-17, pa,=4-2n, q)a, =3n,
Ma,=1-n’, t) a, =2n° —n, QDa,=n"-n:

[ Yplyincpywi hudwp

»148. Pwlynpputnp L wptuwmbn 4 dwd: Lw 2 dwd wfuwwntimg htinn Lu 3 dund wyfuunntig,
puyg 20 % Gywq wpunwnpnnuywbnipjudp: LwGh® ninynuny puGdnpp juumwptg wnw-
gunpuilpp:

»149. NpdGwnhpp 7 dwinud Qwpby tp 12 §2 www, pn npnud, wnwohG 4§2-6 pwpbijnig htun
Gpw wpumwnpnnuulimpniGa payty tp 20 %-ny: Lwlh® punwymuh dhnp wyuwnm tp
2wnt) npiGuwnhpG wyfuwmwlpl ujulmg 3 dwd wig:

§zl Vwpbdwmpljuljwi pyniyghuyh dbpnyp

Glpwnntilp’ qGnud tp vh dwlwwwnhny, nph tigpny Jwupdwo GG hwdwpwjwyuo
uyniltin b, mtuGtiny, np wnwohb vh pwlh yniGtipp Geplywo GG yupdhp gniylny, nignid
tip wupgtip, pt wpnyn®p poynp uyniGpG GG yupdhp: Bhwpyt, nnip htunmpjwdp jimotp
wju fulinhpp (WwGwywln bph GwlGwuwnphp puwm tplyup sk), htippww Gnpjudp wigltiny
poinp uyniGtiph Ynnpny:Umniqyny jnipupwlysjnip uyw b gniyGp’ funpnn tp wuby, np paynp
ujnililpp wpdpp b

LGGwpytny dwuGuwynp nhyptpp” hwiqbtghp pnhwlnp GqpuyugnipjuG: UG
Gdwnhw k, pwlh np unniqytyy GG pnnp wnulGtipp: Unwhwlquiw6 wju tnubGwn Ynsgynud
L ippy plinnifjghue: Lnhy hGnniyghw G Yhpuwnynd b, tpp pghwlnip wlnnuip mpnhynid
E th pwh dwulwynp niwyph, b pGGwpyymu GG pryrp hGupuynp nhwptpp:

OphGiwmy 1: Cuypugnighbp, np judwywywl puwui 7 -h nhypmy n(n + D+ 2) n
pwdwGymd & 3-h:

GQuidwjwlwl pGuywb phy 3-h pwdwlbhu Yupnn £ unwgyl 0, 1 {uwd 2 WGwgnpn;:

Gpti n-n 3-h pwdwGhbjhu vnwgymyd £ 1 dGugnpn, wyw (74 2) -p, niunh Gub
n(n+1)(n+ 2) -n pwdwlymd t 3-h:
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Gpti n-n 3-h pwdwltjhu vnwgynud £ 2 dGwgnpn, wyuw (r+1) -p, niunh Gl
n(n+1)(n+2) -p pwdwlymd £ 3-h:

Gpt n-p pwdwlynd Lt 3-h (unwgymd L 0 dGwgnpy), wyw n(n+1)(m+2) -n
pwdwGymd k 3-h:

Ltnlwpwn' Juiwywlwl pwwul z-h nhypmd #(r +1)(7+ 2) -p pudwGymd £
3-h:

Ujdd wquwuytpuwgnptp, pt dwGwwywphp (hGswtiu W uymGhph pwGuyp) wigbtpe t, L
unnighi pninp uyniGhpG wjyjlu stp Jupnn: UWagGatinyg wowehG 100 (Yud 1000000) uywG

ynnpny L ywnpqbny, np npuilp Junpdhp G6, wund Gp, np pnnp wniGtpp updhp GG:
Bh%w t wprynp GJwl tgpuhwlgnuip: Lwlh np nphuwpyyuo GG ny ponp wymGhpp,

wpywo tiquujugnmpniln funpnn k 1hGt) 0hw)6 GGpunpnip niG (qupwo):

Uwulwynp (ny pninp) ophGuyGtph nhunwpyiwl hhdw6 Jpuw wpduwo tqpuiju-
gnipynilpn Yngyma £ phpp plinnighw: Nputiuv dnwonnnipjul db wyG hhiGwwlnwd
Yhpwnynid £ Jupyuwo dLwltipybnt hwdwn, nph §hpum Jud ufuwy (hG6 wylnihtinb
hhiGuwynpynid £ wju fud wyl tnuGuwyny:

OphGwly 2: XVII quph $pwluhugh swpbdwwmplynu Mptin btpdwl nhuwpyb k
htmlyw hwjwuwnpmpjmGGatpp.

2% +1=5, 2% +1=17, 2% +1=257, 2% +1=65537
L GYuwntip, np unwgywo 5, 17, 257, 65537 pytpp wwng pytp G6: Stpdwl wnwownnty
E Jupywo (hwingwd, np Shpw k), np judwjwul pGuyub 7 -h ghypnud 27 +1 phun
wunq phy L: UG XVII nupnud pgtjgupugh dhowlniG dwptiiwwnhynu LinGunn
Ejntpp wupgtig, np 7 =35 nhypnd 2% 41 phdp pununpywy t, wyG pwdwGymd k 641-h:

JhpwnunGwlp wiytpe dwlwwwphh fulinphl L ywwibpugltlp, pb unniql tp,
np wlytipg dwlwwwphh wnwehl unilp Yupdhp t, L Gipuwpuphg mbntywgty tp, np
tipt npLt dh wniG (k -ppp) Yupdhp b Gk, wyw Guw hwonpn uyniGp ((k+1) -pnp)
GnyyGutiu yupdhp t Gapyt: Un ghiypnud unpnn Gp wlnbg, np pojnp wnipp yupdhp
tili: bpnp, tpt wnwehG uynilp Ywnpdhp L, wyw, Gipuwpwnph wuwoh hwiwawy G, jupdihp
L Gul 2 -pnp, mpbdG Gube 3 -pnp, 4-pop, LowglG: Gpuwbu’ pwgp wn pwy) upnn bGp
hwulb) yudwjwywb 7 -h L wlnk, np 7 -pn wnlGp yupdhp £, wyuhGpG ponnp uyniGbpp
Yuwnuhp tG:

Ohunwpytbp «wybtih dwpbdwmhuuwl» ophGuly qniquhtinGbp mwGtiny uyniGhph
fulnph htin:Uyugmgtilip,np a, = n’ +5n hwonpnuwlnipyjwl pninp wlnuibtpp pw-
dwlynwd GG 6-h (ponp ujniGtpp Yupdhp G6): Unweohl wlnuip pwdwGymyd L 6 -h,
pw(hnp @, =6 (wnwohl uynilp Yupihp b): Gipwnphlip’ npuk pGwywb & -h nhupnud
hwonpnwwlnipjub & -prpwlnuip pudwiymit 6 -h (Gapwnptilp k-pr unilp updhp
£): Uyn nbiypnud’
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apyy = (k1Y +5(k +1)=k> +3k> +3k +1+5k +5=
=k’ +5k +3k(k +1)+6=a, +3k(k +1)+6:

Luwhnp & U k+1 pytiphg dlyp qnijq b, niunp qniyq E Gub k(k +1)-p, b 3k(k +1)-n
pwdwlymd £ 6 -h: <wdwdw)l dtp tipunpuipjul’ a, -6 GnyylGuybu pudwiymdi t 6 -h:
Muunh' g, -p, npytiu 6 -h pwdwlynn pytiph gnuiwnp, GoyyGutu Ypudwldh 6-h ((k+
1) -pn uynilp GnyyGugbu Yupdhp B): <Enbwpwp’ g, -p pwdwGymd b 6 -h udwjwlwl
n-h niypnud (ponp uyniGtpp Yupdhp GG):

Phwlwl 7-h hwdwp P(r)-ny GubGuytlp «n’ +57 phyp pudwynd £ 6 -hy»
wGnnuip: OphGuy

P(1)wlnnuiG b «13 +5.1 phyp pwdwlGymdi k6 -h»,

P(4) winmuG k' «4* +5-4 phyp pwdwGymd k 6 -h»,

P(7) winmuG bt «7° +5-7 phyp pwdwGynud £ 6 -h», L wy)G:

Uyu popnp wGnnudGhpp §2dwiphwn GG, wybihG, hwunnpbl wywgmgtghbp, np P(n)
wnnuip d2dwphu £ judwjwlwl pulub 7 -h nhwypnud:

Uwwgnygh dbpnnp, np yhpwntghlp, Yyngdnud b dwpbdwppljwlmlb plignilghugh
dkpnn:

OJuwpwlnipjul, hwGpwhwyyh, tpipuswthnipjwl b dwptiiwwnhywjh wy pwuqu-
JunGtipnud tpptd( wihpwdtiyu E hGnd wwugnigtby, np hGs-np P(n) w (innud, npp Jwfu-
Jwo £ n plwlul thnthnfuwywGhg, 6dwphw £ wyn thnthnfuwwGh ponp wpdtipGhph
ntiypniy:

Nputugh Swptiiwmhuyuw hGnniyghwjh dipnmny wwwgnigtGp, np P(n) wlnnudp
Gpuwphwn £ judwjuyub pufub 7 -h hwdwn, yhunp L junwptlp hbnlyw pwjitpn:

1) UWyugmgtiGp P(1) wlnmip (kligniljghwyh hklp fwd hklipuwyhl puyy):

2) GGpwnptlp, np 6hpwn & P(k) wlnmup (hlinniljghnb klpwnpnipynib):

3) Uyugnigtbp, np wyn nhwpmd 6hpwn £ P(k +1) wGnnudp (hlinpnighnbi puyy):

4) Gqpuugltlp, np P(n) wlnmip dhyw E judwjwwl pGuwlwl 7 -h hwiwn
(kqpuljmgnipjnili):

Ophliwl 1: Uyugmghlp, np d wmwpptipnipjudp b ¢, wnwehG winuiny pywpw-
Gwlwl ypngptuhwjh 7 -pn wlnwad t

a,=a,+(@n-1)d: (1)

Quuunnpbl’ wyuwntin P(n) w innuip htnlyuwyG t.

«tipti @, pjupwlulwl wypngphuhwjh nmwpptipnipymiGp d E, hulj wnwohG winuw-
up’ a,, wyu a, =a, + (n—1)d »:
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1) P(1) wlnnuip Ghpw £, pwGhnp @, =a, +(1-1)d :
2) GGpwnnblp' P(k) wlnmup dhpw k, wjuhGpG
a,=a,+(k-1)d: (2)
3) Uyuwgnigtilip, np dhpw £ P(k +1) wlnnidp, wyuhGpl
a,, =a, +kd: 3)
bpnp, haiwdwj 6 pyupwlwlul ypngptiuhwjh uvwhiwldwd, g, =g, +d : Nunh
(2) wnGsmpymGhg ymGhGwGp’
apy=a,+k-1)d+d=a,+kd:
4) Ltnmlwpwn’ (1) pwlwadlp G2dwnppn E judwyuyul pGuywl 7 -h nhypnud:
Ophiwl 2: Uyugmgtlp. np juiwjwywé a,, a,,...,a, putph hudwnp
lay +ay +--+a,| <lay| +ay |+ +a, | (1)
‘Lwju wyugnighlp, np Juiwjwlwl a L b pytph hwdwp G)dwphwn L hnbyug
wihwjwuwpnipjnilp, npl wijwlnd 66 Erwbliljuwl whhwyjwuwpnipjnil.
la+b| < |a|+|b]: )
bpnp, gnidwnbiny
—lalKa<allu —-1bI£b<bl
UnyGuyh whwjwuwpmpmGatpp junwlwlp
—(al+lb)<a+b<(al+lbl),
nputinhg htimbnd £ (2)-n:
Ujdd dwpbivwwmhyuwlwb hGnniyghwjh dtpnnny wuyugnigtbp (1) wihwyjwuwpni-
pymln:
1) UGhwjwuwpnipymiGp Shyw k. tpp 7 =1, pwbhnp |q,| < |a,|:
2) Glipunplilip’ winnuip 6hpn £ » = k niyypmd, wjuhlpl juiwywyw a,, a,,...,q,

pytiph hwdwn
la, +ay +---+a| <|a)|+]a,|+--|a,]. 3)

3) Uyugnigtlp’ n =k +1 nhwypni: Oquybtny Gwfu (2), wyuw’ (3) wihwjwuw-
pmpjnGGtphg, judwjwywi a,, a,,...,a,,,; pytph hwdiwp junwiwlp

lay +ay +-+ @y |=[(a +ay +-+a )+ a| <
<lay +ay +-+ ap | +ag| Sla|+ay |+ +ay | +ag,]:

4) Ltmbwpwn’ (1) wihwdwuwpnpyniGp shyn L judwjwuyul pwlul 7 -h nhypniy:

OppGwl 3: QuGkbp x,,, =x, +2n+1, x; =1 winpunupd pwlGuwalny npjuo
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hwonpnwjwlnipjw pGnhwlnip winudh pwlwaln:

{uwpytlp hwonpnuljwlnipjwl vh pwGh wlnuay.

x =1,

X, =1+2-1+1=4,

X3 =4+2-2+1=9,

x,=9+2-3+1=16:
A-dquwn skt Gyuwnty, np unwgyuo pytipp tpupyynid GG npnpwh ophGwswihnipjul’

x =1, x,=2%, x,=3%, x, =4%:
GQunth L GGpwnnby, np wyn ophGwywihnipjubp Gpwplynud GG hwonpwljwlnipjwb
pninp winudGhpp, wjuhGpl yuiwjwlul pGuywb 7z -h hwdwnp
x, =n’: )

Ujdd dwptivwnhyuwlw b hGngniyghwjyh vhpnmy wyugnghlip, np mpwd hwonpnw-
JuGnipniGG hpnp wpmwhwjnynid t (5) puGudlng:

hGsytiu mtuwGp, 7 =1 nhypnmy wyl §)dwphwn k:

Ghpunptny, np (5) pwGwdlp Gdwphn 7 =k ghypnd, wlnpunupd pwlGwdlhg
YnGhGwlp

Xpy =X, +2k+1=k> +2k+1=(k+1):

Wyuhlpl' (5) pwlGwalp 6pdwphwn b Gwl 7 =k +1 nhypnud: ipbd6 wyl dQdwphn L
pop pwlwl 7 -tph hwdwn:
Nuunwufuwb x, =n’, neN:
Gpptid( wihpwdtipum £ hGmd wuywgmgty nplk P(n) wlnmu wjlwhuh pGuyw
n-tiph hwdwp, npnGp WGo Jud hwjwuwn GG nplk pGwlw6 m pyh: Uynuhuh nhwpb-
pnud pujuyuil

1. wwwmgnigk; P(m) wlnnudp,
2. wwyugnighy, np « P(n) whnnudp @)dwppyp b n=k nhkwypnid» klipunpnip-
gnilihg hlplinid £, np whnnidp &)dwppip | lwlk n=k +1 phypnid, npiplin k 2 m :

OphGiwl 4: Qyuwgnighlp, np momghy 7 -wlyjwi (2 > 3) GhpphG wiynGGph
qnuiwpp 180° (n —2) L

Gpp 7 =3, winnuip tnwGyywa Gepphl wiyymbGatph gnuiwph Yyapupbpyuy ptin-
b E:

Glpwnnblp wlnnuip shpn t 7 =k niypnud, k > 3,4 A/A, ... A, -0 quidwjulub
mnmghy (k +1) -wGymG E (GY. 8): uniwdw( hGnniyghnG tGpunpnipjul’ A A, ... A,
pwqiwGlyyub GipphlG wGymGGiph gnidwpnp 180°(k—2) t: Qwpyh wnGhny, np
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AA, .. A, puqiwllyui GepphG wGymGGtph gnudw-
pphwjuwuwp b A4, ... A, puqiwbljub GepphG w(y- 4,
JmGGuph L A A, A, tnwGhjwb GhpphG wiymGGtph
qmuiwphG, bgpuwglmd blp,np A A, ... A, puqiwl- 4
Ywb Gipphl wGyniGGiph gnidwpp hwjwuwnp £
180°(k —2)+180° = =180°(k —1): MGnnuiG wujugnig-
Juo k: Ly.8 4

k+1

B Swuljuighi] Bp nwup

1. bP°Gy & phy hnmiyghwa: Atiptp ophGuy:

2 bh°Gs £ ptiph hGnmyghwa: Rtiptip ophGuy:

3. N°pphwyptpmd E yhpunymd dwpbdwnhuwlywl hnniyghwgh dkpnnn:

4 b°Gs puyitp whwp E juwmwpt] dwpbdwmhyuywl hGnmyghwjh sepnnny wwwugnijgh
nbhypnid:

5. Uwptiwnhywlwl hnniyghwjh dtpngny wywgnigp pyuwpw luwlywl ypngptuhwjh
n -pnwlnuih pwGwaln:

6. Uwwgmgtp, np ninmghly 7 -wiyjwa GipphG wiyymGGtph gnuswpp 180° (n - 2) L

% Unwiouippuiipibip
Uhpwntny phy hnniyghw hhiGuynptip wlnnudip (150-152):
150. w) AGwlw6 pyph punwlynium Ytpohl pywbywip 1, 4, 5, 6, 9, 0 pywGywitphg npuk
utya t:
p) bwiwjwluwl pGwlwb 7 -h ntiwypnid n(n + 1)(211 + 1) phyn pwdwGymy t 6-h:
151. w) 3-h spwdwlynn pGuwlwl pytph pwnwlnupGhph wwppbipmpnilp pudwlymy k
3-h:
p) Udpnn9 pyh pwnwlniuhb 4-h pwdwbihu sh jupnn unwgyty 2 dsGugnnn;:
152. Yudwywywl pGuwywd » -h nhwypnud’

w) n(2n =30 +1)-0pwdwGimd E 6-h, p) (n° —n)-p pudwlymat 5-h:

153. Lphy hGnmYyghwjh dtpnnny quutip nipqwd hwjwuwpiwl wdpnng jmonwip Gpywo
dhowljwjpniu:

w) x> —24x+108=0, (15;21),
p) x> —24x+108=0, [-9;=5]:

154. apty P(1), P(6), P(k), P(k +1) wlnnuiGhpp, tpt P(n) wlnnusG £
w)(7° =1 )-ppudwlynud t 6-h,
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mn1-3+2-543-7+---n-2n+1) :w,
q) 2" >n+4:
155. Uwptiwmhyuyw hGnniyghwjh stpnnny wupugmgbp tpypuswihwlwl ypngpbuhwjh
n -pn wlnuih pwlwalp:
156. Uwptidwwhyuwyw hGnniyghwjh dhpnnny wuyugnighp.
w) pywpwlwlwl ypngptiuhwjh wnweohl 7 wlnpudGtph gnudwph pwlwdalp,

p) inypuwswthwlwb ypngptuhwjh wnwohlG 7 wlnudluph gnuiwph pwlGwdln:

Uwptiwnhuyuwb hGnmyghwjh dtpngny wuywgnigh], np hwjwuwpmipjnilip 6hpwn k
Juiwjwluwl pGwywG 7 -h niypnid (157-160):
, _nln+1)2n+1)
= € :
n(n+1)(n+2)

158. 1~2+2~3+3~4+---+n(n+1)=f:

157. 17 +22 +3% + .- +n

1 1 1 n
ettt =
15912723 nn+1) n+l

) 1
Sin n+5
160. coso+cos20t+cos30+...+cosno =

.o
2sin—
2
»161. Uyugmgt], np wlnpunupd puGwdlm] npguwo @, hwonppuwbnpyjul hudwp®

w)btpk a, =2, a,,=3a,+1, wyu g, :%(53”‘1 —1),
ptpt a, =5, a,=7, a,,,=2a,-a,, wyua, =3+2n:
»162. Quit winpunupd pwlwdlng updwo hwonppujulnipjul pGnhwinp winudh
pwGwalp:
w) a, =1, a,,=Mn+1)-a,, ma=1,a, =na,:
»163. Gl @, hwenpnuiwlmpjul pGnhwlnp winudp, tpt hwynGh &, np g, =3 L
Judwjwywl m, n pGwlub pytiph hwdiwp

lLl) am+n = am + an > p) am+n = am 'an :
»164. Uhgnip g, = \/5 La, =+2+a,, ne N: Uygugmghy, np judwjulub pGuluwl
n -h hwdwn

T
a, =2cos——:
n 2n+1

165. Uyugmgt) wihwjuwuwpnipyniGp Gpgwo pGuywl 7 -tph hwdwp:

w)3" >n’+5, n>4, P 2">5n-3, n>5:
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q)3">2"+n, n=2, 2" >n?, n>5:
Uyuwgmgtp wihwywuwpnipymbp 1-hg 6o pGuwl 7 -tiph hwdwp (166-167):

»168. Uwyugnighy, np 7 -hg 060 judwyjuw pGulw phy Yupbih t Gepyuywuglty 3 -Geph b

5 -tiph qnudwpny:
»169. %hgnip 4 > —1: Uyugmghp, np udwjwlwt pGuwlwG 7 -h hwdwp

(+h)" 21+nh:

[ Yplyinepywi hunfwp
170. Qutp x-h wyG wpdtpltnp, npnGg nhuypmy npfuwe wpumwhwjjunipymGGhpp juqind
LG pyuwpwlGuul ypngptiupw:

w)lgg,lg\/xz—4,lg(x+2), p) AfS5x+1, 2x, 3x+1:

171. Qutp x-hwjG wpdbplbpp, npnlg nhypnid mpdwo wpmwhwjnnipjniGatpp Juquinid
LG tpypwswihwlwb ypngphuhw:
wyVx+7,Jx=5.1, p)21gx,2+lgx,%+lgx:

§5. Uikpg thnpphp

Glpwnptilip niGtp vh fuGénp: Unwohb onl nunnd tip fulidnph Yhup, hul jnipuwpuy-
Jnip hwonpn onpG nunnid tip WGwgwoh Ytup: <wpg E owgmd’ pwGh® opnid Ynuntip wd-

pnng fuGdnpp: |
Unwohl onl nuntinig htinn Wlmud £ fuGénph 5 dwup, tpypnpn opp’ %% = Lz
2

11 1
? : 5 =— dwup L wyil: Gpb a, -ny Gaubwytlp 7 -pn opl nunk-
[nig htimn dGwgwo dwup, wyw Junwbwlp a, = 2% , n€ N, hwonpnuwlnipjmGp,
nph wlnwyibtpp ny dh 7 -h nghwypnid qpn sh6 guntmd (GY. 9): UyuhlpG® dtq tppbp sh

A A . . _

1 1 1 1 1
? ? 614:? a5=F a():?
Ll 9

dwup, Gppnpn oppd

1 aI: a2: a3:

L
2
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hwonnyh fjuGanpb nunty wipnnenipjudp:
Ujdd niphp hwpg E dwgmid’ fuGdnph n°p dwup sh hwennyh nmuntp: Mwpqynmd b, np
wnuhuh dwu gnjnipjmG yniGh: bpnp, nppw Ey thnpp thGh € npujw phyp, YepgGny

1
— -hg 0o pGwlwl 7 Loguytny 2" > 7 wylhwjm wihwjwuwpnipnilhg, unwlnug
€

tlp a, = ZL” < l <é€:Uyuhlpl tpl n> l ,wuyw 7 op nunbjnig htivin fjuGdnphg dGnd &,
Gpw € -hg qmpff dwup: ¢

Ltwmwppphp hpuyhdwy E untindymd. dh Ynnidhg' tpptip sh hwonnynid juldnn ni-
wmb| wipnnenipjuwdp, Wnw Ynnuhg fuGénphg, pun knipjwd, nshby sh WGnwd, pwlh np
fulidnphg dGwgwo dwul wiyting thnppuwlnu t:

‘Liwl hwonpuyuGnipjniGGtnp, npnlghg «pun EnipjuG nghGy sh WGnui», Juplnp
ntip GG fuwunnud hwonpnuijulnipyniGGtp LW pniGyghwbtin ntuntdGuuhptijhu:

N
N

a, hwyonpnulpubinipynilip Insynid b wlijkpy shnpp, kpk judwjwlwl €
ppwljwl pyh hwdwp gnynipynili nilih wyliyphup N plulwb ppy, np n > N
wwjdwlihg hyplnid |

la,|<€ (1)
whhwijwuwpnipjnilip:

Uy ytipw Jupbijh £ wuby, np @, hwonpnuljulnmpjmGi wiybpe thnpp k, tph Gpu
wlnuiGhpp, hGs-np hwdiwnphg ujuwo, pugupdwy wpdbpny thnpp GG Gwfuwytu mpuo
Jquiwjwlwl npulub pyhg: @wuwmnptl, wyn «hGs-np hwdwnG» wjG pGuywa N -G L,
nnhg wytijh uko hGntpulbpny winuiGtpp pujupupmd GG (1) wGhwjuwuwnpmpjuGn:

OnphGwly 1: UyGhwjwn £, np

a,=0, ne N, hwonppuljmbinipjnilili wlijkpy thnpp L

OphlGwl 2: 8myg mwip, np

a, = 1 hwonppwljwbinipynilili wliykpg thnpp L
n
1
“hgnip € -p Juiwjywlwl npuljub phy E: Oputiu N JtipgGhlp . -hg uko nplk
pGwlwi phy: Uyn nhypmd, tipt 7> N, wyw
1 1 1
la,|=—<—<—=¢
n N 1
Lbnlwpuwn’ g, hwonpnuljulnipjni GG wytpg thnpnp k:
OphGuwl 3: UmnigkGp, np
b, =q" hwonppuwljmbinipynilii wbjkpg thnpp k., kpk |q| <1:
Gpti ¢ =0, wyw unwlnuitlp p =0, ne N hwonpuljulnipynilp, npb witpg thnpp
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L: thgnip ¢ # 0 L € -p nplt npuljwG phy £: Mwpgtilp, pbn°p pGulw6 7 -tph nhupnid
t6hyw Jb,

< & wihwjwuwnpnmpjnbp: Lwlhnp 0< |q| <1, nipbdG

bn

<eelq <een>log €:
Ujuyhuny tpti mpwo € >0 pyh hwdwp YytpgGtlp log‘q‘ € pyhg utio nput pGuyw

N ,wwuw 7 >N wuwjdwlhg yhtwunlh, np

wayting thnpp E:

{wny t Gby, np popnpnyhG Yuplng st qubt hnppugnyyG N -p, nphg ujuwd wtnh
niGh (1) wGhwjwuwpnipjniGp: Guplnpp judwjuyuwb gpujul € -h hwdwnp wynuhup
N -h gqnynipjm GG E:

bn

<¢&: Wuhlpl® b, hwonpmulwlnmpmGi

‘Llwwntlp, np waytpg thnpph vwhdiwiw dhe |an| < & wlihwjwuwnpnipymGp tpy-

puwswthnntil Gpwlwymd £, np pywjhl wowlgph ypw @, YtnmG pGiuo b (— g; 8) dhow-
Juypnui, ntunh g, hwonpnujuGinipjul wiyting thnpp (hGn tpypwswthulul gkl iw-
pwlmpjniGp htimbyuy G k.

" a, hwonppuwlwlinipynilli whykpg thnpp L, kpk juwdwjwljmb € nppwljub
pijt huitup (—g5€) upgwhuyphg nnipu fupny kG ghlky djuyl Jhpguninp
pyny a, -tp (G. 10):

1 A -
mrr T I T T T T T »
—& 0 ayp ayu € ay ay a,

L. 10
OphGwy 4: a, =1+ (=1 hwonpnuywGnipjul gnijq hwdwpny winudGhpp 2 GG,
hul Yt hwdwpny whnuaGpp 0: U6 wiytpg thnpp st, pwGh np (_l; l) dhow-
2 2

Juyphg nnipu quGymd &6 whtpe pyny a, -tip (pnnp qniyq hwdwpny a, -tpp):

cd Swuljuighi] Bp nwup

1. Yhwennyh® wnrynp juGadnpl munb) wipnnonipjwudp, tpk opwlul nunnid tp Gwgwoh
Ytiup:

huGénnph n°p Ywup tipptip stp nunh, tpb opwwl nunmd tp tGwgwoh Yhup:

N°n hwonpruwwlnipyniG6 GG wGJwlnid whytpg thnpp:

Uwwgnigbip, np a, = % hwonpnuwlwlnipym GG wGyting thnpp t:

A

Uwuwgmgtp,np b, =q" (I ql 1) hwonpnuiwlGmpjn GG whytpg thnpnp t:
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£

172.

173.

174.

Unwownpuipiitip

NupnuGyymbGuwdl pninpl mGh 1 dwytpbu: LwGh® wiqud t ybmp Yhuhg owib) pninpn,
nputiugh unwgywd Swytptup hGh thnpp' w) 107 -hg, p) 10~ -hg:
Uwnighi, np g, hwonpnuwlnipniGa wiytipg thnpp k:

1 1

w)a, = , a,= , a, = ,
) dy n+9 B 2n+1 ) n’+n
3 3"
I}) a, = p h)an:_: q.) a, =—-:
3n” +1 2% 2

a, hwonpnuljuGmpjul pwGh” whnud & (— €; 8) dhowlwjphg nnipu, tipt’

,€=0,1, pa,= 2 €=0,01:

a =
W3 P

»175. Qupugnigtip, np @, hwonpnuiljunipyniGG wytipg thnpp £

176.

>1717.

>178.

179.

1 1
a =—— an == —_nn.
W T e P logy(n+2)—10 @@, =27
Spjwo € -h hwdwnp qunGty thnppugniyG NV -p, nphg UG 7 -tph nhypmy |a, | < € wi-

hwyjwuwpnipyniGp dhypw k:
a, = L tipt™ 1 01, 2 0,01
ul) n n+5 s P ) 8 — Uyl ) 8 - ) b

1
p) @y =?, tpt' 1) €=0,01, 2) £ =0,0001:

Uujugmgty, np ipt @, hwonpnuijwGmpniGG wiytpg thnpp b, www wiygtipg thnpp k
Gwl b, =a,,,, ne N, hugnpnuliuGmpymbp,npntn’ w) k =1,p) k =10:
Uwugnighiy, np ipti @, hwenpnujulnipniG6 wybtpg thnpp b, www wiytpg thnpp k
Gwl b, hwonpujuGnipynilp, npuntin®

w)bnz_ans p)bn:aj’ Q)bn:ai,

m b, =\/la,|, & b, =la,|", p>0, @b, =a:

Oquytiny Gwfunpn wnwewnpulphg wuwgnighy, np @, hwenpnuljwlnp)niGl wi-
ytipg thnpp L:

al’[

w)bn:—l, p)bn:%, Q)bnz%’
n n n

1 1 _ 1.

I})bnz_s h)bn:—sp>09 q_)bn_ n
Jn n’ n
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> 180. Mwpghglt) wpnmwhwjnnipyniGp L hw)yt Gpu wpdbpp.

Vda’ ~2Yda 18+2Va | atl

: . btpp a=5,
2-a Yaa  |[Yaa> ™

p)(b+2\/Z+1)'( 1, b+3_ 1 J tnp b=2:

w

+ —_
b+1 Jb-1 4bp-1

> 181. Qwpytip wpumwhw jmmpjul wpdbpp, tpt @ -6 pudwpupnd E GJuwd hwjuwuwpdwn.

w) log 5 (14—5a), [10a-27=53,  p) log ;(3-8a), [24a-27|=30:

§6 faﬂlmpmﬁmllmﬁ gnponnnupymGGbp
wlibpg thnppkpni

- Ltidw 1: Ulifbpg ihnppp uwhdwlimhwl E:

Uyuplipli’ kpk a, hwonppulpmbnipjnilili wlijkpy shnpp b, wwyw qnjnipjnili
nilih wyliyhup M phy, np Juwdwjwlwb plwlwb n-h hwdwp |an | <M:

Uwwgnignud: Lwlh np g, hwonpnuulmpynG6 whytpg thnpp £, mptdG (=1,1)
dhowlwjphg nnipu Jupnn GG hahp shwyG yepowynp pyny wlnudGtn: Lywlwyma t
Juwnpnn tGp quGl) dtihg dto wyjGwhuh M phy, np nnipu dGwgwod wlnwiGhpp
1hGtG (=M , M) showlwjpnud: Uy niyypmd (=M, M) showlwjpp Yuuwpmbuyh a,
hwonpuuwlnipjul pnnp wlnwdGtpp, wjuhlpl juiwjwlwl pGwlwd 7 -h hwiwp
a, <M :

=2 Ltddw 2: 6pk a, hwgnppulmbnipynilib whykpg tinpp £ L b, |<la,|,
‘ ne N, www b, hwonppulpubinipynilip linijliyku wljkpg hnpp L: J

Ltddw b wlihowlwlnptl htinlnd £ wlyting thnpph uvwhdwlinuihg:

o Luidw 3: Eplyni wlijlipg shnpplph gnidwpp b qpuppkpnipynilil wligkpy
thnpp ki

Ujuplipl’ tpk a,, b, hwonpnuwlwbinipjnililikpl whyjkpg hnpp kb, wuyw
a,+b, b a,—-b, hwgnppuljmlinipynililikpp liniylwku wljkpg thnpp kb:
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Uupugnignud: “Fhgnip € -p nplk ngpuiju phy t: Uyn niypnd gnynipyniG mGhlG N, L

€
N, plwlwl pytp, wjGwhupp, np tpli 7 > N, wyw |4, <5 , hul tpp 7> N, , wyw

bn

€
< E s Lywlwyklp N = max{Nl; Nz}: Ujn nhypny, tpli n > N, wmyu

a,tb,<l|a, +\b,

an

€ &
<—+—-—=€:
2 2

Wt Lwidw 4: Vwhdwlwhwl hwonppwlwblnipywb b whjbkpg hnpph wp-
gy b wliylpg shnpp L:

Ujuplipl’ kpk a, hwonppulmbnipynilip wwhdwblwhwly b, pulj b, hwonpnw-
fwlinipynilip’ wlifkpg thnpp, www a,b, hwonppuljublinipynilili wliykpg shnpp
Lk:

UQupugnignud: Lwlh np ¢, hwonpnuulnipymGp uwhiwbwithwy b, niptiG qnynt-
pynil niGh wyGuwhuh M > 0, np udwjwywb pGuwlyw r-h nhypnd <M : Lwlp
np b, hwenpruljwlnipniGG wybtng thnpp b, mptdl judwjwlywl € >0 pyh hwiwp
gqnjmpjnil mGh N pGwlwl phy, np

an

€

n>N= b, <—
Ltumlwpwn tpp n > N,
a,b, =la,|-\b, <M-i=8;
M
-
K:‘: {tnmbw(p 1: Uligkpy pnppliph wppwnpjuyli wligkpp thnpp L: >

Uwmgnignui: “thgmp a, , p, hwenpruulnpyn GatpG whytnpg thnpp bG: Uy nbug-
pnud, hwdwdwjG 1-h6 (bidwgh, a, hwenppuyuinipynilp vwhiwGwihwy t: YUhpunt-
1ny 4-pn (Gddwl hwdngymud Glp, np @, b, hwonpnuwlnipjniGl wytpg thnpp k:

Lw2yh wnltny, np hwumwwmnt G hwonprujulnipym Gp vwhdiw Gwthwy k, fuunw-
Gwlp.

<:': Lbnbwp 2: Swupupnilip b wlidbpe thnpph wipypunpyuyl wlidbkpe thnpp t:>

OnhGwmly 8nyg wwlp, np a, = % hwonpnuwlnipniGG whytpg thnpn t:
n+
‘Lhinjujwgltlp a, -p htinlyw Yhipy.
n n’ n 1 n’ 1
= 2T o 2= ' 2 ot
(n+21) 2"(n+1)° n+l n+l (m+1)" 2

n

n n

Lwlhnp —— b 77— hwonpnulwlmpmGGtpp vwhiwlwthwy GG, huy L
: n+l (n+1) n+l

L 27 hwonpnuwlwlmpniGGtpp” wGytpg thnpp, 3-pg L 4-pn (ddwlbph hwdwdw)G

a, -p L YihGh wlitpg thnpp:
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cd Swuljughi] Gip puup

I.  UwhdwGuwihw"y k wpnynp wGytpg thnpp hwenpmuywlnipjmGn:
Uujugmgtip, np wliybtipg thnpptinh qnudwnG wiytpg thnpp k:

3. Uwuwgnmgtp, np uwhdwlwthwl hwonpnuljw lnipjub L wlytng thnpph wpumwnpjuy G
wlibtipg thnpp t:

4. Uwwgmgtp, np whytng thnpptinh wpnunpyu G wigtng thnpn k:

£ Unwownpuiipiiip

182. Uwptdwnhfulw hnniyghwjh dtpnnny wuwgnighy, np tpgwnp pyny wiyting thnp-
ptph gnudwnG wGytpg thnpp k:

183. Uwptdwwnhfwlwd hnniyghwjh dtpnnny wuwgnighy, np tpgwnp pyny wiyting thnp-
ntph wpuwnpyu G wiytpg thnpp t:

Uwugnighy, np g, hwonpnuijuGnipyniG6 wlytipg thnpp t (184-186):

_111 _ A .
184.u1)a,,=(—), p)an=M, q)an=M,
n n+1 n
cos(n+1) n 5
a,=——>, b a = , = :
) 2n ) a, (n+1)Yn+2) V4, n-2"
185.u1)a,l=§+ > , pa = 1 —i, Q) a :l+3*”’
n n+l " 2n-3 n+2 " n
a = ! -2 b) 9n = & )a, = 2 :
W= ’ VU alle2) A a"_n(3+4_").
_13sinn+25cosn 12sin’ n—"7cosn
n an: 5
186.111) nlogz(n-i-l) 5 p) 5n3+1
L o_cos(n=9) Lo % 3
DY lgon+5) 3@+ P @ia+l all+2™)

187.%hgnip a, :LS, b Z%, c :%, ne N : Uywgmgty, np’

n n
n n n

w) a, , b,, ¢, hwonpnuljwlnipyniGGtnG wGytipg thnpptip LG,

P) Z_n hwgnpruiljw@nipymGa waytpg tnpp t,

n

»q) n hwonppujuwlmpniGG wayting thnpn sk,

n

b
»1) —~ hwonpnuijwlnipyni GG whytpg thnpp sk:
a

n
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Lniot hwjwuwnpnudp (188-189):

1 1 25 16
188.w) 2+ —=—-— — :
w) +x—3 x—1 IJ)H_x—7 x—6
2 2
-2x-3 3x"+7x+2
189.w) X —=X=2 _, p 2 TS0
3—x Vx+1

§7. <w2n[n].wllulﬁnlp3mﬁ uwhdwl, ¢ phyp

Qwpdjwy GGpwnptilp, np niGtp th fuGanp b jnipuwpwlsynip op nunnd tp fuGdnphp
dGwgwo Jwup Yhup: StulhGp, pt dwdwGulh pGpugpnid fuGdnph n’p dwul Gp nunnid:

bhGyutu mbuwlp, wyu nhwypnid 7z -py opp WGnwd Ep fuGdnnph 2% dwun: {twmlwpwp’

tipti a, ny Gpwlwltilp » opmd Yhpwod dwup, wyw a, :l—in (GY. 11): Muwp, ptl
fuGanpn tppbp 1npy nuntg sh hwennyh, uwyuw)G Gpwlhg, pun tnipjwb, nghGy sh Wanud,

pwlh np wjl dwiwGwyh plpuwgpnid gptipt wipnnenipjwdp nunnid tp, wjuplpl' a, -G
w(ytpng Unnblmd t 1-hG:

1
Ujumtn @, hwonpnulwlnipyniGp mwppbpynid £ 1 hwuwnwwniGhg 7, wiytpe

2n

thnppny: Liwl niypnud wunud GG, np g, hwenpnujwlnipjnilp dqunmd £ 1-h:

W a phip §npfnid b a, hwgnppulpwbnipywl wwhidwb, bpk a, —a hwgnp-

LSS

nulpwlinipynilifi wlijkpg thnpp k:

Gph hwonpnuwljmbinipjnilii nilp Jhppunfnp vwhdwb, §nsinid b gniquidkp,
hwlpwnwl) nhypnid nsygnid | yppupuwdbop:

Gpti ¢ phyl @, hwonprulwbnipjwl vwhiwG6 E, wuyw gponid GG

a=lima, Ywi a, —a
n—e

"Jupnugynud £ g -6 hwjuwuwp £ uwhdw a,, tpp n-p dqunnud £ wiytpoh: Ujuntn lim -p (wwnhGhpkG
limes pwnh Ypdww 4LG L. npp GQulwynud L uwhiwd:
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L wumd GG a, -p sqpmid b a -p, jud a, -p quiquuidppnid | a -p:

Owumnntl @, hwonpnulwlnpnilp dqumi t a pyhd, tipt hGs-np hwiwnphg ujuwo
(pw wlnuwdiltph b a -h mwpptpnipyniip pwgupdwly wpdtipny thnpp b Gwuwwbu
npjwd juiwjwlwul € npulwb pyhg' la, —al<e: dtpghl wlihwjwuwnpnipnilp
(2wlwlynud £, np pywjhG wnwlgph Yypw @, -p yunljulnuit g Yanh € -ppowljw)phl’

a,e(a—¢g,a+e):
Ujumnbtinhg Ypfuh hwonpnujwlnipjwl vwhdwlh tpipwswthwiub sty Gwpw lnipjniln
(GYy. 12).

)< a phip a, hwonppuwbwbnipjwb vwhdwlb b, kpk a-h Juwdwymlwb
2n9wljuwyphg nnipu fwpny kb jhlk] dhwyl Jippuwnp pyny a, -bp:

a-—-¢& a a+ée
1
T

»
L 1 1 T T T T T >

v AN+ ay a; a4,
LY. 12
Mwnq t, np kpk a, hwgnppulubinipynilili wlijkpg shnpp b, wwyw wjl qniqu-

dbp I L Gipw wwhdwbip 0 F lima, =0
—Soo
hGpGnipniyG hwinqytp, n[{lézliulphm E htinmbywy (GidwG:

o Lt Epk B, hwonppuljmbnipynilili wligkpg shnpp b, wuww judwywlul
a pyph hwdwp a,=a+B, hwonppulmbnipynilip qniqudbp b, L lima, =a J
n—>o0

OphGwl 1: g,=¢ hwunwwmniG hwonpnwlwlnipjniip qniquitm b, L
a=lima, : bpnp, wjn ntwpmd ,~a=0, n€ N, npp, hG;utu ghwnbilp, waytng thnpp t:

OphGwl 2: Mwpqtilp a, = ntl hwonppuwlnipjul gniquihwmnipjmlp:
n
Lwlhnp
a, = n+l1 -1+ 1
n n

. n+l
b 1 hwonpnwlwlnipyniGG wGytng thnpp b, nipbdl’ 11_1)11— =1:
n n—e N

== Otnpti 1: Epk a, L b, hwonppulmbnipynillhpp qniquidlip kG, wuym
ququidlap kb Gwlb a, +b,, a, =b,, a, b, hwonppulpulinipynililikpp, plin
npnid,

1. lim(e, +b,)=lima, +limb, ,
n—o0 n—oo n—oo

2. lim(e, —b,)=lima, —limb,,

n—oo n—oo n—oo
3. lima, -b, =lima, xlimb, :
n—oo n—oo n—co /
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Uuugnignud: LywGwyblp’

a=lima, L b=1limb,:

n—eo Hi—yoo

Cuwn vwhiwGh vwhiwGiwG o, =a, —a L B, =b, —b hwonprulwlnipjnGGtpa
waytipg thnpp tG: UWyn nbwpnid a, =a+o,, b, =b+p, L

a,+b,=(a+a,)+®+B,)=(a+b)+ (o, +B,):

Luwh np whytpe thnpptiph o, + B, qnuiwpl wytpg thnpp b, (kidwjhg htnlnwd b, np
a, +b, hwonpnulwlnipjnilp qniquitn £, b a, +b, - a+b: LwliqniGnpkG
wwwgnigynid k 2-pn hwjwuwpnipynGp:

UjGnthtmle

a,-b,=(a+o,)b+B,)=ab+aB, +bo, +o,B,:

Uhpwnbny wGytine thnpptiph’ Gujunpn yuwpwgpudpnid wyugnigwo hwnynipniGit-
nn, kqpuijuglnud GGp, np af, +ba, + o ,B, hwonpnulwlnipjniG6 whtpe thnpp t:
Ltnlwpwp’ a,b, — ab:

Lwlhnp b, = p hwunmwnni( hwonpnulwbnipymp gniquitin kb Gpu uwhdwbp
p -G L, 1-h6 ptinptush 3-pn Yinhg YunwGwlp.

%t Lbwlwlp: Gpk a, hwgnppuljmbnipjnilin qniqudliyp b L p -6 nplk ppy
L wwyw p-a, hwgnppuljwlinipynilip linyyliyku qniqudlop b L

limp-a,=plima,.
n—eo n—eo °

Unwlg wwywgniygh dbwybipytlp qniquitim hwonpnuywlnip niGlitph hwpwpb-
pnipjwl vwhdwGh yipwptingu) pinpbidp:

== [@bnphkd 2: Lhgnip a, U b, hwonpnuwlpmbinipynililibpp qniquidlp LG,
an
plin npnud, b, #0, ne N, L limb, #0: Uyp nhypnid 3 hwgnppulubini-

n—oo
pynilip lGnijliyku qniqudbp £, L . !
lima,
lim 2 = R .
n—yoeo bn lim bn .
n—yeo

LwonpnuijuwlnipniGGtph Wk uplnp nuu GG dnGnunnl hwonpnuuinpymGGtpp:

“hgnip g, hwonpnuljwlnipmbl wdnn t: Mupqg b, np wyn hwenpnuljwlinpjwl
pnnp winwuiGbpp Wko GG wnwohl wlnwdhg, hGshg htmlnid £, np hwonppujwlnipjni-
(p vwhiwlwthwy £ Ghpplhg, ophlwly @, pyny: Mwpqymd k, np tph wjl vwhdwlw-
thwy (hGh Gwl ytplihg, wyw YhGh gniqudtn: Lwlgnilnptl Gugnn hwonpulwlne-
pjnilip uwhiwGwthwy £ ytipthg, huy Gwl Gipplhg vwhdiw Gwthw jhGhne nhwypnid nun-
(nud £ gmquitin: UjuplpG’ 6)dwphwn E htnmlgwy pinptidp (npp YplngniGhlp wnwig
wujwugnijgh):
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C:-: (@tnpkd 3: Unlinypnbi L vwhdwlwhwl) hwonppuljublinipynilip gniquidkp t::‘

Ptiptilp pinptdh th yhpwenipynel: Ghnwplyblp

a, =1+l+l+m+i, n=1,2,..
11 21 n!
hwonpnuwlnipjniGp, npntn 7! -p (Qupnugynid £ 7 pwyumnphwy) 1-hg dhGsk 7 pn-
np pGuwlwi pytph wpnwnpyuG t n!=1-2-...-n: Lwbh np
=a,t+——>a
n+l n (n +1)' n,
nmptdl ¢, hwonpnulwinip niGl wdnn k: Ujniu Ynnihg, oqunytiiny
nl=12-..n>2:2-...-2=2"" n=23,..
%,—/

(n—1) hwwn

a

1 1
wn(ynipjnilhg, unwind tp, np uiwjwlwb z-h hwdwp - < F , b
n!

1 1

1 1 1 n-l
a,<2+—+—+-+ :2+2 2 <3,
2n—1 1 .
1——
2
Ltwnlwpwp' @, hwonpnuiwinpinilp Guwl vwhiwlwthwy E: Qiptdl, hwdwdw)l
3-pn ptinptidh, w6 qniquitn k. niGh vwhdwG: Uyn vwhdiwlp GQulwynd GG jwwnp-

(tptl e mwnny [

1

e=lim 2+l+---+—}
2!

n—oo n!

MNupqynui £, np e phyp Gub htnbjw) vwhdwa k.

nr e=1im(1+l) : J
n—oo n

Uju hwywuwnpnipynilp sklp wwywgnigh: Ltlp dhwjl, np e -G hpwghnGwy phy L,
nph wnwohb GhotinG GG

e=2,718281828904590...:
<twmwpnpphp . Gpb, np, Gepdinioytiny «plnuwdklp» npytiu th hwonpnuyjwlinipjub
uwhdw(, e phyp, hGywbtu YubuGhlp hbmwaquynid, juplnp wbn £ gpuynd dwptidwnmh-
Juwlwl wlwihgnid, wylwtu, hGywbtu © phyp tnwblniGuwswihnipyjul dte: Uwulwyn-
pwwbiu, quplnp nbip G0 fjuwnnud e hhipny wumhdwlwjhl b nquphpdwlwub pnily-
ghwbpp:

I hpdpny nquphpdl wljwlinid kb pliwljmb hpdpny jnqupppd L lrw-
lGwlhnid kG Ina, wjuplipl’
Ina =log,a:
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cd

1.

NSk wd

8.
9.
10.
11.
12.

Swuljuugli] Gp puup
6"np GG wumd, np @, hwonppuijuinpjul uwhiwGl ¢ phyat:

0°p hwonpuyuwlnipyniG6 L6 whjwimd gnigudtn:

N°nG E wGybtpg thnpp hwonpnuwlnipjwl uwhdwn:

Qmquut®w L wpnynp hwuwmwwni G hwonpnulwGnipjniGp:

Uwuwgnigtip, np qniquitim hwonpnuwyw lnipjniGGiph gnidwnpnp qniquidbn
Uwuwgnmgtip, np qniquitinn hwonpnujwGnipyniGGtph wpmwnpjuin qnuquibtn t:
Aluytpytp qniquitin hwonpnuwlwlnmpyniGitph hwpwptpnipjwl vwhiwbh yapw-
phipjwy ptinpbdp:

‘Lhipplhg vwhdwwithw®y L wpnynp wénn hwonppujwGnipjmGp:

dlwytpwtip inGnunl hwonpnwlwlnipjul gniquihwmnipjuwb ytpwpbpjwy ptinptdp:
0°p hwonpnuwwlnipymGGtph vwhdwGG . e phyp:

baswt®u b6 Gyubwymy e hhdpny (nquphpdp:

bGsut®n b0 wiywlnd e hhdpny ;nquphpdn:

£

190.

>191.

192.

193.

>194.

Unwownpuiipiikip
G1ltny hwonpnuyw nipjwl vwhdwlh vwhiw lnuihg wwwuwgnigtp hwjwuwnpnipjnt-
Gp:
w) lim 23 =, P lim = =3, Q) Tim 22=1 =1

n—e 1+ 1 n—e2n—1 2 n—e 21 +1

n+l 2n n n+l

Wlim——— =4, wlmZ *Z g, @ lim27_ _».

n—e 4" 4 3" n—ee D DN n—e 2" —1

Npwbiugh a, hwenpnulwlnipjnilp gniquihwh a pyhl, wihpwdbyw £ L pwjwpup,
np uiwjwlwb ¢ >0 pyh hwdwp gnynipjmG niGiGw N € N,np n > N wwjdwlhg
htinlip

a, — a| < & wlihwywuwpnipjniln: Uywgnigbp:

Ahgmp lim x, = 2: Qb vwhiwGp:
n—oo
. S5x, -1
w) lim(x,f +3x, ), ) lim(Zx,f - X, ), Q) lim —~
n—o0 n—oo n—oo xn +1
Qhgnip lima, =1 L lim b, =3:dwpyty lim x, -p, iph’
n—o0 n—o0 n—>oc0
_ 2a,-b, _a, b,-3 _2b,—4
u'l)xn_ an_4 s p)xn_ an+bn s Q)xn_an+l>
) a,(a,+b,) 0 x b, —2a, ) 1-b,
X =—- , n = , xn =
W a, +1 a,+b, b l1+a,b,

Uwuwgnigtip, np qniquitin hwonpnuljwlnipjnilp vwhdwlwihwy E:
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195. Qb a, hwonpnuyuwGnipjub uwhdwbp, Lpt’

U.l)an:n_l, p)a m’ q)an:ﬂ,
n+l1 n n
Ya,=3-27", h)an:—3_”+n—+1, Qa,=52%+n"
n

* 196.0quytny vnlnnnG hwonppulwlnipjul ququihnnpjwl Jpwpbpjw) pnptivhg
wwwgnighip hwonpnuuGnipjul qnuquihnnipynilp:

w)a, =37 +37 4+ 4+37", Pa,=1"+22 440",
Q)a,,=% L '+L, I})an=log2(n+1)—log2n,

+1 2n
oui-- 1) -2)

2ﬂ
*197. Ahgnp 0<g<1:

w) Uwwgniglip, np a,, = n-¢" hwonpuljwlnipjniGG hGs-np hwiwphg uljuwd dnlin-
wnnl Guqnn t:

p) Uyugnigtip, np limn-¢" =0:
n—eo

q) Uwugnighip, np Judwjuywl npuué & -h nhwpmd lim 7* - q"=0:
n—oo
»>198. Qulb vwhdwp:

) 1 —n ) 1 2n
w) lim| I+= |, p) lim| 1+~ | ,
n—o0 n n—eo n
n 1 —2n+1
Q) lim(3+l)(l+l) ) n) lim(1+—) :
n—sco n n n—ee n

(=, YpYincpywi hunfwp
Ln1ot hwjwuwpnudp (199-200).
199.w) In(x+e)+Inx=2+In2, p) In® x+Inx-2=0:
200.w) 73 = 10, p) e +5¢"-6=0:

§8. UwhdwlGhph hwyfdwb opplullkp

Uju wwpwgpwdpnd yphilGwplhtlp vwhdwGltph hwyyiwl wnwyt] hwiwju
hwlnhwnn tnuGwyGbn:

OphGuwl 1: QuGkGp htnbyw hwenpnuwlnipjwl vwhiwGp.

n’=2n+1 .

a =——:
2 —n*+5

n=
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n plwlwl wpgnuiblnny nwghnGw] wpnwhwjnnipjwl vwhdwlp hwytint hwdiwp
Ynunnpuyh hwiwphs G nt hwymwpwpp pwdwlnd GG Ynnnpuynid 7 -h wikGuwdbo wu-
mhdw(hG: SYjw) nhypnid nu 7’ -G t: UnwGnud tGp.

2 1

D= s

2——+—

) 1 15 n n

Lwlhnp — ? + ? b — += hwonpnuljwlnipyniGGtpt wlybtng thnpn tl, ntunhp
n

lim(l—%+%)= 1, lim(2—l+%)= 2.
N—>c0 n n Nn—00 n n
Uhpwntiny gqniquibtn hwonpnujubnipynGGtph pwlnpnh Jbpwptipyu) pnpbdp’
unwlnd tGp’
. on’=2n+1 1
lim =

"%w2n3—n2+5_5: 1
Nuwmuwujuw G 5 :

Yy n’ +1001n
OphGwmly 2: QnGtlp vwhiwlp ilil}om :

Uju ntiypnid 72 -h wikGuwdtd wumhdwbp 4 -6 £: {bunlaupwp’

1 1001 .. (1 1001)
+ i

; = mf —+—

. n+100ln . 5 3 noeln on

lim — =1 0 10

o 10 T lim(1+4)
n

n—>o0 n

=0:

0
1

MNuwuwujuwb 0:

Ophlwly 3: Uywgmgtlp, np a, = 1/1+l hwonppuwlnipjniGp dquumd £ 1-h:
n

bpnp . .
( 1+_1]( 1++1)
n n 1 1
a,—1= =— : :
( 1+1+1] " 1+—+1
n n
Lwlh np ;<1 Ll hwonpnujwlnipyniGh wiytpe thnpp k, mpbdG a, —1,
J1+1/n+1 n

ne N, hwonpnuulmpn 6 wGytpg thnpp t: Lbmlwpwn’
1
lim | /1 +—=1:
n—oo n
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OphGwl 4: QwnGtlp a, = Jn+1—+/n hwonppuljwGnipjub uwhswp:

U6 nhiwptinnid, tpp qnpo niGlp tpynt wpdwnGiph mwppbpnipjwl htin, hwpdwp
E hwonpnuwlwlnipjul wlnuiltpp puqiuwwuwwmyt) b pwdwib; wyn nwppbpnipjuwb
19onnnhG, wyuhlpl® GnyyG wpdwwmGbph gnidwnphG: Uyu nhypnd junwgyp'

(i) i)

" Jn+1++n _\/n+1+\/;:

a

a

n

1
< E: {wpyh wnbbny, np L hwonpnwlwlnipyniGG wlytpy thnpp

Jn
lim(Vn+1 -+ )=0:

n—oo

Ltunlwpup’
E, unwlnd tlp

MNuuuujuwb O:
Oppliwml 5: GunGhGp a, =vn* +n—n hwonpuwnipjul uwhiwbp: Gwp

(mﬂ(mﬂ

Jynt+n+n ynt+n+n

_ n
a, =

UjGnihtinb, hwdwnphyG nt hwynwpwpp pwdwlbnyg 7 -h, unwlnd Glp’
1

1/1+l +1
n

a

Ltumlwpwn (mbu 3-pn opphGwyp)’

. 1 1.
lima, =——==:
n—co . 1
lim 1+~ +1
n—oo n l
MNunwufuw b 2 :
a,+6
OphGuwl 6: GGpunptny,np a, =1, @, = wlnpunund puGuwdlng npjud

hwonpnulwlnipynilp qniquuibtn k (hwingytp hGplnipniyh), qubhlp Gpw vwhiwbp:
Vwlwytim] x = lima, L hwyyh wnllnyg, np lima,,, =lima, = x, unwnd Lip
n—o0 n—yoo

n—oo
x+6
xX= hwjwuwpndp, npntinhg’ x =2 : {tmlwpwnp’ lima, =2:
n—oo

4
Nuunuufuwb 2 :

cd Swuljuighi] Bp nwup

1. Blywyb®u b6 quind nwghnGw] wpmwhwjmmpjudp wmpynn hwenpnujwlnipjwl uwh-
dwlp:

2. bhlyyb®u b6 qubnid wpdwwnGiph wwppbipnipym G wupnGuwyng hwenpnuwinipjwG
uwhdwlp:

3. bhGywyb®u b6 qulnd wlnpunupd pwlwdlng wpdnn hwenpnuwwlinmpjwl vwhdwn,
tipt hwjwmGh £, np wjG qnynipjniG niGh:
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% Unwouippuiipibip
201.9wmtp a, hwenpnulwlmpjwl uwhiwbp:

2n+1 dn-5
m) = 9 p) = H
" 503 T 813
_5n—Jn-3 _3n+5¥n -8
Q) a,=——m——, na,=————:
n+2n +4 2n—3Jn +9
202. Quntip uwhdwGp:
3 2 4
w) lim4n 3+3n —200’ p) lim S5n —1’
n—oe 2n” —2n+12 n—=ep—2n
. 2% —n? . n® -1
q) lim————— | n) lim—————:
n—= 2 —4n®” +1 noepd —pd 41

203. Uywgmgtip, np hwenprpujulnipniG6 wiytpg thnpp t:

w) n—1 ) n'* —n" Q) 1—n3+n.
1+n?’ n'' —2n"’ n*+n
»204. Qutip uwhdwGp:
w) lim(\/n+100—\/;), p) lim(\/n2 +1—n}
n—yco n—>00
¢) lim Y1E2=Vntl ) tim(Vn+1—n)Vn—1:
n—oo ’I’l + 1 — \/; n—yoo
»>205. QhntiGwiny, np @, hwenpnulwbnipjnilp gniquihmnid b gpulwb pyh, guntip wn
phup:

w) a, =05, a,,=a,2-a,), neN,

n

p) a, =4/27, a,.,=%27a,, neN,

Q) a]:4’ an+]:1(an+l7J nGN:
2 a

n

* 206.Uwwgnigtp, np @, = J5 , 4, =+5+a,,ne N, hwonpnuljulnmpjnilp gniquitin
L L qutip Gpw vwhdwGn:

[ yplime i hunfwp

Lniotp hwjwuwpnidp (207-208):
207.w) {2x+2+3=x, P \x248 =2x+1"
»208.w) 3x® —16x +16Vx> —2x—3=0. ) (x> +x-2x’ —x-2=0:
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I

dnialjghuh wiupuphwwmnipniip:
Swiugjuy

§1 H)nlﬁllgl““]]‘ ulﬁnﬁll.hlumnlla!nlﬁn

Lunwyniunt Jwytiptup qunbGtint hwdwp wihpuwdtyw E yuthty Gpu Ynnih Gpyupne-
pnilp L hwpyt) npw pwnwyniuhG: bhwpyt, dwybptuh wpdbtph G)qpumnipjniin Yutu-
Jwo k Gpulhg, pb nppwln®y £ dhpw swihywd Ynnih tpupnipyniGp: Mupg t, np pw-
nwyniunt Ynnuh thnpnp thnthnfumpjwG nhwypmu Gpu dwytiptup phy L hnfugnid: <tnlow-
pun’ tph Ynnunp swihtijhu pnyp mpgwo ufuwp thopp £, wyw dwlytiptuh hwdwp uvnwg-
Jwo wpdtipp phy L wnwpptipgmd dwytintuh hpwuw6 wpdtphg: UyuhGp6 Yupth L wut,
np pwnwyniunt dwtiptiuG wGplnhwwnnpbG L juhujwo Gpu Ynnih tpupnipniGhg, fud
pwnwniunt dwltipnbiul wGplinhwwm $nlGlghw t Gpuw Ynnih tpupnpniGhg:

"2 Uunid kG, np [ Ppnilijghwb wlhplinhwp b hp npnpdwli phpnyph x, G-
ypnid, kpk [ -h npnpdwb phpnyph Judwjwlwb x, hwonppuwlwblinipjub
hwdwp lim x, = x, wwjdwbhg hliplinid k, np

lim £ (x, )= f (x,) (1)

Uwhiw(h vwhiwldiwl hwiwdw)G dniGyghwjh wiplinhwnmmpynill x, Ytwnnd
(pwlwymy £, np juiwywlwb £, widtipe thnpph hwdwn

Yn =f(x0+hn)—f(x0)

hwonpnuljwlnipjniGG whytpg thnpp £ (Gpt x, +h, € D(f), ne N):

LG GJwo t f(x0 + h)— f(xo) nwnppbpnip GG wiwGh) wpenidklipp h wahl
hwidwwwipwupambing pnilifghuwgh wd Guwd wqupquubtu pnilifghuwgh wd x, Yu-
nnid: Uju yuwyjdwlGuwynpyuwonipjuip pniGyghwyh whipnhwnmmpyniGa x, faumnd ju-
ntth L dlwytipyty Gul wjuwbu.

pnilijghwb wliplinhwop b x, Jlpnid, kph wyn hypnid wpgnidkliph wiliykpy
thnpp wahl hwdwwwipwupoublinid E pnilifghwjp wliyhpe shnpp wa:

bhwpyt, $niGlyghwb hp npnpdwl mhpnyph npny Yantpmd juwpnn £ 1hGb; wlpln-
hww, hul wy Yambpmd® shGbg:
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N bnilijghwbi wljublnid kb wlhplinhwyp, bph wyli whplinhuwp b hp npn)-
dwli phpnyph Jwdwjwlwl §hpnid:

OnphGwy, 13, w Gupnid yunybpguwo pntGyghwG whplnhwn t, huy 13, 2 GHupnd
wuwwntpgwo pnillhghwb x, Ynmd wiplnhww gk:

VA VA
Feigt b
gt h) | gt ) -1 )
e LGy = () o [
O] x, xsth X O x, x;th X
w v 13

n
OnphGiwy 1: dhgmp f(x)=2, xe [-1;1]:

[— 1; l] hwwnywoh juiwjwlwb x, Ytwh L wyn hwndwoh' x,-hG dqunn Juiwjw-
Jul x, hwonppujulmpjwul hwiwnp f(x,) =2, ne N, nlunp’
lim £(x,)=2= f(x)
Ltwmlwpwn' f -G wGpGnhwwm pniGyghw k:
{wligntGnpkb Jupnn GGp hwingyby, np
qwdwywlwb pwqdnipynilinid npnpjuwo hwuypuwapnil pnililjghwb wlplinhwap k

OphGwy 2: f (x): x prilijghwb whplinhwp [
bpnp, tipti x,€ R L lim x, = x,, wyuw

n—eo
lim f(x, )= lim x, = x, = f(x,).
n—oo n—oo

Oquytiiny hwonprpuu Gnip juG uwhdwGh hwnynipynGGkphg” funptih £ wwyugnmgty,
nn G2dwnphwn £ htnbyw) wlnnuip:

& Ulplinhwop prilijghwbkph qnudwpp, ypwppbkpnipynibp, wppunpyup,
pulinppp L hwdwnpniypli whplinhuwip prnilijghwbbp LG:

Uyuhlpl tpt f L g $milyghwlliphg jmpupwlsnipl wiplinhwwn t hp npnpdwd

whpnijph poop Yhnbtpod, wyw f+g, f—g, f-g L i PnlGlyghwbtinG whplnhwwn
tl hptiGg npn2dwG mhpnypGtph popnp Yhnbipnd:
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Uhpwnting dwptivwmhluwlwl hGnnmyghwjh dtpnnp wyjuntinhg JunwGwip, np
yJtpowynp pyny whplnhwwnm pnilGyghwbtiph gmiwnpl wiplnhww L (wuywgmgtip hGp-
GnipnyyG):

m Lhwbwlp 1: <wuipuoapnibp b whplinhwp pnilijghugh wppungpyugl
‘ wliplinhuwp pnilifghw E: J

o <tnlwlp 2: Ywdwjmhwb P(x)=a,x" +---+a,x +a, puqiwlbpui
‘ wliplinhuwp pnilifghw E: J

bpnp, pwih np f(x)=x $mGYyhwl whpGnhwyp b, nptdG wlpGnhwy GG
x, x>, x°,... $nGyyhwllpp, npwtu wlpGnhwyp $niGyyhwbbph wppunpyuGtp:
<wdwsw)G 2-pn hpbwbph whplghwg 66 Gwb g, x*, k=12,...,n U a, PnGhyhw-
Gtpp U, hbppbwpwn, Gpuly gnidwn P(x) pwqiwlnwdn:

Luwlh np whplnhwwn $niliyghwltph pwlnpnl wlplnhwwm pnGyghw k, wjunbnhg
Yuunw Guwlp.

o <bhwnlwlip 3: lwghnblivg wpypwhwypnipjudp ppygny

k
R(x): a,x +~--+a1x +a0
b,x" +---+b,x+b,
Ppnilighwbi wliplinhwp E:

Ophéiwy 3: f(x)=——

‘LoLGp, np y=x3 L y= x? =1 $mbyghwltipG wiplnhwwn L6 wipnne pywjha

$nlyghwl whplnhwwn t:

wnw(gph Yypw, huy Gpulg hwpwptpnipyniGp” £ pniGyghwG, wlpGnhwwn £ hp npnpdw G
whpnypmd, wjuhlpG tpp x #+1:

cd Swuljuigli] Bp nwup

. 6 pptbGwumd,np f: X — R $nGyghwl wiplnhunmt x, € X Yhunnud:

2 0°p $pmGYghwa t Yngynid whpGnhwwn:

3. Ptpbtp wGplnhwwnm $nibGyghwbtph opplGuyGtin:

4 b°G36 66 wGywlnd wpgnustGunp 2 wshG hwiwwywnwufuwlnng pniGyghwh ws x,
Ytunnud:

5. Quulbpwtp x, fawnnd $nillyghwjh wlplinhwnmpiniGl wpgnudtilmp L $nibGlhghwjh
wdtph mtpdhGGepny:

6.  b°Gs Junpnn bp wub wiplnhwwn $mGyghwGbnh gnidwph, mwupptpnipjuG, wpuwnpyugh,
pwlnpnh nt hwdwnpnyph wlpnhwnnipjwl dwuh:
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£

>209.

210.

211.

Unwouippuiipibip

Uwugmgtip, np f(x)= |x| Pnillyghwl whplnhwwn £ w) x, =1 Yy, p) x, =0
Jtnnd, q) judwjuyuwl Yhnmni:

Uwwgmgtip pnibGhghwyh wlplinhwnmpmGa x, hnn:
1
w) f(x)=x% -1, x, =1, p)f(x)=m,x0:2,
Q)f(x):ﬁ, %, =0, D F(r)=x =2 x, =1,
1 1
b) f(x)=—=, x,=1, qQ f(x)= , X, =8:
Jx NET R

Quntip wpgmuitGnp /2 wéhG hwiwwywwnwuuwbng £ $mlGyghwih wél x, Yhnnd,
tipt’

4
w) f(x)=2x>-1, x,=3, h=-02, p)f(x)=m, xo=-3, h=0,]l,

2 27 T T T
= = — h = — = = — h = —_—
Q) f(x) Cos” X, X, 3 R 1) f(x) tgx, x, 3’ TE
212. Qubtip wpgnuitGup 2 wshG hwiwwwwwufuwlng f $nlyghwih wdl x Yhwmnd,
tipt’
2 3 1 )
w) fx)=x*.  p flx)=x", Q)f(x):;a m f(x)=x:
213. Oquytyny Guiunpn wnwownpulphg wujugnighp X, X, % L \/; $mGyghwGhph
wplnhwnnpymGn:
»214. Uyugmgtip, nptipti f $mGyghwt wlplnhun b, wuyw wipnhun t Gule g HmiGyghwd,
npubin’
w) g(x)=s7(x), P g(x)=f"(x),
_ 1 _
Q) g(x)—m, 1) g(x)—\/fz(?))’
_ _ fx)
t) g(x)=|f (). Q 8(X)—W-
215.Junpuwlwpnh x Ynnpuuwgbp £ 2 wd: Gubp ;nhy dwybtplingph wép:
[, YpYincpywi hunfwp
Lniotp hwjwuwnpnuip (216-217):
>216.w) \3— 2x log, (x~1)=0, P) Jx—4In(x—5)=0:
217.w) log, ,(3x+1)=2, 1) 10gx(6+x_x2):2:
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§2. Swppuljub $mblhghwbhpp wbpiphuwmmpnbp

Uwptivwmhluuwl wlwhgnud yuplunp Gaubwynipindd niGEG mwppuljub nily-
ghw(tpn:

y2 1) f(x)=b hwuypmpnil prilhghwb puppulmb pniblghw b

2) f(x)=x Pprubihghmbi puwppwlmb prniblgphuw k,

3) wmuphdwblimgpb, gnigsuwjpli b jnquphpdwliub pnilifjghwbbpp pwppwlud
Ppnilifghwilikp ki,

4) krwdilpynilimswhwlub L hwlwnwpg bnwbljyniGwswpwlub pnilijghwbbkpp
(y =arcsinx, y=arccosx, y=arctgx, y=arcctgx) jpuppwlmb pnililj-
ghwilikp ki,

S) puppulpul pnilijghwbbph gnudupp, wppugpyup b pwhnpyp puppu-
wl pnilifghwbibp LG,

6) jpwppwljwbl prnilijghwmblph hwdwnpnijpp puwppwljub pnilijghw k:

Uju uwhtw(niihg hnlmd b, np yudwjwlwi P(x)=a,x" +---+a,x +a, pug-
dwlnwy wnwppuliuwl $niGlyghw b Swppwlwl dnilyghwbbp G0 Gl sin(x2 —1),
tg(lnx), arcsinx++/x Pnlyghwabpp:

OphGwl 1: w) y=+/x $nilyghwl mwppuywé t, pwihnp vx = x"2, huy y=x"
wunphdwlGuwjhl $nGyghwl muppuul k:

p) y=lxl $nlGyghwG mwppuwlwb t, pwGh np wjl u(x)=x2 L v(x)zx/;
wwppwlwl Hmiyghwtnh hwswnpnypa t [y =x” :

x, tph x>0 0, ipti x>0
Q) Hhgnp f(x)= P , g(x)= P - Wyu $miGyghwbtpp
0, ipt x<0 x, iph x<0
x+1xl _x—lxl
nwppuuwi b6, hasphtnlmy t f(x) = L 8gx)= Y hwjwuwpmpmGGhphg:

n) y= 3 x pmlyghwl wuppulpu b, pwth np

Ve=[fm]” -[e@]”,
nptn f L & PnilGyghwlpp vwhdwGwo GG Guiunpn Yhnmnd:

Upntl qhntlp, np hwunmwwniG pnilyghwb b f (x)= x $nllghwl wlplnhwwm
PnlGlyghwtin GG: Waplnhwwnm pnbGlyghwbtin GG Gwl wunmhdwlwjhl, gnigswjhl, nqu-
phpiwua, tnwGyyniGusuthwlul L hwjunupd tnwGyyn Guyuthwlul pmayghwit-
nn: Lwoyh wnlbmny, np waplinhwwnm $mGyghwlbpnh gnidwpp, wpunwnpjup, puwinpnp b
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hwiwnpnypl whplnhwwnm pniGlyghwbtin GG, Ggpuyuwglinw tGhp.

<:-: panp uppudiub pnilifghwbhpl whplnhup i: >

Ulplnhwwm $niGlyghwbtinC nilGbb gh 2w Juplnp hwnynipyniG, npp dLwtpuynid
L htnlywy Ybpw:

%5 @bnpbd 1 (Ghowllyjwy wpdtph yepwpbpywy): thgnip [ priblijghwb

‘ wliplinhwp b [a,b] dhowlpwypnid: Uyn nbwypnid juwdwjwlywl C pyh hwdwp,
npbi plijwo b f(a) & f(b) pykph dhol, gnympynili nibip wyliyghup c < (a,b),
np f(c)=C (GYy. 14, w):

YA

f(®)
VA

C
S(b)

f(a)

0] a c b ? 0 a c b ?
Sf(a)
w ul. 14 r

Uju ptinptidp, npp YplnniGtlp wnwlg wuyqugnigdw(, puguwhwjmnnd EwGplinhwwm
$nGyghwbtph yuplnp hwnynmpymGGatphg dkyn. tipk [a;b] vhowlwjpnii wnplnhwn
$nGyghw b wyn hwnJwoh owjpwytmbpmd pymbnit A L B wpdtplGtpp (A< B),
wwyw [A, B] dhowlwjpl wipnnompjwip pGlwo & pmbGyghwyh wpdtipltph pwquinip-
Jwl ut9:

Uwulwynpuytiu, tipt pniGlyghwl hwnyjwoh owjpuybtntinhg dkynd (hGh pugu-
uwul, huy Wynumd’ gpuyub, wyw hwnywoh npuk finnd w6 Ynpunbu gpn: Uju
thwunn dlwyipyyuwo E hweonpn ptinptidnud, np6 niGh puquiwphy YhpwonipjniGGbn:

== Otnphd 2: Epk [a,b] huwpwonid whiplinhuwp [ pnilijghwb a L b
hbwyphpnid plinnitinid | ypuwpphp Gwbh wpdbplibp, www qnjnipynili nilip wyb-
whuh ce (a,b), np f(c): 0:

Gnypwswihnptl wyu pinptiip Jupth £ dbyGwpwlt] hbnlgw) Yopy.

kpk [a;b] hwpduonid whplinhwp pnilijghwgh quuphhh owjpwllpbpl
wpughulibph wnwligph pwppbp §nypdbpnid b, wwyw wjl huwapnid b wpughulibph
wnwligpl (a,b) dpowluypnid (GY. 14, p):

OphGwl 2: 8niyg mwbp, np 272 =5x? 4+ 2x + 3 hwjwuwpniip (0;1) dhowjwj-
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pnud niGh gnGt Uty wpdwn:

Qhnwpytbp f(x)=2""? —5x* = 2x -3 $mbyghw: UG whpGnhwwn t [0;1] dh-
owluwypnid, b £(0)=1>0, f(1)=-2<0: {wdwduwyG 2-pn ptinptish, (0;1) Thowluy-
pnid Yw wjlGuyhuh ¢ phy, np f(c)=0, wjuhlpl’ ¢ -G mpwo hwjwuwpiwb wp-
dwun L

cd Swuljughi] Gip puup
1. 0°npmGyghwltpG GG wGgwlmy mwppuljui:

2. Upnyn®p muwppuul $pmGyghw t y = |x| ImbGyghwd, y= \/; InmGlyghw:

% Unwiouippuiipibip

218.pdwdynptip, np £ -p mwppuyul $niGyghw t L qutip npw npnpdwG whpniypp.
w) f(x)=x+sinx, P f(x):Lx_l»
sin x
Q) f(x):ln(x+1)—%, n) f(x)=arccos(x+2):
219. pdGwynptp, np htnbguy $niGyghwbtpp muppuyw $nGyghwbbn Ga.
w) y=4/x, p y=¥x. q) y=sinjx,
r})y=|tgx—2|, h)y=\/m, q)y=ln\/;:
220.<pdGuynptip, np G24wd showwjpnid hwjwuwpndG niGh gnl UGy wpdwn:
w) x* +5x2-7=0, [12] p) x*+6x° —1=0, [01],

T
q) 2cosx—x =0, [05] 0 In(x+5)-5x=0, [-4;4]:

[ Yplyinepywi hunfwp
»221. 6ptip pwlynp wuwwnbinyg ShwuhG' tptip opnid wywumpwuwnmy GG 129 nhwuwy. pln
npnud, wnwehbp tpynt opnid Wwwmpwuwnmd £ wylpwl nhivnwy, nppwl tppnpnp’ Gptip
onnuy, huly tpypnpnnp hhGq opnid yuwwnpwuwnnid £ wyGpwl, nppuG wnweohbp' Ytg opnud:
Lwlh” nhnwy Eywumpuwummy tpypnpn puGynpp gk opnid:
»222. Gptip mpwlunp wpfuwwnbing ShwuhG' snpu opmy Jupmd GG 248 hw: Gpypnpn npwy-
wnpp bpynt opnud Jupmd 2 hw wuwu, puG wowhln U ippnpnp uipnud 66 ShwuhG
dty opnud: Gppnpn mpwlunpp 5 opnd Jupmud £ wylpwl, nppwl tpypnpnp 6
opnud: Opw w6 pwGh® htiyuwp Eupnud jnipupwGsymp mpuumnpp:
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§3. UGpuppuiht wpumgmpmb b wpugugnud

G-hunbilp, np hwunmwunn G wpwagnipjudp Jwnpdynn dwpdlGh wpuwgnipyniln hwjw-
uwp E npnwijh dwdwlwynid Gpuw wligwd dwlwwwnphh b wyn dwiwGwlh hwpwpb-
pnipjulp: UnuyG pGnipyul dbe dwupdhGGtpG wybih hwdwfu pupdynid G6 ny hwjw-
uwpwywth: OphlGuwy Giuwwmwo YihGhp, np dbptilGwjh pupddwl pipwgpnid Gpu wpw-
quswthh gniguiniGp G wiplnhwwn thnthnfuynid E: StuGklp, pt hGywtu unpbh Enpnpty ny
hwjwuwpwswth Jupdynn dwpiGh wpugnipyniGp:

“Qhgnip Gympwlwl Ytwp pupdynd E ynnpphGuwnwghl mgnny dwjuhg we s(t)
optiipny, wjuphlpl’ dwiwGwlh ¢ wuwhhl wyl qubGynd L s(t) Ytunmd (0<r < ):
Qun(tlp 7, wwhhG V(to) wnpwuagnipjnilp:

Utinp ¢, g ¢, + A dudwGujuhwnguwond wiglnid E s(l‘0 + h)— s(to ) Gwlwuwuwph:
Uyn dwdwGwwhwmywomd Ytwnh dpgpli mpmqnipynilip yihGh

sty +h)=sto)
P :

Unwohl wupwgpudpnid s(to + h)— s(to) dtonipyniGG wijwlby tap wpgnuitilnp

h wehG hwdwwwunwuuwlng s(t) $niGyghwyh wd ¢, Yhnnd: dwuwnmnptG -2 dwdw-

)

(wlywhwwnywonid Ytumh dthohlG wpwgnipiniGG wyn dwdwlwyuwhwnyuwomd «dwliw-
wuwnhh wdh» hwpwptipnipyniG6 E «dwdwluyh wshi»:

Mungq t, np hGspw thnpp (hGh /2 dwiwlwlwhwnywon, wjlpwl Jhohl wpwqni-
pynilp inw YihGh ¢, ywhhG ytmh V(to ) wpwqnipjulp: UyuhGpG’ whytpg thnppwglb-
ny 2 dwiwluwwhwunyuon, Yunnn Gip vnwlwy YEnmh §2qphun wpwgnipjniGp £, ww-
hhG, npl wijuwimy GG whlipwppwhl wpwqnipynil: Ujuyhuny Gympuul Ytnh
wlGpwppwjhl wpwqnipynilp ¢, wywhhG npnpynid £

V(t0)= lim S(to + hn)_ S(to)

n—s00 h,

pwlwalny, npntin £, -G wlytpg thnppt (4, #0, ne N):

OphGuly 1: Qhgnip ninnugho 2wndynn Swpdhp Qwpddwl wenwehl ¢ Juypljw-
Gnud whglmu k S(t) =3t> +2t utinp dwlwwwph: GnGhlp dwpdbh

w) UhohG wpwqnipjniGp [10; 11] dwdwlwywhwwnywonud,

p) wyGpwppwhl wpwgnpyniGp 10 -pn JwypyjuwGh,

@) whGpwppuwhl wpwgnpymbp 11-pnJwipyjulha:
w) UhohG wpwqnipjniGp pupddwG 11 -pn quyplyubnd ([10;11] dwdwluyuhwnyw-
onud) YihGh
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w:s-u%z-n—moz
1

P) ‘Hhgmp A, -G wytpg thnpp t: Ujn nhiypnd

—2-10=65 WApy):

s(10+h,)-5(10) 3-(0+h, ) +2-(10+4,)-3-10*-2-10 _
h h

_62-h,+3-h]
h

n

=62+3h,:

Lwlhnp 62+ h, — 62, Jwmilh wllipwnppwjhl wpuqnipjnilp pupdiwd 10 -pn Juynly-
JuGhG 62 dAIpY t:
q) LwlgmGnpbl fuumw Gwlp

s(L1+h,)-s(11)

=68+3h,

niunh dwpdGh wyGpwppwjhG wpwgnipjnilp pupddwG 11-pn ugplyuGhG 68 WAny t:
bGswtiu mbuwlp, twpdhlp pwpdynd £ ny hwjwuwpwswih: ‘Lpw thehG wpwagnipjnilp
2upddwl 11 -pn ujplywlnd wybiih dto L, pwl wlylpwppuwjhl wpwgnipyniln 10 -pn
JuwyplywGhG b wtigh thnpp, pw wybipwppwjhG wpugnipyniGp’ 11-pn JuigpljwGhG:
Uydi iipwunnptp, pt Gynipuul Ytnp pupdynud L ynnpnhGuwumwyhG ninnny L hwjnmGh

L dwiwlwyh judwjwlwb ¢ ywhhb Yanh V(t) wpwqmpjnilp: Gnlhlp 7, wwhhG
ytwnp a(to) wnpwqugniip:

Utinh wpwgnipjul hnthnfumpjniln 7, -hg ¢, + 2 dudwlwjuwhunywonid YhGh
V(t0 +h)—V(t0): Ltnlwpwn' wyn dwiwlwwhwunuwond dhghli wpwqugnidp
YthGh*

Vi, +h)=V(,)
h

UGytpe thnppwglting 4 dwdwlwjwhwnywop Junwlwlp Ytnh 62qphn
wpwaqugnuip f, wuwhh(, npl wiguind GG whlpwppuyhli wpuqugnod: Ujuuhum]
(jnpwlul fnh whlpuppwjhl wpugmpynilp 7, wwhhG npnpynud &

Vit +h,)-V o)

a(to ) = lim

n—oo

pwlwdlny, npntin A, -G wGgtpg thnppt (A4, #0, ne N):
OphGuwly 2: 9hgnip niqnuqho pwpdynn YwpdiGh wpuwgnipmbn wpddwl # -pn
JuyplywGhG npopyms £ V(E)=1" +5¢ (AlpY) pwlwdlny: Qnlblp SwpdGh'
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w) Uhohl wpwqugnuip [4; 4,5] dwdwlwlywhwnmyuonud,
p) wylpwppwjhl wpwqugniip 4-pr Juypljubh:
w) Uhohl wpwqugnudp YihGh®

V(4,5)-v(4)

03 =2(4,5° +4.45-4% —4.4)=5825WA|nL):

) “thgmp A, -G wytpg thnpp £: Wy nhugpnud

V@+h,)-v(@4) @+n) +4-4+h)-4"-4-4
h h

_52-h,+12-h] +h
h

n

=52+12-h, +h’:

LwGh np lim(52 +12-h, + hf )= 52, JupiGh wyGpwppwjhl wpuqugnuip 4-pn
JuyplywGhG 52 sApY2t:

cd Swuljughi] Gp puup

1. Plywbt’u bl quiGmy hwjwuwpuwswih pupdynn SwndGh wpugmpyniGn:
2. blyyb®u bl quGnid wpdGh dhohG wpuqnipymGn:

3. bhGywyb®unpnpty s(t) ontilipny pwpdynn dwpiGh wllpwppwjhl wpwgnipjnilp 7, wyu-
hhG:

4. bGsututl quimd dwpdGh wylpwppuyhl wpuwgugnidp, bpt hwynGh t, pthGs optiGpny
L thnthnfuynud Gpuw wpwqmpniGp:

% Unwownpuipiikp

Qntip s(t) optilipny pwpdynn JwndGh dhohlG wpwgmpmbn A dwdiwGuwlwhwnywomyd,
tipk dwGwwwnphp npgwo k dtnptpny, huy dwdwGwyp’ JupyjuGatpny (223-224).

223. 5(1)=21%, w) A =1; 2], p) A=[1;15], Q) A=[;12]:

224, 5(1)=32+1, w A=[23], pA=[2:225], qA=[221]

Qanbip s(t) optiipny 2wnpdynn dwpiGh vhohG wpwgmpnilp A dwdwGwuwhwnyjuwonmy b
wyGpwppwjhl wpwgmpjnilp 7, wwhhG, tipt Gwlwwwphp wpdwo b dtupbpny, huy
dwdwluyp’ JuyplywGabpny (225-226).

225. 5(t)=61+75, wy A=[0;2]. 1,=1. pA=[:4].1,=2:
226. 5(1)=1*, wA=[46], 1,=5,  mAa=[25] 4 =2:

Qantbip twmiGh dhohG wpuqugnip A dwudwGwjuhwumjuond LwyGpuppughG wpuqugmin
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to wuwhh(, tpt Gpu wpugnipniGp thnfuynid £ V(t) optilipny (227-228).
227. V(t)=2t +3¢’ w)A=[0;4], 1, =4, pA=[34] 1,=3:

>228.V(r)=1+61, w) A=[56]. 1,=55. »A=[46] 1,=5:

[ ypljimue i hunfwp

»229. A L B Juyptiphg shwdwiwGuy shijwlg plnunwy pupdytghl tpynt dnunghlyjw-

Jun: Unwohlp B hwuwy hwlnhwynithg 2,5 ¢ wlg, huy tpypnpnp A hwuwy hwGnh-

wnuihg 1,6 ¢ wlg: Lwlh® dwd wmltig ympupwlsjnip dnuinnghljuywph niglopnipmGp:

»230. A Jwjphgntiwh B Juyppnnipu tluy pinGwwnwp dhphtw: UhwdwdwGuy B -hg A

2wndytig ywpnuwnwp dhphlwb: AtnGunwpp 1dwlg hwinhybg SwppuumwphG b bu

1,5 d wlg hwuwy B Jwyp: Nppw”t dwiwwy dwuubg Swpnpunwp dtptGul B -hg A
GulwuywnhhpG:

§zl . U.:Tulﬁgllul

hGsytu mtuwlp Guhinpny wuwpwgpupnud, dnilyghwjh wsh b wpgnuitiGnh wdh
hwpwptipnipjul vwhdw (6 niGh npnpwyh phghyuyu b hdwuwn:

Qhnwpltlp y= f (x) dnmlyghwi L Gipwnpblp x,-G npw npnpywl whpniph
(tipphG Yt E, wyuhlpl Yw x,-h 2powluyp, npG pGywo b D(f) -nu:

v4 Uunid b, np [ Pprulifjghwb wowmbghip b x, Yhpnid, kpk judwjwlwb
h, wlijkpg thnpph hwdwp' qniquidbyp |
fxo+h,)= f(x,)
3 (1)

n

hwonppuljwmbinipjnilip:

Cpk [ $malyhwi wowbylih b x, Yhypmd, wupw (1) hwgnppululine-
pjuli wwhdw Gl wljwbinid bkl f pnililjghuyh wowligyuwy x, fhypnd b Grw-
whnut f’(x,) (qupnugynid £ £ puphlu x,).

£7(x,)=lim S g +0,)— f(xy)

n—yoo hn

Qhgnip D -0 wj6 puqinipyniG6 E, nph Yanbpmd y = f(x) ImGyghwl wowbgtiht:
Uyn pwqinipjuwl jnipwpwlyynip x Janh hwiwwyuwunwufuwGhglbmny f '(x) phup’
Junwlwlp D pwqinpinilnd npnpywo pnibGlyghw: Uyn pnlyghwl wigulnd GG
y = f(x) $mbyghwyh wowbgyuy b Gyulwynd £ jud y':

" Uyuntin L wnnpl nhuwpyquo 4, wGytpg thnpptinG wyGwhuh b6, np juiwjwlwl 7 -h nhiypnod
h,#0 L xy+h,e D(f):
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‘Lwunpy wuwpwgpudmd wmtuwlp, np wowbgywil niGh htmlywy phqhfwlmb p-
dwuiplikpp.

== w) s(t) opklipny nignugho rmpdyny dwpdbp V (t) wpwqnipynilip dw-
dwlimlh t wwhhl hwjuwuwp b s(t) pnbiljghugh wowligyuhi.
V(t)=s'(t):
p) Epk nigquqho pmpdyny dwpdliph wpwqnipynibip thnpunid E'V (t) opklipny,
www dwpdbp a(t) wpwqugnidp Jdwdwlwlh ¢ wywhpl hwdwuwp V(L)
Pnilifghwjp wowligyuipi.

a(t)=V'(t): /

OphGuwl 1: QunGkGp f (x)= ¢ hwunwwnma $ImGYghwjh wowbgyuyp:
buwiwjulul x, fanp b judwyjwlub 4, wiybpe thnpph hwdwp
f(x0+hn)_f(x0) a_az()'

h h

n n

<bplwpwn hwvpuwgpniee prbijyhugh wowbyjugp ypn k:
OphGuly 2: QnGhGp f(x) = kx + b qowjhG $mbGyghwjh wowlgywin: Gudwjuyub
x Jtwnh L juiwjwlub A, widtpe tinpph hwdwp

flcth,)=f(x) _ k(xth,)+b—(ke+b)

=k.
hn hn '
Lbtmbwpup,
(kx+b) =k :
Ophfiwl 3: QunGklp f(x)= x> PnbGyghwih wowbgjwip:
MNupg £, np
+h ) +h Y —x*
Plerh)-g)_(enf -
h” h” n
npunbinhg unw (nwd tlp
(x?) =2x:

1
OphGwly 4: QnGtGp f (X)=; $niGYghwjh wowlgjwin qunjhg wwpptp x Yb-

nnud: Uju nhiypnid® 1 1

fle+h,)-fx) x+h, x |

h - h __x(x+hn):

n n

Gpt £, -G whytpe thnpp b, wuyw lim (x +h, ) = x : Yhpwntiny qniquitin hwonppuju-
n—oo
(nipynmGGtph pwlnpnh vwhdwbh yopwpbpywy pinptidp junwGwlp
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Uyuwhuny' f (x) = l $nlyghwl wowlghih t hp npnuwl wmhpnyyph pomnp Yhmbpnd L
X

Ophtwl 5: QwGkGp f (x) =Jx dniGYghwjh wowlgjwin qunjhg mwpptp x Yh-
nnd: Uju niypnud®

Fletn,)= (&) _Nxth, —x
hn hl‘l
(,/x+hn —\/;)(,Ix+hn +\/;) 1

h,(Jx+h, +x) =,/x+hn+\/;:

Ujumntinhg, hwipyh wnlny, np lim \/x+ A, = \/; , unwimu tip
n—yo0

n—oo hn 2\/; :
Ujyuyhuny’ ’
(‘/;) = 2\1/— :
X

cd Swuljuigli] Bp nwup
6°pp 66 wund, np y = f (x) dnllghwl wowbghih b X, Yhwnnud:
N°pGk x, Yhnnud y = f(x) $mbGhyghwjh wowbgjun:
hGsybtutnpnpynid y = f (x) $nmGyghwh wowlgyuy nmbGlyghwi:
b°Gs phahyuwyub hiwuwnmbbpn nGh wowbgjwn:

N°nG £ hwunwnniG $niGyghwgh wowGgyugn:

“nok L -

6. Npn°GptG y=x, y= x2, y= l , V= \/; $Inlyghwltph wowbgjwGtpp:
X

% Unwiouippuiipibip
Qb f PnilGyghwyh wowlgyuib x, Yhnmd (231-234).

231. f(x)=5, w) x, =2, p) x, =—-500, Q) x, =12:
232, f(x)=3x-2, w)x, =3, p) x, =8, Q) x, =21,6:
233. f(x)=x%, w) x, =7,5, p) x, =-9,25, Q) x, =32,5:
234. F(x)="1, w) x, =0,5, p) x, =—1, q) x, =3:

X
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Oquytiiny wowlgjuh uwhdwlnuihg quby f /(xo )-ﬁ (235-237).

235. f(x)= 2x7 -1, w)x,=2, p) x, =-3,75, q) x, =0,25:
>236. f(x)=2x, w) x, =1, P x, =4, q) x, =3:
1
>237. f(x):m, w) x, =—4, p) x, =0, Q) Xy =2:

Quntip s (t) ontlipny mnnugho wnpdynn dwpdGh wyipwppwjhl wpugqnipnilp dwdwlwyh £,
wwhh(, tipt GwGwwuphp mpduo L dtnptpny, huy dudwGuyp’ JuyplyuGatpng (238-239):

238. 5(t)=1> -2t w)1,=3, Pt =5, @) 1, =1:

239. 5(r)=+t, w) 1, =1, Pty =4, ) 1) =9:

240. Q-ntip mnnugho wpdynn SwpiGh wpuwqugnuip 7, wwhhG, tpk Gpw wpwgnipymGn
tnfugmd t V(r)=+/2¢ onlilipny:
w)t, =2, p)t, =8, q)t, =18:

[, Ypljiincywi hundwp
Lnioty wlhwywuwnpniip (241-242):
»>241.w) x* -5x* - 6>0, p) x* —10x* +9<0:
>242.w) logy 5 (2° —6)+ x—220, p) logs (25" —4)-2x+1<0:

§5 I}pllnl -fl)nlﬁllgluuﬁlip]l gnuiwph h wpmurppyugh
wowlgdwlh JublnGGhpp

Uju ywpwagpuwpnud Junynptlp tpyne pnlGyghwbtiph gnudwph, mwppbpnipyjul L
wnumwnpjwih wowlgiwl (wowbgjwih hwyydwl) yulnGabpn:

- Otnpkd 1: 6pk f L g prlijghwbilpli mowbighih ki nplit flpnid, puly
k-6 hwuypwopni |, wmyw k- f . f+g L f—g pmlijghwmbbpp linijlwku
wowlighih k6 wyn GJlapnid, plin npnid,

k-fY=k-f', (f+e)'=f"+g, (f-g'=f-¢g":

3
OphGwly 1: QnGhGp f(x)= 5Jx + < PniGyghwyh wowlgywip:
{wiwdwyG 1-hG phnptdp’

“(x)=5-1W , .l,: L ._L :i_i.
f(x)—S(x)+3(x) 52_x+3( xz) N
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% Obnptd 2: Epk f L & pmbijghwlibpl wowlighih kl nplkt jlpnid,
‘ www wyn flapnid wowlighih b Gul f-g pnilifghwd, plin npnid,

(f-8)=f"g+f-8:

Ophliwy 2:  w) (x3), = (x-xz), =x - x* +x-(x2), =x4+x-2x=3x":
jU) (x4), :(x~x3), =x"x +x-(x3), =x’+x-3x% =4x":
Uwptdwwnhuyuw hGnmyghwjh dtpnnny Jupbih £ wuyuwuwgnighy, np

o Uklihg ko Judwymlwl n plwlwb ph hudwp
(x") =nx"": (N

OphGuwly 3: Qunlhlp y=x* —2x" +5x+12 Pmllyghwjh wowlgyup:
Uhpwntny (1) pwGwalp b 1-hG pinpbdp” unwlmu tlp

(x* =2x7 +5x+12) = (x*) = 2(x°) +5(x) + (12) = 4x” —6x* +5:

cd Swuljughi] Gip puup

hGsh® t hwyuwuwp hwuwmwumni Gh b pnGhghwgh wpunwnpyuih wowlgyun:
hGsh® t hwjwuwn $mGYghwbbpnh gnidwph wowlgyun:

hGsh® t hwyuuwn $niGyghwGhph mupptpnipjuwl wowlgjwin:

hGsh® £ hwjuuwp fpmﬁllghul Gtph wpunwnpywih wowGgjwin:

I

Uwuwgmgtp (x")" = nx" ' pwlwdlp:

% Unwounpuiipiitip
Qb pniGyghwyh wowbgyup (243-248).

243.w) f(x)= x> +5x, p) f(x)=3x—x>+7:
244.w) f(x)=x"*+3x> - 2x, P fx)=9-x"+x:
245.w) £(x)=4x —x°, P) f(x)z%—\/;3
246.w) f(x)=x-1, P f(x)=20+x -2
247. w) £(x)=x(x* - 222), P) f(x)zi-(2+3x—x3)3
248.w) f(x)=§(3—ﬁ), B £ ()= @x-1){x -1):

QanGt pniGyghwyh wowbgywinp Gpywo Yhnmnid (249-250).

249.f(x)=3\/;+%—5x, w x, =1, P x, =4
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2
250. f()=20" =20 == w) x,=05, P X, =2
251. Loty f'(x)=0 hwywuwpnuip:

3
w) f(x)=%—2,5x2+6x—1, p) f(x)=x5—10x3+40x,
Q) f(x)=i+9x, ) f(x):%+25x—6:
252. Lol f '(x) > 0 wlhwywuwpnudp:

w) f(x)=x"-6x> —63x-2, p) f(x)=x’—12x+56:

[ Yplyineywi hunfwp

» 253.Qn(tby Gpywd showlwypnid nipdwd pmGyghwyh hwjwnwpdn :
w) y=x>+x-7, [0;3], P y=xl+x-7, [-3-1]:
Q) y=2"+2"", [o;1]. p y=3"+3", [-1;0]:

§6. Gpym pmblghwbhpp puwbnpyph b pupy
Pnljghuyp wowbglub jubnGahpp

‘Lwfunpn yupugnudmd unynptighlp wowlgh) bpym $mbyghwbtnh gnidwnpp, wmwup-
ptpnipniGp, wpumwnpyuip: L<Gnbgw) tpynt pinptdGipnyg vpgmd £ pwlnpnh wowg-
dwl ulbnlp:

- Obtnpbd 1: Eph g pnilifghwmb wowlighih b x Ghpnid L g(x);& 0, wwyw
wyn Glypnid wowlighih b Gwl 1 Pniliyghwii, plin npnid,
4

(s o

OphGwuly 1: QanGttp y = 1 PmGyghwyh wowbgjugn, npuntin 7 -p nplk pGuyuG phy t:
xl’l

Oquiytilip 1-hG ptinptivhg L Guiunpn wuwpugpudh (1) pwluwdlipg.

1 __(x") __nx"_1 __n_
xn xZn xZn xn+1 :
Uju ophGwynid unwgywd hwjwuwnpnipjnilp gpiny httmbywy Yepwy
(x—n ) — _nx—n—l ,

hwdingynud LGp, np Guwhunpn wupwgpudh (1) puwlGwdlp QWwphw E Gl puguuwu i
wdpnn9 pytiph hwdwn:
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Guiptih £ wwywgnigti, np wyn pwlwdbp 62dwphu L judwjwului gnighsh nhiypnid:

- Guwdwjwlwl 0. hpwlhwl pyh hwdwp J

(x*) =o-x*":

Uju pwlwdlp shlp wuyugnigh: ‘Lbklp dhwyl, np, pugh o -h wdpnne wpdtiplGtnhg,
1
wji wuyugnighy Glp Gul &= E ntiypniy:

= @btnphkd 2: Epk f L g pmilijghwmblpl wowbghih k6 x Yhypnid L
g(x);t 0, wwyw wyn fjhpnid wowlighip b Gwl i Pnilifghwibi, plin npnid,
4

(i);f’-g—f-g':

g g’

3 f—
Ophliwly 2: QnGhGp y= X 3? P Gyghwjh wowlgjwp:
1+4x

Uhpwnting wowlgiwb yulnGGbpp unwlnd Gip

x*=3x '_ (x3 —3x),~(1+4x5 )— (x3 —3x)~ (1+4x5 ), 3
1+4x° | (1+4x°) B
B =31+ 407)- (¢ -3x)20x*)  —8x7 44847 4327 -3

B (1+4x°) B (1+4x°)

‘ = Otnphi 3: bph f pmblghwl wowbghgh b, wyw F (x) = f (kx +b) pmbly-

ghw( GnyyGybku wmowlghih b, W
F'(x)=k- f'(kx+b):

Ophfiwly 3: Guntlp y=(3x—15)'" pnlyghwjh wowlbgyup:
Gpti Gpulwytilp f(x)=x"", wuyw wpguwo HniGyghwh Yopyh htanlgwy Yhpuy
y=f(B3x-5):
tanlwpwp’ £ (3x—5)=100- (3x—5)",
(3x=5') =3.100- 3x-5)* =300- (3x—5)":
cd Swuljughi] Gip puup

1
. N°pGt @ $nGyghwyh wowlgyun:

2. Quulybtpwtip tpynt pnilGyghwltph pwlinpnh wowlgdwb Yubnbp:

90



3. Quuybpubp f(kx+b) pwpn $mGyghwih wowbgiwb julnlp:

4 Unwownppuiipibip

Qanlt pnGyghwyh wowbgyun (254-260):

254.w) f(x)=x> +4-x77, 1) f(x):xg—S-x%’
2
) f(x)=x" +mx, 1) f(X)=6-x7§—x0’1:
255.w) f(x)=12-Yx —x. mfupJ}—aMF,
11 5
_2x-1 2x —4
256. ) f(X)—1 » p fx)= —
_3—4x xT+1
257.1u)f(x)— 2 n f(x)— Jx :
4_ _ 6
258.w) f(x)="—=, P) fx)=> 2)2 :
X 1—x
3_
259,y £(x)=LFL b F)=2L
X x -1
260.w) f(x)=(4x-2)", P f(x)=03-2x)",

@ fx)=2-x)",

n) f(x) (x+1) 2,

4 1
h :—’ ==
) 1) (5x-1)° 0/ (1-2x)*
Qb pnilyghwjh wowlgyun Grywd Yhnnid (261-262):
3—x
261. f(x):—2+x, w) x, =0, P) x, =-3:
X’ —x
262. f(x)= — w) x, =2, p) x, =1:

»263. Lmoty £7(x)=0 wihwywuwpnudp:

2
w =52 w Fl)=2 2
@ o)== W )=t

x> +2x+3 X —3x+4'



[ Yplyinepywi hunfwp

»264. A L B punupGtphg Shwdwdiwlwy shijulg hwnty nmipu Glwb tpynt himhnnG:
Unweohln B hwuwy hwlnhynmdhg 4,5 d¢ wlg, huy tpypnpnp A hwuwy hwnhwnithg

2 ¢ wlg: Qb htmhnnGbph wpuwqmpymGatpp, tpt A L B pwnupltph dhel htinw-

Ynpmipynilp 30 Yyd t:

»265.M L N pGuwyuwywjptphg, npnGg vhol htinwynpnipymGn 50 Yd t, ShwdwdiwGuy dhi-
Jwlg pinunwy pwpdytghb tpynt innnghljjuyuwn b hwnhybghG 30 p wig: Gwunlk
Jnmpupuwlsynip ininnghljujwnh wpugmpnilp, tipt hwjnGh t, np GpwGghg dtyp M

hwuwy 25 pynin, pwl Wynup” N :

§7. Sull‘lllulllluﬁ fl)nlﬁllgluuﬁlipln ul:huﬁglullﬁlipn

Upntl ghntilp wumhdwGuwjhG $niGyghwih wowlgjuih pwlwalp

< = (x*) =a-x*:

P

Uju ywpwgpwpnud Yatpjuywugitlp tGugwd muppulwb pnillhghwibph wowd-

gjwyGtph pwGwalbpp:

< ns (sinx) =cosx:

P

Uhpwntiny pwpn $niGyghuwyh wowlgiwb yulnbp wju pwGwdlhg unwimu tGp

(cosx) = [sin(x + I D = cos(x + E]: —sinx:
2 2
Ujuwyhuny’

< . (cosx) =—sinx :

P

Uhpwntiny pwlnpnh wowlgiwb fulnGp unwlnd Ghp

(tax)’ :(sinx ) _ (sinx)"- cosx — (cosx) - sinx _

cosx cos’x
2 : 2
_cos“x+sin“x 1
cos’x cos’x

Ujuyhuny’

<:-: (tgx) =— .
CoOS™ X

P

{wlqmlnnptl Yupnn Glp uvnwbuy ctg x dmbyghwih wowbgjwih pulGwdlp

P

< :.: (ctgx) =—— 12 :
sin” x
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Oppliwl 1: QnGhlGp y =2tgx+sin2x $mGyghwjh wowbgun

y'=2- +2cos2x-

cos” x
cos3x
OphGuwl 2: QwnGLGp f(X)ZT PInmGyghuwyh wowbGgyup © Yhwmmd: Lwlu
quiklp f'(x)-n:

, cos3x) - x—cos3x-x" —3xsin3x—cos3x
£lx)= L0830 - ;

2 2
X X

Stnunpbiny x = 7, wnwlnd bGp  f'(r)=n":
8nigswjhlG $niGyghwbtiph wowlgjuwGtpp mpynd GG htnbyw) puwGwdlbpny.

< = (@) =a*lna, dwulwnpuybu (¢*) =e*, >

huy (nquphpiwyub pmGyghwGbphlp

1 1
== log, x)'=—— > (Inx)' =—
< (log, x) cIna’ dwublwynpuyby  (Inx) .

OphGiwl 3: Qniklp y=¢* cos3x pnilyghwjh wowbgjup

’

y = (e") -cos3x+e” - (cos3x) =

=e* -cos3x —e" -3sin3x=e" (cos3x — 3sin 3x):

Inx
OphGuwly 4: QnGhGp f (x)=7 dniGyghwyh wowlgjwin e Yhumnud:

‘Lwh wowlghlp pmbGyghwb |
, (Inx)-x—Inx-x —-x—Inx |_Inx
f (x): 2 == 2 =73 -
X X X
anlwpup' f'(e)=0:
Swppuwywl $niGyghwbtiph wowbgywiGtnh pwlwaltiph gniguwyh phynipjuwl hwiwp phptiip

(Gwl hwwnupd tnwGniGuwswthwluwl $niGyghwGtph wowlgyuGtph pwlwalbpp:

.y 1 , 1
(arcsin x)" = s (arccos x) =—

1-x2

1—x?7

, (arcctg x)’ =— .
x2 1+ x*

(arctg x)' = |

Gnynt $nilGlyghwltinh gniiwph, wpunmwnpjuih, pwlnpnh L hwdwnpnyyph wowlg-
Jwiltph hwpydwl JubnGGtpp L phpdwo pwGwalbtph oqlmpjudp Junptih L hwpyty
Juiwjwyuwl mwppuub $nGyghwyh wowbgjuyn, npp, hGswtu Gpload £ wyng puGuwdlb-
nhg, nuipdjwy YihGh mwppuywl pnGyghw:
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cd Swuljuigli] Bp nwup

N°pGt y = sin x $niGlghwjh wowblgjuyn:

Upnuwotp y = cos x dnilyghwyh wowlgjwuih pwlwdlp:

Upunuwotp y = tg x dmblyghwjih wowbgjwih pwlwdlp:

Upunwotp y = ctg x $nilijghwjh wowbgyuih pubwdlp:

bGsh® L hujuuwp y = e dnillghwyh wowlgjuyn:

Q-pbip gnigywghG pniGyghwjh wowlgyuh pwluwaln:

Qnptip pGwluwl hhipny nquphpiwul pniGlghwh wowblgjwih puGualp:
Qpbp nqupppiwluw $niGlhghwyh wowbgywih pwlGwdln:

% Unwownpuiipibip

I I R N

QanGt pniGyghwyh wowbgyuin (266-272):

266. w) F(x)=x? +2x, P f(x):ix,
q) f(x)= \/—;xl ) Fx)=x? —2x:
267. w) f(x)=sinx+e", p) f(x)=cosx+log, x,
q) f(x)=5"+tgx, n) f(x)=Inx+ctgx,
b) f(x)=x*" +cosx, @ f(x)=cosx—e*+m e:
268. w) f(x)=sin4x, p) f(x)=cosmx,
q) f(x)=tgx+87, ) f(x)=5ctgx:
269. w) f(X)=2sin(5X+§J, P) f(x)zcos(g—bc}
@) f(x)=4tg(Bx~1), ) f(x)=-6ctg(d - 5x):
270. w) y=e* +x-1, p) y=2"+2e,
Q) y=In(Bx+1)-1g2, n) y=log,(2—x)-x:
271. w) y:sin%+xlnx, p) y=tg2x+e>
@) y = cos(2x+3)—log, 2x» n) y=ctg(5—x)+47":
272. w) f(x)=xInx-x, p) f(x)=log, (x+1),
@) f(x)=3"Inx+1n3, D f(x)=Inle* +1):

»273. Qb pmGyghwjh wowbgyuil x, Yhumnud:

20 . 2
w) f(x)z(;x—3]sm[2x+§), Xy =§n,
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54 2T
1)) f(x)=(Fx—5]cos[3x+?)’ X, =_%:

. L . X
q) f(x)=2sin7xcosx, x0=5, n) f(x):16smzc0sx, Xy =-T:

xX+e

»>274. w) f(x)=e>" +2 —x, x,=-1,

p) f(x)=e" +12XE€ 4y, X, =2,
X

[ yplyinuepwis hunfuwp
* 275. bpwphg wwppbn a, b, ¢ pytpp Gpypwswhwywl wpngptiuhwih hwenpwljwd

wlnuiGbp &G, huly 1 pUtinp yuqunud GG pyupwGuywl ypngptiuhuw:

a+1’b+1" c+
Qb pJuwpwluwywl ypngpbivhwjh gnudwnp:

*276. Wyugnigtp, np tph xz2+x7z+ 2y3 =2xyz+ yzx + yzz ,wyuw x, Y, z pytpp ud
pywpwlwlul ypngptiuhw GG juqimy, fud tpypuwywthwlju:

§8. Bmubiyghwyh qpuwdhlp ynunpng

Ahwnwplbp y = f(x) Pmbyghwgh qpudhlyp (G4. 15, w): Uy gpubhih fudwjwlwi
tipynt Yeunnyg wlglnn ninhnG wGjuwind b6 f pnilighwyh qpuphlih hupny:

Ujunithtimb impywo mnnp b wpughuGlinh wnwGgph juquwd wilyn b wuting” Yhwu-
Juwlwlp w)G thnppwagnt)G ny puwguuwlwl o wyynilp, npny wtwmp & O Ytwnh pnipon
wunwunbi] wpughultiph wnwGgpp, nputugh wjl gniquhtn nuniw Jud hwdpGyGh mpgwo
ninnpG (GY. 15, w):

{bipwn £ mtully, np M, (xo , f(xo)) L M(x0 +h, f(x, + h)) Ytintipny wglnn hw-
unnnh L wpughulbtinh wnwgph Juqiwo wiljul nwlqtifup hwjwuwn £ x, Jhnnd
$nlyghwyh wsh L wpgmitlGumh wdh hwpwpbpmipywn (GY. 15, w).

_ Sl +h)=f(x)
h

tgo

e Gphk Jwdwjwlwl h, wljkpy hnpph nkwypnid Mo(xo,f(xo)) L
M, (xy+h,, f(x,+h,)) Yhphpny] whgling huupnnbbpp n -6 wifbpgh spg-
phjpu dnphbblinid k6 dp uvwhdwlwghli nhpph (GY.15, p), wwyw wyn vwhdwliu-
Jht nighnb whjwblinid kb (xo,f(xo)) hlapnid y = f(x) dnilijghwyh qpu-
Dhih snpwifiny:

Gpti M M, hwwnnnp wpughultinh wnw(gph htim juqimd GG o, wilymd, hul

npwthnnp @ w6 (G4.15, p), wyw 7 -p wldtpeh dqutihu o, — @ : Lhnbwpwp’
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tgo, — tg @ , nputinhg unwlmy tip.

zfl(xo):

o= tim(iga, )= tim G0t )=/ o)
n—eo n—eo h,
VA "
feegth) M
Sxgth) = f(x,)
M 0 0
T S g
h
a A -
0 X, Xgth X
w L. 15

Lowlwynud £ wowlgyul nGh htmlgwy ppwswpwlpub pdwupp.

- y= f(x) Pprlijghuyh wowbgywyl x, hjlypnid hwjwuwp k (xo,f(x0 ))
hlopnid pralighwgh qpuephlh onywpngh b wpughubibiph wnwlgph juqdwo

O whljjwb pwliqkliuhl.
f'(xo): tgQ:

3)

Lptilip, np (3) pwlwadlp Shywn E wyl nhiypnud, tipp pnpw-

thnnp qniquihtin gk opnhGuwwnGtiph wnwGgphG, wyuhGpG
T

o+ 5 s Qwlwnuwl nhiypmy tg Q-G npnpywo sk, huly f

$Iniyghwl wowlghih st x, Ytwnnud:

VA

y=x%3x

OphGwl 1: GuGhklp f(x)=x>—3x $niGyghwjh
qnuidbhyh wyG Ynh wpughup, npny nwpguo ynzuhnnp
wpughulitiph wnwgph htinn Juqinud £ 45° wilyynG:

Lwiwdw)( (3) pwlwdlp whwp E quGhlp wjl
x Ytwnp, nph nypmd  £'(x) =tg 45° : Lwlh np

vA

)
=y

uY. 16

<

f(x)=2x-3,huy tg45° =1.mpbG (GY.16) \ ,
\_ ¥, y=fxy)

2x-3=1=>x=2:

MuunuwujuwG 2 :
Ujdu quihlp (xo,f(xo)) Yt y = f(x) /{

$niGyghwjh gnuphyh pnwihnnh hwjwuwpnwip, =~ 0
tpp pnpwthnnp gniquhtin st opphGuwunGtph w-

nwlgphG (GY.17): hGywbtu Gplnd £ qowaqnhg,
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M (x,y) Ytnp wunmyulmu t pnputhnnhd, tph

—y;f(x") =tgp=f"(x)):

X0

Uyuiptinhy unpnwund kup' y= f '(xo ) (x - X, )+ f (xo ): Tyuyhuny

#e (xg, f(xy)) flopnud y = f(x) prubljghuyh gpuuphih snpuinnh huju-
uwpnidli b
y=F"0cy) (e—x0 )+ £(xy):
OphGuly 2: <pdGuynptbp,np f (x)= |x| Pnilyghwl x, =0 Yhnnd wmowbghih sk:
‘Llwublp, nptipt f (x) = |x| $InlGlghwjyh qpupbhyh hwnnn Ju-

nnigtlp (O; O) b (h; h|) ytwmtpny (GYy. 18), wyw npuul 4
h-tph ntiupnud YniGhGubp y = x ninhnp, huy pugwuwyw@ 7 - A
tph phypmd® y = —x mnhnp: (ltunh’ wjn hwumnnGhpp npnpwyh
uwhdwGwjhG nhpp niGbGw GG Yupnn: UyuplplG f(x)= |x| h h ?
$pruGyghuwh gpuphyp (0; 0) Ytwnnid pnpwihnn sniGh:
Oppliwy 3: 9wnGhGp f(x): x’e* +2x Pnillghwh qpu- LY. 18

$hyhl Gpw x, = -2 wpughu niltignn Yann] nwupjud ynpwthnnh hwjuwuwpnidp:

Luu' f(xy)=f(-2)=4e” -4 U

f(x)=(x*)e" +x%e* +2=e"(2x+x>)+2:

Ltumlwpwp f'(x0 ): f’(— 2): 2, L npnGhjp 2npwihnnh hwjwuwpnidG b

y=2(x+2)+4e* —4 Qui, np GnyGG L, y=2x+4e
Nuunuwujumb y=2x+4e™:

OphGwly 4: Tuyyugmgtlp, np f(x)=xcosx+2 PmGyghwjh quubhyhl Gpu x,=0
wpughul niGgnn Yewnnyg nmwpquo pnpwithnnp qniquhtin & y=x—3 ninnh(:

Qupytlip $nGyghwjh b Gpu wowlgjwih wpdtipGtpp x, =0 Yhwnnud.

f(0)=2, f'(x)=cosx—xsinx, f'(0)=1:
L2qwo npwthnnph hwjwuwnpnuip YihGh y=x+2: Lwlh np wyn pnpwthnnp L
y =x — 3 ninhnG nuGtG ShlGniy G whlymGuihG qnpowlhgp, hul wqun wlnudGhpp nwp-
ptin GG, mptdG npulp gqniquhtin GG:

cd Swuljughi] Gp puup
1. 0°pnmhnG b6 wijuimg y = £ (x) $mbyghwjh gpuuphyh hunnnn:
2. N°p6 Ennp L wpughulbph wnwGgph Juqiwd walymn:
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N°pmnpnG 66 wijulimd y = f (x) $n1Gyghwjh gpubhyh pnpwthnn:

4, N°nG E wowbgyuih tpypuswthwjub pdwuwnp:

5. hGsh®t huduuwn (xy, £(x,)) Ynmd y = £(x) $niGyghwgh qpuiphyh ynpuhnnh way-
JnGwjhG gnpowyhgn, tpt pnpwthnnp qniquhtin st opnhGwwmbGtiph wnwlgphG:

6. Qpbp (xo, f(xo)) Yl y=f (x) $niGyghwjh gpubhyh ynwthnnh hwjwuwpniin:

A Unwownpuiipibip

277.Qwtp £ $mbyghwyh gpuidbhihG Gpur x, wpughuniltgnn Ytnny wwpgud ynputhnnh
L wpughultiph wnwlgph Juquiwo whlyyniln.

w) f(x)=%, X0=\/§, p) f(x)=x"—x, x,=0,

Q) f(x)zsinx+x, X, =2,5m, n) f(x)=x3 —2x2—l,X0=1,
X

t) f(x):1n3x+x,x0 =2, q) f(x):ex(x2+1), xoz();

278. Qanbp f pmlyghwyh gpuiphyh wyl Ytnbph wpughultipp, npnigny gpudphyh ww-
pwo ynpwthnnp wpughultiph wnwlgph htm juqinud £ @ whlyniG.

w) f(x)=x" +3x> —23x+1In5, @=45",
p) f(x)=sinx-cosx—2x+11, @=135",
Q) f(x)=sin2x, @=60", n) f(x)=sin*x+x, @=45":

»279. 19-nn Giupmyd quuphynptl mpJuwo pmbGyghwGhph hwdwp wupgbp, pt G2Juwo
X, X,,X,,X,, %, Yimbphg npnui®

1) i GYyghw G wGplnhwn sk,
YA VA

\/ ST

VERAE
2) dn1Gyghw G wowbgjuy snilh,

w Ul. 19 r
3) pmlyghwjh wowlgjwp qnnt,
4) pmGyghwjh wowlgyuip npuudt,
5) pniGyghwjh wowlgjwip puguwuwwd k:

X, X3 Xy X

=Y

_—1
=y

Qubp f pmGyghwjh qnurdhypl Gpw x, wpughu mbbgnn famm] mwpgwod znpwhnnp hw-
Jwuwnniip (280-281):
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280.w) f(x)=2x-x>, x,=2, P f()=x" =1, x,=-1,

281.

>282

>283

2
@0 f0)="5, 5 =1, ) f(x)=2x—§, X, =1,
3
&) f(x)z X 7> X =0, qQ) f(x)=x3+i, Xy =1:
1+x x° -
w) f(x)=tgx,xo=§, P) f(x)=3sinx+1, Xo=§,
Q) f(X)=X2€x, Xy =1, n) f(x):e_x,xoz—];
- Gubp f pmbyghwjh gpuphyh wjb Yewbph wpughultipp, npnlgny wwpdwd ynyw-

thnnn gniquhtin & Gpgwo ninnhG:
w) f(x)=x"+6x+2, y=6x. P £(x)=3x" —2x, y=2(1-2x):

- Qubp f pmGyghwyh qnudhypl Gpw x, wpughu mihgnn Yamm] mwpjuod ynpuhn-
nh L ynnpnhGwwnwjhlG wnwlgplGtph hwndwb Yambtpp.

uu)f(x)=3x—2x2’x0=1, n f(x):sinzx’xozg’
Q) f(x)=82x+2 +x,x0:—l, n) f(x)=10g7x’x0=7:
[, Ypljiincejuis hunfwp

284. Q) i Gyghwyh vnGnunGmpjul showljwyptpn:

1
¥ +8x+20°

1
— 2 - .
Q) f(x)=-3x* +12x-5, ) f)=

w) f()c):Zx2 —4dx+7, )] f(x):

$9. E[)nlﬁllgllulsll inGnumnGnipyub li]ngmllmlplipe
L m:huﬁg]mlnz Illlllllll’lllulllulﬁ Enbkp

G-hunbilip, np wowlgywG niGh wyuwhuh bhghwlul pdwuwn. tipk ynnpphGuwwnwjhG

wnwligpny pwupdynn Gynipwljul Ytump dwdwlGwlh ¢ ywhhG s(t) Ytnmd £, wyuw ¢
wwhhG Gpuw wpugmpniln s'(t) L: Mwnq E, np tpl Yanh wpwgmpyniip npulud k,
wwuw Ytwump pwpdynud £ niygh we, L s(t)-(i wdnn E, hul tpt Yhwmh wpwqgnipyniln
pugwuwluwi b, wyw Yhnp qupdymd £ nhyh dwtu, b s(t)—(i (Jwqnn E: Ujyu wlnnidl
niGh fupun Jwpbidwnhyuywl dlwytpynmd b wwywgnyyg: Ujunbn wjl Yptpklp
wnwlg wwywgnijgh:
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== @ bnptad 1 (PniGyghwgh wdtwl pujupup wwyswi): Epk dhgmlugph pn-
np Jlapkpnid f'(x)> 0, wwyw wyn dhowhwgpnid [ Ppnilijghwb wdny b
(GY. 20, w):
(@ binpkd 2 (pnGhyghwyh GJuquiwb pujupup yuwydw6): Gpk dhowljujph pninp
hyphkpnid f'(x)<(), www wyn dhowluwypnid f pnilifghwb juwqny b
(Gy. 20, p):

VA YA

N\

@ I~

X

X
Ax)=tg(p>0 f(x)=tgp<0

w LY. 20 P

o/l
=Yy
Q

=y

Ujuyhuny $nilGlyghwjh dnGnnnlnipjul dhowwyptinp Junptih £ qubt] htmlyug
hwpytjulntny.

1. gty f'(x)-p & by D(f)-h wyi Ylpkpp, npypln wowbgyup qnynipynib
snibip,

2. quliky f'(x)=0 hwjuuwpdub wpduwopbbpp,

3. lwpunpn kphni puwjihpnid quplijwo Ghphph dhongny pnilifghugh npn)dul
ythpnypp yppnhky dhowlugplph,

4. wyn dhowluypbphg jnipwpwlisynipnid npnpky wowligywmh Gwln:

Uyt dhpwljwypnid, npipkn f'(x)>0, Prulifghwl wding b, pul] wjli dhowljmy-
pnul, nppkn f'(x)<0, prblifjghwb Gfmqny k:

hGsytiu mbuwGp, pniGlyghwjh dnGnunnGnip jul showljwptinp qunGhhu fupunp ntip
b6 fuunmuu hwpytwlnGh wnwehG tpym pwyitipnd quGywo Yanbtpp, wyuhlpl” $mGy-
ghwjh npn2uwG mhpniyph wyl Yanbtpp, npuntin wowlgyup Yud gnynipyniG smGh, jud
0 t: Unwhuh Yantpl niGh6 hwumny wGjwln:

"2 Dmilijghuwyp npnydwb phpniyph Ghippht Ylpl whjwbnid kG Gphphlju-
hwb Ghyp, tph wyn Jhipnid pnilifghwyp wowlbligjup qpn b, juwd qnynipjnili
snilip:

Ujdd ytpp ptipdwo hwpytlwlnGh wnweohb tipynt Yhwnmbpp Jupnn Glp thnfuwnphGty

utyny queliky prlifjghuyh hppyphljulyut Glopkpp:

OphGuwly 1: QwnGtlp f(x)=x* —2x? Pnilyghwyh dnGnnnbnipjut shewluwptpp:
Oquytilip ytipp ptipwo hwpytiulnbhg:

I f'(x)=4x’ —4x, xeR,

2. 4x* —4x = 0 hwjwuwpiwl wpdwwnlbpG G —1;0 U 1 pytpp,
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3. (=1;0) b (I; + o) dhowlwptipnud f’(x)z 4x* —4x>0,huy (—eo; 1) L (0;1)
thowluwptpnui® 4x° —4x<0:
f@ -+ -

+
f) b 2 0 1 A
Ll 21

>
X

Ltnlwpwp' pniGyghwl wdnn L (—1; O) b (l; +oo) dhowlwjptinnud, Guqnn
(— 00; — 1) L (0; 1) vhowlwyptinnud: 21-pn Gupmyd yuwuytpqwo t pywyhl wnwlgpp
wupnhywd —1; 0 L 1 yhwmbtipny: Unwlgphg Ytp Gpdwd GG hwiwwwumwufuw G Showlwj-
phipnud pniGlghwyh wowlgywih Gpuwbhtnp, huly wnwlgphg guwo” dniGlyghwjh dnlnwnn-
(nipjwl plnypp 7 - wénn, ~ - (Jwuqnn:

{wpyh wnbtny, np —1; 0; 1 Yawmbipp wuwnuwlmd 66 $niGyghwyh npnpdwl whpnig-
phG, unwlnud tilip yuwwmwufuwbp.

$niGyghwl wénn k. [— I 0] b [1; + oo) vhowlwjptinhg jnipwpwlyjnipnd,

$nlyghw Gugnn k. (— o) — 1] L [0; 1] vhowlwjptinhg jnipupwlsjnpniy:

NuunpnipyniG qupdGhlp wjyG pwGhG, np $niGyghwl wénn k [— I; O] b [1; + oo)

thowlwyptinhg jnipupwlyjmpnid wnwdh, wyp ny pb Gpulg hwynpiw ypw: bpnp,
—-0,5<1, vy f(-0,5)=-0,4375>-1= f(1):

OphGuwly 2: GnGhlp f(x)=x +2x° —1 $mblyghuwjh vnlnunntnpjwl Showlwptpp:

DbniGyghwyh wowbgyuyl t” f'(x)= 56 +6x%, xe R : <hnluupwp’ f'(O): 0. huy
(—o0;0) U (0; + o0) Uhowluyptipnd® £’(x)> 0 (GY. 22):

J') + +

f ) A 0
LY. 22

=y

{wpyh wnbtiny,np Oe D(f), tiqpuuglmy tGp,np f -G wdnn L (— oo} 0] L [0; + oo)
vhowlwptinnd: -LwGh np wyn showlwypbnl nGh6 pnhwlnip Yhwm, dniGyghwl widnn
t Gul GpuGg Shuynpiw G Yypw:

MNunuwufuwG $nlGyghwl wdnn k (— 0} oo)—nui:

OphGul 3: QunGhGp f (x) =ctgx pniGyghwjh dinGnunnlnipjwl thowlwjpbtpp:

, 1
Dmyghwb npnpyuwd b, tpp x#nk, ke Z, L f (x):_sinz L X€ D(f): Nuuunp’

$niGyghwyh npnpuw b mppnyyphG wunmywinng judwjuwi x jhnnd f’(x)<0 (GY. 23):
o - === -

FO) 2T N TN 0 TN 2T
L. 23

»
»
X
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MNunnwufu $nGyghwb Gluqnn t (nk; ©k +1)), ke Z,
dhowlwjptphg jnipwpwlsynipnid:

cd Swuljughi] Gip puup
Npn”Gp GG pniGyghwyh Yphwhyulw Yntpp:
N°nG & dhowyuwypmd $mGYghwih wsdwb puwnup wuwydwin:

N°nG t dhowyuwypmd i Gyghwjh Gluquimb puupun wuydwln:
hGswt®u 66 qunGnid $niGyghwgh dnGnnnlGmpjul showljwyptipn:

A o e

UnGnuin®G L wpynp ctg x dniGlghw’ w) (nk; Tt(k + 1)), ke Z, showijwjptiphg jnipw-
pwlgjnipmd, p) hp npnpuwl mhpnypnid:

% Unwiouippuiipibip
Qantip n1lGlghwjh Ynhnhuywb Yenbpnp (285-286):

285.w) f(x)=2x>-3x+1, P f(x)=2+3x—x",
Q) f(x)=3x" —4x’ +5, n flx)=x*—4x’ +2,
b f(x)=—22 ) )=221
TR 4 1+x%
286.w) f(x)=4sinx-17, p) f(x)=1+2cosx,
9 flx)=tg® x. n) f(x)=sin’x,
) f(x)=x> —xsinx—cosx, Q) f(x)=3x> —2xcosx+2sinx:

Qantip pniGyghwjh dnGnnnGnipjwl Showuwjptinp (287-290):

287.w) f(x)=4—5x, p f)=2-1,
Q) f(x)=x-8x+5, n) f(x)=4+6x-x":
288.w) f(X)=X+§, P) f(X)=%+8x,
W =222 w Fl)=1"2%,
289.w) F(x)=x* +3x% —9x+5, ) f(X)=—%3+x2+3x—7,
Q) f(x)=4x> —1,5x*, n) f(x)=x*-18x* -9:
>290. w) £(x)=e* (x? - 24x), P f(x)=e*2x> = 30),
Q) f()c):ex(x2 —8x), 1) f()c):ex(x2 —3x):

Q.otip nplk pniGyghwyh qpuphly, npp pwduwpupnid £ Gguwo wquydwbibpn (291-292):
»291. D(f)=[-2;4], ’(x)>0.tpp xe (-2;0) L f’(x)<0,tpp xe (0;4):
»292. D(f)=[-3:3], f/(x)<0.tpp xe (-3;1) L f'(x)>0,tpp xe (1;3):
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> 293. Uywgmgtip $niGlyghwjh dinGnunnlimpjmGp:
w) f(x):x+sinx, n) f(x)=cos2x—2x,
Q) f(x)=2x"-3x* +12x-8, n) f(x)=5-12x+3x> —x’:
[, YpYincpywi hunfwp

294. Qubip $mahyhwyh pugpptdnudh Yeptpp:

w) f(x)=4x-x> +3, p) f(x)=2x> —6x+9,
_ 1 - -2
@ f(X)_ x? +2x+2’ w f(x) x> —4x+6

§10. bmllghwih kpumpbinuibpp b wowbgyup

‘Lwhunnpn yuwpwgpupmd niuniGuwupntighlp $niGyghwgh dnGnunnlmpjwl L wowb-
gjwih uyp: Uyu wuwpwgpupnud pniGlghwih wmowbgyuih thengny Yhtimwgnuntilp Gpw
EpunptdmuiGtpn:

bGywytu ghnblp, tph pniGyghwl wdnn t (a;xo] dhowlwjpnid L GJwuqnn
[xo;b)—nui, wuw x, -0 twpuhdnuih Yt E: Ghgnp £ dmGyghwl wlpGnhwwn b x,
Ytwnnud: ‘bwhunpy Wuwpuwgpudpnid mbuwlp, np tph (a; xo) dhowluwjpmd f '(x)> 0,
www £ -G (a; x, | Showyuypmd wénn b: Gph Gul £'(x)<0, tpp xe (x,;5), wuuw
f -nYhGh GJwuqnn [xo ; b) -nud, LW htnlwpwp® x,-G YhGh £ $niGlghwjh Swpuhdnuih
Yyt (GY. 24, w): Uyuyhuny hwlqtghlp htnlywy pinptdhG:

o (O Lnplad 1 (pmGlyghwyh Swpuhindh hwjnwGhy): hgnip f pnilifghuli wm-
Gplinhwop b x, Jlopnod, I°
1. f'(x)>0, kpp x e (a;x,),
2. f'(x)<0, kpp xe(x,;b):
Uyn nlypnid x -6 f Ppnilijghwgh dwpupdnidh jop b x ) =x, ¢
VA

i 4
Q
=

T
=
=

/
/0

min

UY. 24

LwlignGnpkb Junbih £ hwdingyby, np §dwphwn £ htnmbyuwy pnpbdp (GY. 24, p):
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o [@Fbnpkd 2 ($pmGyghwyh ShGhinush hwywmwGhy): hgnip [ pnilijghwb
wlhplinhwp b x, Glpnul, I°

1. f'(x)<0, kpp x< (a5 x,),

2. f(x)>0, kpp xe (x,;b):
Uyn nhypnid x -6 f Pprilijghwyh dplipdnidp jp b x, = x ;-

Uju tipym ptinptuGbpp wwpgtiggwo dLwtipuyynid GG hbnlyw Yupy.

== bpk x, Yhph dpugny swjuhg we supdylihu riblghuwgh wowmbgyup
thnjugnid | npulpublihg puwguwuwlubh (GY. 25, w), wyw x, -6 dwpupdnidp
ftap k. puly bpk shnfunid | puguwuwlpumbhg npulpubp (GY. 25, p), wyw x -6
dhlipdnidh Yhap E:

VACIIE - VGO +

=y
=Yy

Xy
Xmax=X0 Xmin=X0

» Ll 25 .

X
1+x°
Inilyghw npnpgwo £ wdpnne pywjhl wnwlgph ypw L judwjuywb x -h hwdwnp

Oph6iwly 1: QunGtGp J (x ) = $nGYyghwjh dwpuhinidh L vhGhinidh Yanbpn:

(1+x2)z _(1+x2)2:
Muwnp f'(x)=0,tpp x==1, pGn npmd, £7(x)>0,tpt xe (-1;1), L f'(x)<0, tipt
x€ (—oo;—1) quu xe (I; +o0) (GY. 26):
Lbwnbwpwp® x0o=-1 L x,, =1:
S -+ -
-1 1

f,(x)zl-(1+x2)—x-2x_ 1-x°

=y

X
Ul 26
OphGuly 2: QuGkGp f (x) = |x| $niGYghwjh Epunptivinuih Yhwntpn:
Wju pnilyghwl whplnhwwn b, f(x)=-1<0, tipp xe (—e0;0) L f’(x)=1>0, tpp
xe (0;+ oo): Ltunlwpwp' $nilyghwl wpuhinuih Yt ymbh, b x,, =0:
‘Llwwntilp, np wnwohl ophGuymd nhunwnpyyuwo $nGlyghwyh wowbgywil tpumpt-
dnuih Yhntipmd qpn b, huyy Gpypnpn ophGuynid phnwnpyyuwo pnilGlighwb Epumnmptiiniih
Ytunnd wowlgywy niGh: Mwpqynid £, np uw pnhw6nip thwuwn £ U, hGswtu gnyg L

max: 1

wnwihu htimbywy ptinptdp, jnipupwlyynip $nlGlghwyh wowlgjup tpunptivinush Yb-
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nnd ud 0 E, uw'd qnynipynil yniGh:

= Sbbpdwyh pbnpb: Gpk x -4 f prnilighuwyp Epuppldnidp jlap kL wyn
Ylapnid f -6 wowbighip b, wym f'(x,)=0:

Owuwmnnbl, hwdwdw)l dtpdwgh ptinptith, $niGyghwjh tpumptdmdbGtpp whnp k
thGwunnty Gpuw Yphwhuwlwb Yanbph puqinipyw dke: UjuhGpG’

<:': Pnilifighwyh Epuipplidnidp fhpkpp hphyphljuljul hpkp La: >

UwluwyG swytinp £ {unpoti, np jnipupwlyjnip Yphunhjujud Yhm wiyumdwn Epunnt-

dnudh Yt b OphGuyy’ f(x)=x" $myghwyh hwiwn, nph wowlgul £ £(x)=3x>.
nGLlp’ f '(0)= O,uL f '(x)> 0.tpt x=0 (Y. 27, w): UyuhlpG" 0-G wyn $mGyghwyh
hwidwn YphuhyulwG Yen b uwyuyG tpunptdnh Yt sk: £ (x) = x° pmiGyghwt pln-

hwGpwutu tpunptivnudh Yt ymGh. wyl wénn Ewdpnne pwjhG wnwGgph ypuw (GY. 27, 2):
VA

y=x’

f'o)=2x>  +
f@=x 7

=y

+
/

oe

w LY. 27 r

Uyuyhuny wowlgjwih dhongny pniliyghwjh tpunptitinush Yuwnbipp quGhnt hw-
dwp wihpwdbtywm b

= 1. pnililghwb wowmbighky,

2. quuliky pniliighwyh Gphypplpumlmb jhypkpp,
3. bpl §ppypplulput hhph Jpugny swjuhg w wlhglikihu

w) wowligyup thnjuynid | ppuljmbhg pugwuwlpmb (GY. 25, w), wuyw wjn
hlypp dwpupdnidp fhap L

p) wowligyuwp thnpuynid | pugwuwlmbhg npulwb (GY. 25, p), www wjn
hlypp dpbpdnidh Gl 1,

Q) wowlbigywip wwhwwilinid E Gywbp, www wyn jhipp Epuippldnidh fhp
SE(GY. 27): /

OphGuwly 3: QuGhGp f(x)z 3x* —4x3 +25 $niGyghwjh dnGnunnbnipjwl how-
Juyptipp, yphnhyuwlwb fanmbpp L Epumptidnush Yantpn:

vufw D(f)=R L f(x)=12x" —12x*, xe R: Lmotyny f’(x)=0 hwiwuwpmn-
uin, qunlmu GGp Yppnhyuwywi ymbpp x=0 L x=1:
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UjGnihtanl wupgmud kGp, np £7(x) >0, ipp x€ (I; +00) b £/(x)<0, tipp xe (—es; 0)U(0; 1)
(GY. 28): Uphnhywlwh Ywnmtinhg 0 -G tpumptivinudh Yt sk, puGh np wyn Yamp ypwgny
wigGtijhu wowbgywin sh thnfunid Gpwlp: dniGyghw Guwgnn k (— oo} 1] Lwdénn [1; + oo)
dhowlwyptipmd, huy 1-p ShGhdinuih Yhu k:

flx) - - +
f w0~ b 5
xmin:1
LY. 28

MuunuwufuwG pmGyghwb GJugnn k (— oo 1]—nui, wdnn [1; + oo) -y,
Xin =1, UnhnhYuljwG YntpG 66" 0;1:
cd Swuljuigli] Bp nwup

Auuytpuwtip nilyghwjh dwpuhinuih hwjmwbhyn:

Auuytpuwtip pnilGyghwjyh dhGhinuih hwymwbhyn:

Auuytpytip pnilGyghwjh Epumptivinuih ywuwpggyuo hwymwbGhyp:
Auuytipytip btipdwjh ptinptivp:

Unnyn®p jmpuwpwlyynip Yphnhulyub Yhnm tpunptidnudh Y t:
hGswt®u b6 qunlnud $mGyghwjh tpunptinidh Yhnmbpn:

% Unwiouippuiipibip

295. Qutip $n1Gyghwyh Yphnhyuywb Yrnbpp:

S o A

w) f(x)=x*+4x’ +8x* +6, p) f(x)=x’ -3x* -5,

q) f(x)=sin® x+cosx, 1) f(x)=2cosx—x:
Qantip $niGyghwjh Epunptiinush Ytwnbpp (296-297):
296.w) f(x)=3x" —6x-5, p) f(x)=6-8x—x7,

Q) fx)=x" +3x> —9x+4, n) f(x)=3x* —8x* —18x*:
297.w) f(x)=3x" —5x° +3, p) f(x)=3x" —=5x° —30x,

Q) f(x)zex(24—x2), 1) f(x)ze"(x2 —3):
298. Q.ntip Pntlyghwh Yphwhywlywa Yhnbpp L EpunptisnidGhpp:

w (=510, m =52

&y f(x)ZTizm» n) f(x)z—m:

*299. Qutip a L b pytipGwjGubiu,np x; pl x,-pihGG £ pnilyghwgh ynhnhlulwd Yhntp:
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w) f(x)=x’+ax® +bx+5, x,=-2, x,=4,

) f(x):asin2x+bcos3x+%tg4x, xlzg’ xZ:E:

[ Yplyineywi hunfwp
Q-ntip pnilyghwyh dhowqgneh L thnppugntyG wpdtipltpp G2gwo dhewluwpnid (300-301).

300.w) £(x)=x>-2x—1, [23], P fx)=x-2x>+3, [1;3]:

#30Lw) f(x)=222, [o;2], P f(x)=222 Fl

X+

$11. Hm6 uth dkdwmgnyi b ¢hnppugnyl wmpdbphhk
gy Gy ppuignuy patputpp

Uhpwnwlw GyulwynipyniG nilbgnn pwwn fulinhpGtipnud whpudtipu t thGnud qua Gy
nplt pniGlghwyh dhowqgniyG Yud thnppwgniyG wpdbpp mipguwo showjuypniv: L Gwpw-

Unp L tiptip nhiwp:

VA VA VA

X1
> >
X 0 a R b X

Q
Q
>
=Y
)
)
S

X1=Xmin> X7~ Xmax

Ul. 29 r q

w
1. dmbGyghwl dshowluwjpnid vkowqniyG (thnppwgniyG) wndbp smGh (GY. 29, w):
2. dnlyghwl hp vhowgnijG (thnppugnijl) wndbtpl pnmGmd L showwjph owy-

puwytnnud (GY. 29, p):
3. dmGyghwa hp vkowqniyG (thnppugnijG) wpdtipl pGnmGnid £ vhowywyph Gipphd

Ytwmmd (GY. 29, @):
Muwnq k, np Yytpehl nhiyypnid wyn Yump Guwb Epunptdnuih Yo E:

Jdtpp wujwohg Juntih £ wlb hbnbywy tqpujugnipnin:

- Gph pnilijghwbi npll dhpwljmpnid nilip dkowqnijl jwd hnppuwqnijl
wpdbp, www wyn wpdkpp wyhpp b plipply dhowluwyph owjpulpbpnid b
Lpuppbdnidp Jhphpnid pnilijghugh plinnilivo wpdbplibph puqinipjub dko:
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hGywtu Gptighlp, pniGyghwb dhowlwypnid dkowagni) G fuwd thnppwqney G wpdtip Ju-
pnn b smGhGuwy: Uynuhup t, ophGuwy, 29-ng w Giupnd gpubhynptl mpduo dmGy-
ghw(: Uwlw)G Gyuwnmtlp, np wyn dniGyghwl wGplnhwu sk [a; b] dhowlwyph dwjpw-
Ytwnbtipnud: Mwpqynd £, np.

" kpk pnilihghwb whplnhwp F [a;b] dpowlmypnid, wyw wyb nibh dhdm)

qnijli b thnppwmgniyli mpdbplikp:

Uju wylinnuip Qwjtipupuuh pinptdG b, npp Yplngnilhlp wowlg wyyugnigdw:

Uhpwnwyw fulinhpGipmd hwlnhwnn $nGyghwbtipp, nputiu ulnG, thowljupnid
mOkGmu GG Jtpouynp pyny tpunptidmuiGip: ‘Lwfunpn wuwpugpupnd mbuwlp, np kpuwn-
ptdnwih Yembpp whup £ thGupt) yphunhyuyw6 fantph puqinigpjub ube:

Udthnthting wujwop' junnn tlp dLwlbpuyt) htinlyw) hwpytywlnGn:

== [a;b] dhowlpwypnid whiplinhuwp [ prnilifghuwyp dkowgniyli ljwd shnppw-
qnijli wpdbpp qupliknt hwdwp wlhpwdbyp F

L qubiky f prilifjghwyh hppypplulut Ghpkpp,

2. wyn Qliypkphg plippky wyli x,, X,,..., X, Qhypkpp, npnbp wuwplwlinid LG

las 6] shouitmphs

3. hugfliy f(a), fOB), f(x,) f(x2)s . f (x,) wpdliplibipp,

4. upmgywo wpdbplibphg wdklwdkop fihlip pnilifghugh dlowqniyl, pul

wdkliuvuhnppp pnilijghwgh thnppwgniyli wpdbpp: /

Ophiwly 1: GunGklp f(x)=x’ —9x* +24x -5 Pmlyghwjh showgny)G L thnp-
nugn G wpdtpGhpp [0; 3] dhowljwjpniu:

bmbyghwh wowlgyuyb b

f'(x)=3x> —18x +24:

Lmotmy f '(x)=0 hwjwuwpnuwip® qulmd tlp pnGlyghwih Yphmhuwlwb Yhnmbpp
x, =2 b x, =4, npnlighg thwjl wpwohll £ yuwwmlwlnud [0; 3] UhowlwjphG (nuwnp’
/(4)-n wtanp 5t hwipgtip): <wipdtiny $mGlyghwh wpdtpGlnn x =2 Ynhuhyulud Yb-
unud nt thowuwyph 0 L 3 dwjpwytmbpnd” unwlnwd Glp’

F0)=-5. f(2)=15. f(3)=13:

Ujuyhuny [0; 3] dhowluwypmd f pniGyghwjh dtowgnyyG wpdtpp 15 t, hul thnppw-
gnyyGp’ —5: 26y npmd, pmbGYyghwb dtowgnyyG wpdbtpl pnpmbGmd & 2 Yoy, huy
thnppwgniyGp’ 0 Yhunnmd: Uugwon hwiwnnwn gpynud £ wjuwtiv.

max f(x)= f(2)=15 U min f (x)= f (0)=-5:

OphGuwl 2: QuwjwuwpuwupniG tnwGyywp, npp hpdpp 6 t, huy upmGpp' 5, Ghp-
qowd E ninnuyyniG, nph tipynt ququplbpp tnwGlyw b hhiph Ypw t6, huy Wynw Gpyne-
up upniGpGlipp (GY. 30): hGswhup® dhowqmyG Swybptiu upnn L nGGGw) wynuhuh nig-
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nuGyyniGp:

Uju fulinhpp inuotynt hwdwp Gwju thnpdtlp wyh
Gtpluwywug Gty pniGyghwGbph tiqyny:

Switlp ABC btnwlljwl BD pwpdpmpniln: E
QdJuwn st hwpdty, np BD =4: bhpqowo EFGH
ninqubyywl EF Ynnih tpupnipyniGp GouGuyblp
x:Nupqt,np 0<x<6:Lwlhnp AABC ~ AEBF ,
huy BD -G L BL -phwiwwyuwmwufuwl pupdpnipjniG-

EF

BL
Gtp 66, munh —— = —— : dwpyh wnbtny,np BL=BD— LD =BD - FG,unw(n Lip’
BD AC

A H D G C
LY. 30

4=FG _ X npntnpg FG =
4 6
12-2x) .
3

12-2x.
3
Ltnmlwpwnp EFGH ninnuGljw Jwybtpbup YihGh x(

Lpwlwlnud ' wbnp £ qulklp f(x)= @ Pmlyghuwyh dhiowqnyyG wpdtipp
(0; 6) dhowwypnid: Lmobny

f,(x)Z 12;4)( =O

hwjwuwnpmuip, uvnwlmd Gap x=3 vhwy Yppunhjulwui Yhwnp, pn npmd, f (3)= 6.
huy f (0)= f (6)= 0 : <tmlwpup’ [O; 6] dhowlwjpnid $niGlyghwjh vhowagnyG wpdbtpn
6 E.npp pnGyghwG pnmbGnd £ x =3 Yanmd: Lwlh np wyn Yamp yunulnd b (0, 6)
dhowlwyphl. niptiG f (3):6 wndtipp vkowqniyGa k Gul (O; 6) dhowljwjpniy:

MNuunuujuwb' 6:

cd Swuljughi] Gp puup

1. bQupn®nk $mbGyghw showuypnid ymGhGuy dhowqniyG (hnppugniyG) wpdtp:

2. Yupn®n L wpynp $mGyghwl showuypmy dkowqgniyG (GhnppugniyG) wpdbpG plnm Gy
wyjn vhowlwjph owjpwnnu:

3. Bph pmGyghwh hp vhowqnyh (thnppuwqni)G) wpdtipl pGnniGnud £ showywjph Gippht
Ytwmnud, wwyw hGswhup® Yo L wyn Yenp:

4. Dnillyghwjh n’p wpdbplbtph vhe whwp b thGwpt) Gpu dhowgniyG L thnppugniyG wp-
dtipGtipp:
QLuytipytip Ywjtinyumpuuh pinptidn:

6. Quuybpwtp [a; b] thowluwypnid dnillyghwjh dhowqgneyl L thnppugni)G wpdbplbpp
qulitint hwpytywlnln:
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Unwouippuiipibip

Qubp G2ywo dhowlwjpnid bnilGlghwjh dhowqgniyi L thnppwagniyG wpdbplGhpn
(302-308):

302.

303.

304.

> 305.

> 306.

307.

> 308.
309.

310.

>311.

>312.

>313.

>314.

w) fx)=dx—x>+1, [1;3], P f(x)=x*+3x-2, [-30],
@) flx)=x*-2x"+5, [-1:1], ) f)=x"+3x —9x+7, [0:2]:
w) f(x)=4x-1, [-2:0], p) f(x)=9-5x, [-1;1],
@) f(x)=x"-3x. [2:5]. ) fx)=x"—8x*, [0:5]:

2
w) f(X)=xT+4a [1;3]. P fx)= ;2125, [-1:2],
@) f(x)= x’i _+18
w) fx)=xe™* +1, [-40], P f(x)=5+xe 7, [-3;0],
a) f(x)=—xe*"*, [0;2], D f(x)=2-x*7, [0:3]:
w) £(x)=(6x—4)% +60x. [0;08], p) £(x)=(x+3)"* —28x, [-15;0]:

. 2], 1) f(X)=3+2X+2—Z, [1; 5]:
X

T
w) f(x)=2sin* x—2sinx—1, [O; E],

p) f(x)=cos® x+2cosx—5, [0;m]:

w) f(x):ex(sinx+cosx), [m; 7], p) f(x)=(€x—1)sinx+cosx, [O;g]:

14 -p Ghplwjwg by bpynt ng puguwuwlw pytph gqnudwpny wjGwbu, np wjn pytiph
pwnwlmuhltph gniiwpp (hGh thnppuwagnGn:

20 -n GhipYuyuglty tpym ng pugwuwljwb pytph gnudwpny wjGwtu, np wn pytiph
wpunwnpjwinhGh dhowqnyGp:

hGswhuh®p whwp t {hGEG S dwybpbu nGhgnn ninquGyyub swihtpp, npybugqh wyG
mGhGw’ w) thnppwagni )G wyupugho, p) thnppwgniG wlyniGugho:

Quntip R wnwynny ppowlhG Ghipqowd wjl ninnuiblyyub swihtpp, npl nGh” w) wik-
(wito dwybtptiup, p) wikGwdto ywpuqhon:

Qutp 2p wwpwgho mtgnn wjl hwjwuwpwupniG tewlyjuwl upniGpp, npG mGh
wikfwito ywybkptiup:

hGswhup®G wtwp EhGh P wyyqupugho mGhgnn mnnuiGyjniG tnwGljub ump wGyymap,
nputugh Gpu GppGuwdhgp 1hGh wdkGuthnppp:

[,
315.
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Yplincpywi hunfwp

Mupgty, pb htimlyw) $nilGyghwllpnhg npn®Gp GG qniyq L npn°Gp’ YuGw:
w) x° +sin 3x, p) tgx+ctg2x, q) x® —3x* +sinx,



x3—1.

sinx

) (x2 +1)sin2 X, b) cos x + x° —|x|, q)

316. @Gty $niGyghwjh hhdGuwywl wuppbpnipniGp:

. . . sin 4x
w) cos x - sin x, p) sin® x —cos’ x, >q) —
sin” 2x +sin 2x

$12. Dbnllghwh hbmumgnuonuilt wowbgyuh dhongni

‘Lwunpny yuwpwgpudpltipnud mbuwlp, np $nilGlghwyh npn hwnynipyniGhtp htip-
unnipjuwip pugwhwjmymyd kG wowlgjuih oqlinipjwdp, niunh wowlgjwih Yhpwnniip
htipmwglnu £ Gl dnGyghwjh gqpudbhyh junnignuin:

Inillghwjh htmwgnuniw b npjuwqhop hhiGwlwlnd punugwo E hbnlyw) pwj-
1tinhg:

1) Qplily pralijghwyh npnydwb phpnijpp:

2) MNupqhp pnilifghwl wuwppbpwlpu6 L, pk” ny:

3) Mupqly priblghwgh qnijgnipynilip:

4) Npnyky prnilijghwyh qpuphlyh b §nnpphlivpughl wnwlgplikph hwp-
dwli §lapkpp:

5) Quybik; prnilijghuwgh Gruwlwwwhwwlidwl dhowhujphpp:

6) Qi prulihghwyp dnlinypnlinipyub dhowluyplpli ni Epuipplidnidh flapkpp:

7) wpky pnilihghwyh wpdbplibpp puppbdnidh jhipbpnid:

8) Gph pnilifghwjh npnydwli phpnijpp puwnljuwguo t dkl juwd dp pwbh dh-
owljwypkphg, www wupqky pniblghwyh Jupplb wn dhowluyphph owjpulh-
phphli dnypklivuihu:

Uju pwyinhg 6-pnp yuwwnptihu wpyniuwygbn E wowblgyuih jhpwenwdip: dnGy-
ghwjh Yphwhjulwb Yantpp quGtny” htpmnipjudp Jupnn Glp qubl] dnGnunnlni-
pjwl dhowwyptinG nt Epunptdnudh Yhwnbpn:

Opp(iwly 1: {<twnwqnuntp f (x)= x* =5x% + 4 pniGyghwi L junmghlp Gpu qpu-
$hiyp:

1) UyGhwyn t, np D(f)=R:

2) bniGyghwl yupptpuwyuwa st:

3) dnilGyghwa qniyq t, pwlh np

f(—x)z(—x)4 —5(—x)2 +4=x*-5x7 +4=f(x):

4) dnGyghwjh gpuphyp hwwnnd £ opnhGuwwnGtph wnwlgpn (O; 4) Ytnnwi: Lniot-
ny xt=5x7 +4=0 tpypwnwiniuwhl hwjwuwpnudp' qubnud Glp $niGlyghwyh qpn-
Gtpp’ x, =2, x, =—1, x; =1 L x, =2: Gmlwpwp” $nlGlyghwjh qpuphyph L wpu-
ghulitiph wnw(gph hwwndwd YhnbpG GG (- 2;0), (=1;0), (1;0) L (2;0):

S)LwGhnp f -ppwqiwlnud b, niptdl wjl wiplGnhwun t, L Gpu qunGpny pywjhG
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wnwgpp wmpnhynud k Gw Gwuywhwwiiw b showjwjptinh’ (— 00; — 2), (— 2;— 1), (— 1 1),
(1; 2) N (2; + oo): Q-dJwp sk unniqbiy, np (— 2;— 1) b (1; 2) vhowlywjptipnnid $mGlyghw b
pugwuwluwi k, hul YynuuGipmd npulju:

6) dnulyghwjh wowbgyuGt f'(x)=4x’ —10x:
Lmotyny f '(x): 0 hwywuwpmuip qulnd tGp pniGyghwyh Yphmhjujuwb Yantpp
x=%4/2,5 L x=0: Opnptyny wowbgjwih GrubGtpp hwiwwywumwuuwl showlw)ph-
pmy’ qulmy tilp, np pmGlyghwl wdmu k [_ J2.,5; O] , [, [2,5;+ oo) vhowuwyptipmu L G-
qmui’ (_ oo;— /2.5 ] , [(); / 2,5] dhowlwptpnui: b llyghwjh Epumplivinuih Ytnmbp GG

Xmin =~ 25 > Xinax =0, Xmin = 2,5:
7) Lwpytny $niGyghwjh wpdtpltinG tpumpbinudh Yhmbpnd” vinw lnd GGp’
Flev2s)=rly25)=—225u £lo)=4:
Uugwon hwpdwnp b qptip wnynuuwyh mbupny:

X (_‘x’; 2’5) V2.5 (_ 255;0) 0 (0§\/ﬁ) 2,5 (\/E;oo)

Sx) - 0 + 0 — 0 +
J) N -2,25 A 4 N =225 A
min max min

bnillghw Gipplihg uvwhdwGwthwy L L dhGhinwh Ymbpnd pngniined £ Guwb thnp-
pwgniyG wnpdbpnp: dniGyghwb Yyiplhg vwhiwlwithwy sk L dkowgniyG wpdbp ynilh:

8) Gpp x-ndquunii k +oo-h Y —oo-h, $n1llghwjh wpdtipltipp dquunid GG +oo-h:

bniGyghwyh gpudhyp yunnigtint hwdwn Guju
UnnpnhGwwnwyhG hwppnipjul Yypw Gotlp (0; 4),
(=2;0), (-1;0), (1;0)  (2; 0) ytntipp, npuntin gpu- 4
$hyp hwwnnid £ ynnpphGunmwjhG wnwlgpbtipp: Uj-
Gnihtunl Go6Gp (-~ 2.5;-2.25) U (\/2_5 - 2,25j
ytwbpp, npnlp hwiwwywwwuhow-Gmd GG oG-

VA

ghwjh tpunptidndGhphG (GY. 31): Gy Yapowyhu, 2.5 V25 X
hwpyh wnGtiny $n1Gyghwjh yuppp dinGnunnbnipjub -2 -1 o1 2 X
dhowluyptinmui b X -n + o -h dqunbijhu, unnignid
tilip niGyghwjh dnnwynp qpubhyn (GY. 31): -2,25

Ul 31
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8(x+1)

Oph(iwly 2: Gunmghlp f(x) =—
X" +8

$nilyghwjh qpudbhyp:

Munq Lk, np D(f)= R:

bmlyghwl mbh dhwy qpon’ x =—1.huy f(0) =1: Uyuhlpl" pmbyghwjh gpuphip
hwwunnd £ YnnpphGuwwmGiph wewGgpltpn (— 1; O) L (0; l) Ytinbtipnud:

Dmiyghwl puguuwlwi b (- eo; - 1) Showlwypnid b npuiljul (—1; o) dhowluy-
pmd: bmGlghwyh wowbgyuyG b’

2
f,(x):_8(x +2x-8)

@+8)? K

Dnilyghwgh Yppuphuywb Yhntpp x* +2x—8=0 hwjwuwpiwl wpdwwnlbpG GG

x, =4, x,=2:
x| (~oos—4)| -4 | (-452) 2 (2;0)
J'x) — 0 + 0 -
Sx) N -1 A 2 N
min max

LpwgGtiny wnynuwyp b hwpyh wnGbny ytpp pipguwo hwnynpyniGGtpp ndquwnp sk
Yunnmghi dniyghwih qpuphyn (Gy. 32):

VA
2 /
_4 —1‘1/ \ _
-1
Ll 32

cd Swuljuighi] Gp nuwup

1. bmGyghwyh n®p hwnynipyniGabnt numdGuuhptihu t hpungmd wowlgyun:
2. B°Gs pwytphg E punugwo $mGyghwih htnwgnniwl mpyuqghon:

% Unwowippuiipibip
Ltmwgnuntiy pniGyghw L junnmghi gpubhyn (317-322).

317.w) £(x)=x> +8x-9, P f(x)=x* +2x+6,
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q)f(x)=2—4x—x2, n) f(x)z—x +4x-8
318.w) f(x):—2x3+6x+1 p) f(x)=x3+3x+2,
Q) f(x) xt—2x* -3, 1) f(x):x4 —16x7:
»319. w) f(x) ex( ), ) f(x):e_x (x+2):
»>320. w) f(x) e (xz —2x+1) P) f(x):e_)‘(x2 +6x+9):
»321. w) f(x)zyl P f(x)zxwl?)—x,
q)f(x) 5-x% +4x, n) f(x)zx x+5:
»322. w) f( )=—1 ) f(x): 2x2 ,
1-x
) 2x
Q) f n flx)= :
()=~ Fl)=-25
[ yplyiinue i hunfuwp
»323. A L B Jywyptphg, npnGg Shol htnwynpmpjnibp 50 Yd &, shwdwiwGuy thdjwlg pG-
nunwg nnipu w6 tpynt htmhnnG L hwnhwtghG 5 ¢ wlg : Lwlnhynuihg htnn
wnwohlGh wpwagnipynbp, npG A -hg Gmd tp B, 1 Yu/d-ny dkowgun: <wywGh b, np
wnwohl htmhnnGp B hwuwy 50 n pnun, pw tpypnpnp YhwuGbp A : Qpnptp wnw-
ohl httmhnunGh uyjqpluwlywl wpwanipjnilp:
»324. A L B punupltphg ShwdwiwGwl dhijulg pnwnwe nnipu w6 tpym wywndtpb-
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Gw nt hwlnhytghlG 5d wlg: A-pg dEyGwo wywmndtpblwjh wpwqnipjnilp
10 yd/d-ny thnpp £ djniu dbiptGwjh wpuqmpyniGhg: Gpb wnwohG dtptGw A -hg vky-
Gtp tpypnpnhg 4,5 d pnun, wyw jhwlnhwythl B -hg 150 YU htinwynpnipjwdp: Q-untip
A U B pwnupGtph thol tinud htinwynpnipymGp:



Unwownpulipltip Ypllinypjul huniwp

Lniotp hwjwuwpnidp (325-331):

x+1 2x+5 2x=5
325.w) 3) (4 , ) (l) =358,
(&) ) ;

Q) 57 =(02)", n) 2% = (0,25)""°:
326.w) 27 +2 =80, p) 5 +55 57 =105
p) 374927 =47 37,
p) 81" +3°7* =90:

»320.w)18-([4) =35-(2) +12=0, 432001,
9 3 4 2

327. Lll) 5x+1 +32x+3 :5x+2 _9 .32x ,
328.w) 4" —3.2"2 =64,

»330. w) 5 -5 =20, p) 33 -371-8=0:

331.w) 4 +10° =225 =0, P 77 4217 =32 =0

Lniotp wihwywuwpnidp (332-337):

332.w) 3% 2 <27,
xZ+x=3
333.w) (2 <8
3 27
334.w) 2 — 4% <1,
>335, w) 2°TF =227 215,

11

»>336. w) =
3F+5 37 -1

>

) 5)(2—2)(—2 S 525+3.

4-x 2x+1
2 5
= <= :
0(5) <G
p) 3-9°<8-3"+3:
P2 —1<6-27"

|
2° 437 21

)

>337. Lll) 5 . 22x+1 _21 10x > 2'52x+1 ,
Q-utip wpmwhwjnnipjwl wpdtipn (338-339):

p) 27-4*-35.6"4+8-9"<0:

P) 910g25 S+logs

0.5logy 7 J5 1 .
338.w) 81°7°%7 4 log,, 3, +3log, 77—

339.w) 16(log, 45—1)-log,, 9-log; 121, p) (30—5""%54)-log, /5 -log, 4

Lniotp hwjwuwpnidp (340-346):
340.w) log;(2x+1)=-1,
341.w) log (3x-2)=2,

p) log,(5x-6)=6:
p) log (4x—3)=2:

342.w) log§x+%log5x—1=0, P lg’ x—lgx—2=0:
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343.w) (Igx+4)2—lg x)=5, p—L 4 ~1:
S+1gx 1-lgx
344.w) log,(x—1)+log,(x+1)=3, p) log;(x+4)—logs(x—4)=2:
>345. w) 1" =100, p) 8- x'8 = x%:
% 346.111) 410gix+xlog4x =8, p) 510g§x+x10g5x =10:
»347. Lnotp hwiwlwpgp :
3.2 =576 {lg(xy)=3 .
logﬁ(y—x):4’ lgx-lgy=2"
Lniotp wlhwywuwpniip (348-356):
348.w) log,,(2x-5)=0, p) log;(2—x)<1:
349.w) log, Vx —2logys x> 2, P logs < +log , x<1:
25
350.w) log (x> —4x+3)<1, p) 1g2x% +4x+10)> Ig(x* —4x+3):
351.w) 1g* x—21gx—8<0, p) logs x—8log, x+12<0:
352.w) logg s x+logys x—220, p) logg s(3x—1)>log,s(3x—1)+6:
>353.w) — 2 <1, p— >3
log; x+2 log,(x+3)
>354. w) log, s(x+1)>1log,(2—x), P) logz(%)> log,(2—x):
’ X+

»>355. w) log,(x+3)—1log,(x+2)<0, p) log,(x+12)=1log, x:

L 1 RN T
W log.(3-2x) 4-logs(3-2x)° P lgx lgx—1 °

356.

357. Quuitpwbp wpywd wunyypliph mpwiwpwlwwi gnitwpp L Gptp npuig
GuwnpunuwhG wpdtpltipp:
w)4>0,4=0, p)5>-1, 5=-1, q)8>8,8=8, p) 9<9, 9=9:
Quntip wuniyph 62dwpnwhG wpdtipp b dLwytipybp dfumniip (358-360):
358. w) Yudwjwlywd pGuwlywb phy qniyq k jud Yhhw:
p) Gwiwjwlwb hpwlywb phy nwghnGuwy £ jud hpwghnGwy:
q) @nympjnil mGh pGuwywé phy, npp pwdwGymd t 3-h L 5-h:
1) QnympjniG mGh pGuwlwa phy, npp pwdwGynid £ 44-h L sh pudwGynid 11-h:
359. w) Yuwiwjwyuwa pGwlwb pyh hwjunupdp nwghnlwy phy k:
p) Gnjnipjnil niGh wipnng phy, nph hwwnuwpép nwghnbwy phy st:
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q) Gwiwjwlwl pGwlw pyh hwdiwp gnynipynil niGh npulhg W pGwlwi phy:
1) Gnynipjnil niGh pGwywb phy, npp thnpp £ dGwguo pGuwlw pytphg:
360.w) [a,b] hwmwony npnpdwd juiwjwlw wipinhwm $niGlghw niGh dhowgniyQ L

thnppwgnt)G wpdtpGtin:
p) [a, b] hwnywomy npnqud juiwjwlwl $niGyghw hp dhowgniyG wpdbpG plgmGnog
L hwngwoh owjpwltimbtpnd jud dwpuhdnudh fannud:
q) [a,b] hwnmJwomd npnpqwd Judwjwlwl wipnhwwn $niGlghw hp thnppugni
wndbpl plnniinid £ hwnywoh dwjpwlitmtinnid uwd dhGhinudh fannud:

»361. Quuytpybtp htnlnipjwl hwjunupdl nt hwiwnhpp L wwpgbp 62dwpumwjhG
wnpdtipltpn:

w)bph a>1 L b>0, wyu a’ >1:
p) Gpha>1 L b>1, wyu log, b>0:

@) Gpti a>1, wyw y=a" $mlyghwl wénn t:
n) Gpt a>1,wyw y=Ilog, x $nilyghwa wdnn k:

t) Gpt pnilGyghwjh wowbgjwil x, Ytwmnd qpn £, wyu X, Yenb win $niGlhghwgh
Yphnhjuywi Yt k:

q) 6pti pniGyghwjh wowbgjwil x, Ytwmnd qpn b, wyuw X, Yenmb wjn pniGlyghwjh
Epumptiinuih Yhw t:

362. Qutip wunyph pdwpuwjhG wpdbpp:

w) a, =12 —n hwonpuwlnipjniGp vwhdwGwhwly k:

_2n+5
+1

p) 4, hwonpnulwGnipjnilp uwhdwlGwthwy t:

qQ a, =3- n’ hwonpnuljwnipynilp Guqnn k:

n)a, =(n -5)? hwonpnwywlnipyniG6 wénn k:

2
n
b a, = hwonpnwlwlnipyniGG whytpg thnpn k:

2n° +1
2
qQa,=_—— hwonpuwGnipjniGp gniquitin k:
2n” +1
Qutip pniGyghwyh wowbgyup (363-367):
363. w) y=x>—7x" +1, p) y=x"-23x" +11x:
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364. w) y== , —2_1.
)y 13 P y=x .
365. w) y=sin3x—-2, p) y=tg2x+4:
366. w) y=x" +Inx, ) y=cosx—log, x:
367. w) yzex(x2 —2x+2), p) y=2"-4"":
QGuntip dnilGyghwjh wowlgyup Gpywo Yawmnwd (368-370):
368. w) f(x)=2X=3, x =1, )= =1
x+1 x°+3
369. w) f(x)="7sinx+3cosx—7, xozg,

S5n
> =sin4£—cos4£+11, =—:
P) f(x) > > %o 6
370. w) f(x)=(x2 —2x+3)sin2x, X, =0,
p) f(x)=(x*+3x+15)-tgx—5, x,=0:
371.9wmtp f(x) $niGyghwyh qpuphyh wyl Yhwbph wpughulbpp, npnlgny nwpywo
onpwithnnp qniquhtn k Gpwo ninnhd:
w) f(x)=x"+3x> =5, y=24x+I,
p) f(x)=2e"+1, y=-2x+4:

Guitp f(x) $niGyghwh gpuphyhl Gpw x, wpughu mikgnn Yhnny wwpgwd ynpwihnnh
hwjwuwpnuip (372-373):

372. w) f(x)=x"=5x+7, x,=2, p) f(x)=2+x—x, x,=—1:
373. w) f(x):%’ X, =1, p) f(x):x/;+1, X, =4:
Quntip SniGyghwjh dnGnnnlnipjwl showlywptipp (374-375):
374. w) f(x)=x"—3x* +4, p) f(x)=x" +6x" —15x—2:
2
375. w) f(x)=22=1, P fr)=1m2E
x—=2 1+x+x
Q-utip dniGyghwjh Epumpbinudh Ytwnmbipnp (376-378):
376. w) f(x)=x>-3x-9x+10, P f(x)=(x—4)Y(x-1):
377. w) f(x):8x—j—2, ) f(x)=2x+xl—2:
>378. w) f(x)=5"+5"", p) f(x)=6x+e°":
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Q-ntip prlyghwjh dtidwagnyl L thnppwgnyyG wpdtipGtipn Grgwd dhowlwjpnud (379-381):
379. w) f(x)=2x"-3x>-12x, [-2;1], p) f(x)=x" —%xz -5, [1;4]:

380. w) f(x)=x"*—4x%, [-3;3], p) f(x)=4x*-2x* -5, [0;2]:

T T
381. w) f(x)=x+sinx, [035], »p) f(x)=sin2x+2cosx, [ZQW]:

382. 26 -p GhpYuwjwgptp tpynt ng pugwuwwl pytpph qnuiwpny, wjlGwtu, np wyn pytph
wnuwnpjwip thGh dhowqgny)Gp:
383. 18-p Ghpyuyugntp tpynt ny puguwuwwb pytiph gnidwpny, wjGutu, np wyn pytph
pwnwlyniuhGtph gnidwnn (hGh thnppwagni)Gn:
»384. 64 -n Gipyuwjywugntp tpynt pytiph gmuiwpny wjGuytu, np Gpulg pwnwyniuhGhph
qnuiwnp (hGh thnppwgnGp:
> 385. Qbip wyG npuw phyp, nph punwynum tnwuwjwnhyh b funpuGupngh wwppbpnipjoGp
ubowqnGG t:
»386. NinnuGlymG tnwGyjwp Gepqowd E ninnuGlyyniG, nph pynt ququiplbipp GippGwéhgh
Ynw b6 dEwlywl totiph ypw: Gwnbtp mynubljub dwytiptup dhowagnijG wpdtipp, tph
tinwGljwa GhppGwdéhqp 8 Lk, hul unip whlniGGtphg vtyp 60° :
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